

2021 Approved Schedule of Fees and Charges

⊢or	eword.		
1.	Applic	cation of the 2021 Approved Schedule of Fees and Charges	ε
		Creation of financial liability	
	1.2. (Cessation of financial liability	6
	1.3. (Governing legislation	7
2.	Tuitio	on fees	7
	2.1. <i>F</i>	Annual fees	7
	2.2.	Cohort pricing	8
	2.3. I	International students on a non-student visa	8
	2.4. 5	Standard or average load	8
	2.5. H	Higher Education – Commonwealth supported places (CSPs)	9
		2.5.1. Changes to CSPs for 2021	
	2	2.5.2. Calculating the student contribution	10
	2	2.5.3. 2021 CSP fees for commencing students	11
	2	2.5.4. 2021 CSP fees for continuing students	
	2	2.5.5. Places that do not qualify for Commonwealth support	13
	2	2.5.6. Courses (units) that do not qualify for Commonwealth support	
	2	2.5.7. Open Universities Australia (OUA) students	
	2	2.5.8. Fees for discounted short online higher education programs	
	2.6. F	Higher Education Loan Program (HELP)	
		2.6.1. HELP loans available – higher education students	
	2	2.6.2. VET Student Loans – vocational education students	
	2	2.6.3. Temporary HELP loan fee reductions	
	2	2.6.4. Up-front HECS-HELP payment discount	
	2	2.6.5. Combined HELP limit	
	2	2.6.6. Renewable HELP balance	
	2	2.6.7. How to apply for a HELP loan or VET Student Loan	16
	2	2.6.8. Provision of a Tax File Number (TFN)	
	2	2.6.9. Eligibility for HELP loans and VET Student Loans	
	2	2.6.10. Ineligibility for HELP loans and VET Student Loans	
		2.6.11. HELP loan and VET Student Loan repayments	
		Higher education – domestic and international onshore full-fee paying	
		2.7.1 Program fees and charges	
		2.7.2 International onshore students	
	2	2.7.3 RMIT Online	
	2	2.7.4 Calculating higher education tuition fees for a program or course	
		2.7.5 Aviation program course fees	
		International offshore students	
	2.9. F	RMIT International University Vietnam	20
		Vocational education – Victorian Government subsidised places (Skills First program)	
		2.10.1. Tuition fees for government subsidised places	
		2.10.2. Free TAFE for priority programs	
		2.10.3. JobTrainer Fund	
		2.10.4. Program alignment with nationally endorsed training package	
		2.10.5. Eligibility criteria for government subsidised places	
		2.10.6. Eligibility criteria for individuals referred under initiatives or provisions	
		2.10.7. Calculating vocational education tuition fees for a program or course	
		2.10.8. Fee concessions and exemptions for students in government subsidised places	
		2.10.9. Interstate apprentices and trainees	
		1 1	_



	2.11. Vocational education fees for recognition of prior learning (RPL) and recognition of current	
	competency (RCC)	
	2.11.1. Recognition of prior learning (RPL)	26
	2.11.1. Recognition of current competency (RCC)	26
	2.12. Vocational education domestic and international full-fee paying	26
	2.12.1. Vocational education fees for international students	26
	2.13. Change in citizenship or residency status	27
	2.13.1. Vocational education students	27
	2.13.2. Higher education students	28
3.	Student services and amenities fees (SSAF)	28
	3.1. Students charged the SSAF in 2021	28
	3.2. Students not charged the SSAF in 2021	28
4.	Materials fees	29
5.	Administrative fees	29
	5.1. Late enrolment fee	29
	5.2. Fines and charges fees	30
	5.2.1. Library loans	30
	5.2.1. Overdue loans	30
	5.2.2. Car parking fees	31
	5.2.3. Car parking fines	32
	5.3. Special administration services	32
	5.3.1. Administrative fees applying to international students	33
	5.3.2. Administration fees applying to Open Universities Australia (OUA) students	34
6.	Childcare Centre fees	35
7.	Bundoora on-campus accommodation	35
8.	Debtors – overdue balance and penalties	35
	8.1. Debtor restrictions	35
	8.1.1. Fee disputes	36
	8.2. Cancellation of enrolment due to non-payment	36
	8.2.1. Referral to debt collection	36
	8.2.2. HELP loan applicants	36
	8.2.3. Cancellation of enrolment review process	37
	8.2.4. Student visa implications	37
	8.3. Financial assistance	37
	8.3.1. Fee extension	37
9.	Payment of fees and charges	38
	9.1. Tax invoices	38
	9.2. Payment options	38
10.	Discounts, fee waivers and scholarships	38
	10.1. Scholarships	38
	10.2. Authorisation/approval of partial scholarships	39
11.	Refunds	39
	11.1. Domestic and continuing international students	39
	11.1.1. Domestic student	
	11.1.2. Continuing international student	
	11.2. Commencing international students	
	11.3. International offshore students	
	11.4. RMIT Online students	
	11.5. Granting of permanent residence	
	11.6. Applying for a refund	



11.6.1. Eligibility for a refund	40
11.6.2. Ineligibility for a refund	41
11.6.3. Incomplete refund application	41
11.6.4. Refund payment	41
11.6.5. Refund of materials fees	42
11.6.6. Refund of Overseas Student Health Cover	42
11.6.7. Application fees	42
11.6.8. SA-HELP	42
11.6.9. Remission (removal) of debt in special circumstances	42
11.6.10. Removal of debt in special circumstances	43
11.7. Table A: Refund assessment for domestic and continuing international students	43
11.8. Table B: Refund assessment for commencing international students	45
11.9. International student appeals against a refund decision	47
12. Tuition Protection Scheme	47
12.1. Provider default	
12.1. Student default	
13. Financial liability	
Glossary	
Appendix 1 – Domestic higher education program fees	
Appendix 2 – Domestic vocational education government subsidised & full-fee program fees	
Appendix 3 – Int'l Onshore higher education, vocational education and preparatory program fees	
Appendix 4 – RMIT Online program fees	
Appendix 5 - Aviation program fees	
Appendix 6 – Int'l Offshore higher degree by research program fees	
Appendix 7 – Materials, excursion and global intensive course fees	
Appendix 8 – Administrative fees	184



Foreword

The 2021 Approved Schedule of Fees and Charges outlines all fees and charges that may be levied by RMIT for enrolment or other engagement with RMIT and select controlled entities of RMIT, including RMIT Online and RMIT Training, henceforth collectively referred to as 'RMIT', in the 2021 calendar year.

The fees and guidelines in this document are not applicable to enrolments with RMIT English Worldwide (REW). ELICOS students enrolled with REW should refer to the course fees and enrolment and refund policies available at **rmittraining.com**/academic-english.

The 2021 Approved Schedule of Fees and Charges is published under the authority of RMIT Council. All fees in this schedule and its appendices are subject to alteration by Council or delegate without prior notice. Approved changes will be recorded in the relevant fee schedule and published at rmit.edu.au/fs/studentfees/schedules.

Only fees that have been approved by the Vice-Chancellor, or delegate, can be charged to students or persons; <u>fees that have not been approved should not be charged or collected</u>. All student fees must be charged through RMIT's student administration management system (SAMS) unless otherwise approved by Finance.

All fees and charges listed in this document and its appendices have been endorsed by Finance and approved by the Vice-Chancellor. Any queries about this document can be lodged online at rmit.service-now.com/connect.

In broad terms, there are four categories of fees charged by RMIT:

<u>Tuition fees</u> for higher education, vocational education and preparatory students. The tuition fees charged depend on a student's citizenship and the type of place they have been offered.

<u>Student services and amenities fees (SSAF)</u> for services and amenities of a non-academic nature that enhance the student experience, such as sporting and recreational activities, employment and career advice, childcare, financial advice and food services.

<u>Materials fees and charges</u> associated with programs and courses offered by RMIT. These include fees and charges for field trips and goods that are used to produce items that become the physical property of students.

<u>Administrative fees and charges</u> include fees for services, graduation ceremony attendance, parking, library fines and penalties for late enrolment.

The following sections detail the fees and conditions that may apply to fees charged to students or persons for enrolment or other engagement with RMIT during 2021. Information about fees is also available online at rmit.edu.au/programs/fees.



Application of the 2021 Approved Schedule of Fees and Charges

All students or persons who enrol at RMIT for studies in the 2021 calendar year, or who otherwise engage with RMIT in 2021 (e.g. graduation, car parking, application for admission) are subject to the fees and charges detailed in this document.

All students who undertake their studies at RMIT in the 2021 calendar year are required to enrol. Completion of an enrolment form or online enrolment is a declaration that binds a student to the rules and obligations of this schedule, inclusive of amendments subsequently approved by Council. A student or person is liable for the financial obligation that results from the application of their enrolment or other action pursuant to this schedule.

If a student has enrolled and wishes to cancel their enrolment, it is their responsibility to inform RMIT before the relevant census date. If they fail to do this their financial obligation remains and they will remain liable for all fees (such as tuition, SSAF and administrative fees), even if they are no longer attending classes. If a student has deferred their fees using a Higher Education Loan Program (HELP) loan, e.g. HECS-HELP, FEE-HELP or a VET Student Loan, they will still have to pay their loan if they cancel their program after the relevant census date.

1.1. Creation of financial liability

Financial liability for all tuition and administrative fees and charges is created at the point of enrolment. Students become liable for materials fees upon signed agreement and/or upon receipt of the corresponding goods or service.

1.2. Cessation of financial liability

Financial liability only ceases upon payment or withdrawal from a course or program by the appropriate date.

The only mechanisms to withdraw from a course are dropping individual courses, lodging a *Leave of absence* request or lodging an approved *Enrolment variation* form.

The only mechanism to withdraw from a program is by lodging a *Cancellation of program enrolment* form via Enrolment Online or with RMIT.

Note: a student cannot cancel their program online if they are:

- an Open Universities Australia (OUA) student, unless they are enrolled in an OUA Commonwealth supported place (CSP)
- an international onshore student under the age of 18
- studying at RMIT International University Vietnam (RMIT Vietnam)

To cancel their program, a student who belongs to one of the categories above is required to:

- contact RMIT Connect to obtain the hard-copy program cancellation form
- lodge the form at RMIT Connect before the relevant census date



For more information about enrolment variation, leave of absence and cancellation of program enrolment visit:

- rmit.edu.au/students/student-essentials/enrolment
- rmit.edu.au/students/student-essentials/information-for/rmit-online-students

1.3. Governing legislation

The 2021 Approved Schedule of Fees and Charges has been prepared based on the current Australian and Victorian legislation and administrative guidelines that govern RMIT operations.

RMIT reserves the right to amend the fees, charges and guidelines detailed in this document inline with any changes to the legislation and guidelines implemented after its publication. Should any inconsistencies arise between this document and the legislation and guidelines, the legislation and guidelines will prevail.

2. Tuition fees

2.1. Annual fees

Students will be charged a fee per unit for each course (subject) they enrol in, which is based on their program code (and, in some instances, admit term, see section 2.2). Higher education and Foundation Studies students will be charged a fee per credit point and preparatory and vocational education students will be charged a fee per nominal hour.

This does not apply to students enrolled in a Commonwealth supported place, the Associate Degree in Aviation (Professional Pilots) or the Diploma of Flying (Pilot Cadetship), whose fees will be calculated based on their individual courses and the fee per course may vary.

Program and course tuition fees for students who commence their program in 2021 are held constant for the 2021 calendar year only.

RMIT reserves the right to annually adjust program tuition fees. Changes to program tuition fees will be applied at the beginning of each calendar year. In 2021 and future years the annual tuition price increase is capped at 7.5%.

This cap applies to:

- domestic and international onshore full-fee higher education students (including students enrolled with RMIT Online)
- international onshore full-fee vocational education and preparatory students
- international offshore students who are enrolled with and pay fees to RMIT Australia

For higher education fees, tuition fees may be rounded up to the nearest \$10.00 per credit point increment, and so the actual fee increase may exceed 7.5%.

Similarly, for international onshore vocational education and preparatory students, the program annual fees may be rounded up to the nearest \$250.00, and so the actual fee increase may exceed 7.5%.

Domestic vocational education fees are not subject to an annual cap and fee increases may exceed 7.5%.



The terms and conditions detailed in this document relate to 2021 commencing and returning students and are subject to annual review. Students who commence their program in subsequent years will be subject to the terms and conditions prevailing at that time.

Any changes to terms and conditions will be communicated prior to their effective commencement date.

2.2. Cohort pricing

Where the tuition fee for a given higher education program exceeds the cap on annual tuition price increases, a student who is currently enrolled will be entitled to complete their program at their current fee rate (subject to annual indexation), while newly enrolling students will be charged at the new fee rate. Any change of program is treated as a new enrolment.

The domestic and international lists of the average annual 2021 tuition fees for all undergraduate, postgraduate and higher degree by research programs in Appendices 1, 3, 4 and 6 may, therefore, include two or more price streams for a single program.

Where this occurs, the 'program description' field will indicate the cohort by calendar year that corresponds to the annual fee price listed. A student is allocated to a cohort based on the semester and year they commenced their program.

2.3. International students on a non-student visa

In 2021, eligible international onshore students who hold a visa other than a student visa (such as a bridging or temporary visa) and are not subject to the Education Services for Overseas Students Act 2000 (ESOS Act) will be charged the domestic full-fee for their program.

RMIT uses admission codes 'BK' (undergraduate and postgraduate), 'BR' (research scholarship) and '76' (vocational education and preparatory) for this purpose. Domestic full-fees are detailed in Appendix 1 (higher education), Appendix 2 (vocational education) and Appendix 4 (RMIT Online).

If an international student's non-student visa expires and they require an electronic Confirmation of Enrolment (eCoE) to apply for an extension, they will then be charged the international onshore fee for their program (see Appendix 3). The international onshore fee will be applied based on the timing of their non-student visa expiry and renewal dates.

Effective 1 January 2022, commencing international onshore students on a non-student visa will be charged the international onshore fee for their program (Appendix 3). Continuing international onshore students on a non-student visa who had been charged domestic full-fees in 2021 will be charged at the domestic full-fee rate until they complete their program, if the non-student visa holder retains their non-student visa.

2.4. Standard or average load

Annual tuition fees are based upon standard or average load (total program load ÷ standard program duration) and normal progression, with pro-rata fees applying to non-standard loads. Higher education tuition fees are charged at a rate per credit point and the standard measure of a full-time student load is 96 credit points per year for higher education programs (except higher education coursework programs offered in Vietnam where it is 108 credit points per year). Some programs, such as double degrees, may require the student to enrol in more than 96 credit points in some or all years of the program and fees will be charged accordingly.



Vocational education programs do not conform to a standard load per year, and the annual fees for these programs are based on a calculation of total program fees (at current year prices) divided by program duration. A full-time study load is calculated by the nominal hours for the program divided by the full-time duration of the program.

Due to their variable program structure, some vocational education programs may have different fees that depend on a student's chosen stream or specialisation.

Vocational education tuition fees are charged at a rate per nominal hour and a student's fees are calculated each year according to their enrolled load at the program price set for the corresponding calendar year.

To illustrate, a program requiring 1,500 nominal hours over two (2) years may require students to undertake 700 nominal hours in the first year and the balance of 800 nominal hours in the second year.

Assuming full-time enrolment, the student will be charged for 700 nominal hours in the first year at the rate per nominal hour set for that calendar year and for 800 nominal hours in the second year at the new calendar year rate.

The fee charged for each semester in a calendar year may also vary depending on the program's enrolment structure. As an example, a student required to complete 700 nominal hours in a calendar year may be enrolled in and charged for 300 in semester one and 400 in semester two. Over the full duration of the program, the total program tuition fee will be the fee quoted, subject to annual indexation.

Vocational education fees may be more than the total program tuition fee (including annual indexation) if a student chooses non-standard electives or if a student enrols in subjects in addition to the standard program load.

2.5. Higher Education – Commonwealth supported places (CSPs)

A CSP is a place at university where the tuition fee is jointly paid by the student and the Commonwealth Government. The student's share of the fee (student contribution) is set by the government and determined by the discipline areas (bands) of their individual enrolled courses (subjects), not the overall program.

A student is a CSP student only if they have received confirmation from RMIT that they have been offered a CSP and the student accepts that place and their eligibility has been verified. Some CSP students, including undergraduate students studying with RMIT through OUA, may be eligible for a HELP loan, which will allow them to defer payment of up to 100% of their student contribution (see section 2.6) unless they exceed their HELP loan limit. For more information about CSPs, visit rmit.edu.au/programs/fees.

2.5.1. Changes to CSPs for 2021

The Australian Government has introduced changes to the way tertiary education is funded from 2021 under its Job-Ready Graduates Package.

If you enrol in a Commonwealth supported place (CSP) your tuition fees are subsidised by the Australian Government. Under these changes, the amount of money the Government provides RMIT (the Commonwealth contribution) for different courses will change in 2021. This means the amount of money you will be charged (the student contribution) is also likely to change compared to the 2020 rate.



Students studying courses in key growth areas will see reductions in their student contributions, including for science, engineering, health, architecture, education, nursing and mathematics, compared to 2020 fee rates.

These changes will commence on 1 January 2021.

Commencing students

Students commencing study in 2021 in arts, law, economics, creative arts and communications courses will see increases in student contributions for those units compared to 2020.

Continuing students

Continuing students will contribute the same amounts for arts, law, economics, creative arts and communications courses as they would have done before this policy was implemented. If continuing students are enrolled in units that will see their student contribution amount lowered under the Government's new CSP fee structure, their student contribution will be the lowered amount.

Important note: Under government rules, applicants who deferred a 2020 offer are commencing students in 2021 and their fees will be charged accordingly.

For more information about the Jobs-Ready Graduates Package visit the Australian Government's **Study Assist website**.

2.5.2. Calculating the student contribution

CSP students are charged a student contribution amount per course. Within 28 days after the course census date and deferral of the course fee, the student will be issued with a Commonwealth Assessment Notice (CAN). A notification email will be sent to their RMIT student email account and their nominated personal email when a CAN is available to view via Enrolment Online.

The student contribution amount for a course is based on the student contribution band that the course falls within and the Effective Full-Time Student Load (EFTSL) weight of the course as a proportion of a full-time study load (i.e. student contribution band x EFTSL course weight). The weight of courses is measured as a proportion of a full-time student load (1 EFTSL) and can also be measured in credit points.

A standard annual full-time load for higher education students at RMIT is equivalent to 96 credit points. Some programs, such as double degrees, may require the student to enrol in more than 96 credit points in some or all years of the program and fees will be charged accordingly.

It is important to note that the student contribution bands are determined by the individual 'unit of study' (which RMIT defines as a course), not the program or degree. That is, if a student enrols in a nursing course and an accounting course as part of a Bachelor of Nursing program, the Nursing course will be charged at the Nursing rate and the Accounting course will be charged at the Accounting rate.

If the student contribution amount for a course is an amount made up of dollars and cents, it will be rounded down to the nearest dollar (e.g. \$3,950 x 0.125 EFTSL = \$493.75, which will be rounded to \$493).



2.5.3. 2021 CSP fees for commencing students

Student contribution band by course (unit)	Maximum annual student contribution amount (per EFTSL) in 2021 – commencing students
Education, Postgraduate Clinical Psychology, English, Mathematics, Statistics, Nursing, Indigenous and Foreign Languages, Agriculture	\$3,950 per standard year \$493 per standard (12 credit point) course
Allied Health, Other Health, Built Environment, Computing, Visual and Performing Arts, Professional Pathway Psychology, Professional Pathway Social Work, Engineering, Surveying, Environmental Studies, Science, Pathology	\$7,950 per standard year \$993 per standard (12 credit point) course
Dentistry, Medicine, Veterinary Science	\$11,300 per standard year \$1412 per standard (12 credit point) course
Law, Accounting, Administration, Economics, Commerce, Communications, Society and Culture	\$14,500 per standard year \$1812 per standard (12 credit point) course

Detailed information regarding the calculation of student contribution amounts is provided at rmit.edu.au/programs/fees.

Professional Pathway Psychology and Professional Pathway Social Work

Commencing students in these programs will be charged student contribution fees based on their program type for the units (courses) that meet the Australian Government's Professional Pathway Psychology or Professional Pathway Social Work requirements.

For Professional Pathway Psychology, these are units that begin with field of education prefix 0907 (e.g 090701, 090799).

For Professional Pathway Social Work, these are units that begin with field of education prefix 0905 (e.g 090509, 090513).

RMIT program code	Program name	Program type
BH000	Bachelor of Applied Science (Psychology) (Honours)	Professional Pathway Psychology
BP112	Bachelor of Social Science (Psychology)	Professional Pathway Psychology
BP154 Bachelor of Applied Science (Psychology)		Professional Pathway Psychology
BP295 Bachelor of Criminology and Psychology		Professional Pathway Psychology
BH105	Bachelor of Social Work (Honours)	Professional Pathway Social Work
BP322	Bachelor of Youth Work and Youth Studies	Professional Pathway Social Work
MC150	Master of Social Work	Professional Pathway Social Work



RMIT program code	Program name	Program type
		Professional Pathway Psychology
	Bachelor of Social Work (Honours)/Bachelor of	and Professional Pathway Social
BH106	Social Science (Psychology)	Work

Postgraduate Clinical Psychology

Continuing and commencing students in **MC002 Master of Clinical Psychology** will be charged student contribution fees at the Postgraduate Clinical Psychology rate for units (courses) that meet the Australian Government's requirements for this program type, which are units with field of education 090701.

2.5.4. 2021 CSP fees for continuing students

Grandfathering arrangements will be in place for continuing students who would see an increase in their student contribution amounts under the Government's new Commonwealth supported place fee structure.

Under these arrangements, students who commenced their course of study before 1 January 2021 and are facing increased student contribution amounts for a unit, will instead have their student contribution amount remain as it were under 2020 arrangements (with fees indexed by CPI each year).

If continuing students are enrolled in units that will see their student contribution amount lowered under the Government's new CSP fee structure, their student contribution will be the lowered amount.

Student contribution band by course (unit)	Maximum annual student contribution amount (per EFTSL) in 2021 – continuing students
Nursing, Indigenous and Foreign Languages, Agriculture, Education, Postgraduate Clinical Psychology, English, Mathematics, Statistics	\$3,950 per standard year \$493 per standard (12 credit point) course
Communications, Society and Culture, Visual and Performing Arts, Professional Pathway Psychology, Professional Pathway Social Work	\$6,804 per standard year \$850 per standard (12 credit point) course
Allied Health, Other Health, Built Environment, Computing, Engineering, Surveying, Environmental Studies, Science, Pathology	\$7,950 per standard year \$993 per standard (12 credit point) course
Medicine, Dentistry, Veterinary Science	\$11,300 per standard year \$1412 per standard (12 credit point) course
Law, Accounting, Administration, Economics, Commerce	\$11,355 per standard year \$1419 per standard (12 credit point) course



2.5.5. Places that do not qualify for Commonwealth support

You cannot be enrolled in a Commonwealth supported place under the following circumstances:

- the course contributes to a program that is being undertaken primarily at an overseas campus
- the enrolment is an employer-reserved place
- the course forms part of a bridging course for overseas-trained professionals, or
- the course forms part of a program the Minister has specified, by way of legislative instrument, that students cannot be enrolled in as Commonwealth supported students

2.5.6. Courses (units) that do not qualify for Commonwealth support

Each program has courses you must complete to meet the academic requirements of your award program. If you wish to study additional courses that are not part of your program, you will be unable to study those additional courses and receive Commonwealth support. This is because the additional courses do not contribute towards your degree.

If you have already completed a course for which a pass grade or higher has been achieved, and the course contributes to the academic requirements of your award program, you will be unable to re-enrol in that same course and be Commonwealth supported.

If you wish to study additional courses that do not contribute towards your degree, or continue studying once you have met the requirements for your award program, you may have options to do so under other enrolment arrangements such as non-award study or single courses.

rmit.edu.au/study-with-us/single-courses

2.5.7. Open Universities Australia (OUA) students

RMIT offers a select number of courses and programs through OUA. OUA courses studied at RMIT may lead to either an RMIT or partner university qualification, and the RMIT award is identical to those awarded to non-OUA students at RMIT.

Except for undergraduate students enrolled in a Commonwealth supported place, OUA students are charged tuition fees directly by OUA, not RMIT.

Administrative fees apply to all OUA students when they wish to register to take out an RMIT Award and/or get credit transfer. RMIT charges fees to OUA students directly for these additional services. See section 5.3.2 for more information.

2.5.8. Fees for discounted short online higher education programs

Students who enrolled in a short online Undergraduate Certificate or Graduate Certificate as part of the Australian Government's relief package to support workers displaced by COVID-19 retrain or upskill received a significant discount for their 2020 Commonwealth supported place (CSP) fees. This Government discount applies to 2020 fees only.

If a student admitted under this scheme continues to study their Undergraduate Certificate or Graduate Certificate beyond 2020, discounted CSP fees will no longer apply and they will be charged normal CSP fees.



If a student progresses from a Graduate Certificate to a Master's degree, they will not be guaranteed a CSP in the Master's degree. If CSPs are being offered in the Master's, it will be at the discretion of RMIT to offer them. If CSPs are unavailable, the student will be offered a full-fee paying place.

2.6. Higher Education Loan Program (HELP)

A HELP loan can assist eligible students to pay their student contribution amount, tuition fees, the student services and amenities fee, or to meet overseas travel expenses. HELP is administered under the Higher Education Support Act 2003.

If an eligible student has an approved HELP loan they have the option to:

- pay the full tuition fee or student contribution by the due date
- pay some of the tuition fee or student contribution amount up-front before the relevant due date and request a loan for the remainder of their tuition fees or student contribution before their census date
- request a HELP loan for the full tuition fee or student contribution amount

While some information about HELP is provided in this document to assist students, a student's official references for HELP are the Australian Government's Study Assist website, *FEE-HELP information* booklet and *HECS-HELP Commonwealth supported places information* booklet.

The Study Assist website <u>studyassist.gov.au</u> contains a link to their <u>myHELPbalance portal</u>, which is designed to help students keep track of how much Commonwealth assistance they have used.

The government may make changes to the legislation for HELP at any time. Should any inconsistencies arise between this document and the Study Assist website, the information contained on the Study Assist website will prevail.

2.6.1. HELP loans available - higher education students

HELP loans provide eligible students with assistance to pay all or part of their student contribution amount, tuition fees and SSAF.

The HELP loans available are as follows:

- HECS-HELP for eligible students enrolled in a CSP. HECS-HELP loans cover all or part of a student's student contribution amount (course fees) only. The SSAF cannot be deferred to HECS-HELP.
- FEE-HELP for eligible full-fee students. FEE-HELP is a loan that covers all or part of a student's tuition fees only.

It is available to full-fee undergraduate, postgraduate coursework and research students. Undergraduate students (including Associate Degree students) are charged **a 20% loan fee**, which does not count towards the HELP limit (see section 2.6.5). The SSAF cannot be deferred to FEE-HELP.

• **OS-HELP** — for eligible Commonwealth supported students who wish to study overseas. This loan is to assist with expenses such as accommodation and travel.



SA-HELP — for eligible higher education students. SA-HELP loans are provided to cover all
or part of the SSAF. Students who wish to defer the SSAF must apply for this loan in addition
to applying for FEE-HELP or HECS-HELP.

2.6.2. VET Student Loans - vocational education students

Many RMIT vocational education programs are eligible for a capped loan under the Australian Government's VET Student Loans (VSL) scheme.

A VET Student Loan can be accessed to meet all, or some, of the costs of tuition incurred by:

- eligible full-fee vocational education students who enrol in a VSL approved diploma, advanced diploma, vocational graduate certificate or vocational graduate diploma program
- eligible vocational education students in a Victorian Government subsidised place who enrol in a VSL approved diploma or advanced diploma program

The list of RMIT programs that are eligible and ineligible for a VET Student Loan is available on the **HELP loans and VET Student Loans webpage**.

For some eligible programs, the VET Student Loan program loan limit does not cover the full amount of the tuition fee.

Any amount a student borrows under a VET Student Loan for their program (including study undertaken in the same program with a different provider) will contribute towards their VET Student Loan program loan limit, as well as their HELP loan limit (see section 2.6.5).

Program loan limits are set annually by the government. Once a student has reached the loan limit for their program they can no longer defer tuition fees for that program to their VET Student Loan.

Full-fee paying students will incur a 20% loan fee and Victorian Government subsidised students will not incur a loan fee. The loan fee does not count towards the lifetime HELP loan limit (see section 2.6.5).

Note that students accessing a VET Student Loan will be required to complete Government issued VET Student Loan Progression and Engagement Forms at key points each year throughout their study. Failure to complete two (2) consecutive Progression and Engagement Forms will result in the government deeming the student ineligible for a VET Student Loan, and students will be required to pay tuition fees by the due date.

Learn more at RMIT's Keep Track of Your HELP and VET Student Loan webpage.

2.6.3. Temporary HELP loan fee reductions

For units of study from 1 April 2020 to 30 June 2021 inclusive, undergraduate FEE-HELP assisted students will be exempt from loan fees. This is to encourage students to commence or continue study during the COVID 19 pandemic.

From 1 July 2021, FEE-HELP loan fees for undergraduate fee-paying places at higher education providers will be reduced to 20 per cent (from 25 per cent). The reduction of the loan fee reduces the financial burden on students and continues to support the sustainability of the HELP scheme. These changes apply to units of study with a census date on or after 1 July 2021.



2.6.4. Up-front HECS-HELP payment discount

If you make an upfront payment of \$500 or more on your HECS-HELP loan you will receive a 10 per cent discount. The discount is an Australian Government incentive to pay up-front, either fully or partially, and will decrease your student debt.

The HECS-HELP up-front payment discount will apply for up-front payments of \$500 or more for units of study or if the student contribution charges are less than \$500, and up-front payment is made in full before the with a census date on or after 1 January 2021.

2.6.5. Combined HELP limit

Eligible students can borrow up to the HELP loan limit to pay their tuition fees.

For 2021, the HELP loan limit is \$108,232 for most students. The limit for students studying higher education programs in medicine, dentistry, veterinary science and aviation will be \$155,448.

All students are responsible for keeping track of their loan limits, and where a student reaches their HELP limit they must pay their fees directly to RMIT.

2.6.6. Renewable HELP balance

Students can top up their HELP balance by making repayments on their debt. Voluntary repayments to the ATO will top up a student's HELP balance once processed by the ATO.

Any compulsory or voluntary repayments can be re-borrowed in the future, up to the current HELP loan limit. VET Student Loan program limits are still applicable and cannot be 'topped up' via repayments.

2.6.7. How to apply for a HELP loan or VET Student Loan

When enrolling via Enrolment Online, eligible students will be asked to indicate which optional loan/s they want to apply for. They will then receive an email from the Australian Government with further instructions on how to apply via the government's eCAF (electronic Commonwealth Assistance Form) portal.

Before a HELP loan or VET Student Loan can be approved, a student must meet certain requirements, including:

- verifying their identity and citizenship or residency status before they enrol
- providing their Commonwealth Higher Education Student Support Number (CHESSN) consent
- successfully validating their Tax File Number (TFN) with the Australian Taxation Office via the eCAF portal, and
- meeting any additional government requirements for the specific loan type, as stated in the relevant published loan booklet

Learn more about how to apply at RMIT's Enrol as a New Student webpage.

Australian Government requirements for HELP loans are available at:

- studyassist.gov.au/need-more-information/help-publications (HELP loans), or
- <u>employment.gov.au/information-vet-student-loans-students</u> (VET Student Loans)



2.6.8. Provision of a Tax File Number (TFN)

If a student is applying for any kind of HELP loan or VET Student Loan for study at RMIT they will need to supply a successfully validated TFN for their loan to be approved.

If a student has not yet been issued a TFN, but has applied for one with the ATO, they may supply a *Certificate of application for a TFN* with their eCAF and must then submit their TFN on their eCAF within 21 days.

If their TFN is not submitted and successfully validated with the ATO on or before the census date, their loan will not be approved and the student will need to pay their student contribution or tuition fee in full on or before the census date.

2.6.9. Eligibility for HELP loans and VET Student Loans

Currently, to be eligible for a HELP loan or a VET Student Loan a student must:

- be an Australian citizen and meet the residency requirements (they must study at least part of their course in Australia)
- be a New Zealand Special Category Visa (SCV) holder or permanent humanitarian visa holder and meet the residency requirements *
- submit the relevant electronic Commonwealth Assistance Form (eCAF) via the government portal by the relevant census date
- be enrolled in each unit/subject at their provider by the census date
- have a HELP balance of more than \$0
- submit a TFN that is successfully validated with the ATO by the relevant census date
- meet any other government requirements applicable to the relevant loan type

For complete information about eligibility and requirements for HELP loans and CSPs, see: **studyassist.gov.au**/need-more-information/help-publications.

For complete information about eligibility and requirements for VET Student Loans, see: employment.gov.au/information-vet-student-loans-students.

* A student who holds an NZ SCV may be eligible to access HELP loans or a VET Student Loan, providing they meet ALL the long-term residency requirements and other eligibility requirements.

If an NZ SCV does not meet all the criteria, they are not eligible for HELP loans or VET Student Loans. Learn more at studyassist.gov.au/help-loans/non-australian-citizens.

2.6.10. Ineligibility for HELP loans and VET Student Loans

Currently, other domestic students such as New Zealand citizens who do not meet the long-term residency eligibility criteria (see section 2.6.9) and Australian permanent residents (other than holders of a permanent humanitarian visa) are not eligible to access a HELP loans or VET Student Loan.

These students must pay their student contribution or tuition fees in full to RMIT by the due date for each course.



If a CSP student who is not eligible for HECS-HELP assistance fails to pay their student contribution amount in full by the census date, RMIT is required by Australian Government legislation to **cancel** the student's enrolment.

If a student fails to pay any of their student contribution in a standard semester, their entire program enrolment will be cancelled until the next study period.

If a student makes a partial payment only or has enrolments in other semesters with a different census date, only courses that have not been paid in full will be dropped from their enrolment for the relevant census date, accordingly.

RMIT does not have any discretion with this matter and cannot accept a student contribution payment after the census date.

If a student in a full-fee place who is not eligible for FEE-HELP assistance or a VET Student Loan does not pay their tuition by the due date, they will be considered a university debtor (see section 8).

If a VET Student Loan student fails to meet the ongoing requirement of submitting their government issued Engagement and Progression forms, they will be considered ineligible for a VET Student Loan.

2.6.11. HELP loan and VET Student Loan repayments

HELP debts and VET Student Loan debts are indexed on 1 June each year. Debts are not indexed until they are 11 months old.

Repayments occur one of two ways:

- Compulsory payments through the Australian taxation system: students start
 repaying their HELP debt to the Australian Government through the Australian Taxation
 system once they reach the minimum income threshold level for repayment. The
 repayment thresholds are adjusted each year to reflect any changes in average weekly
 earnings
- Voluntary repayments to the ATO: students can make voluntary repayments to the ATO at any time and for any amount

Repayments may 'top up' a student's combined HELP balance.

It is important to be aware that the ATO does not issue a yearly ATO statement to students. All students are responsible for keeping track of their debt at the ATO.

For more information, please visit ato.gov.au.

2.7. Higher education – domestic and international onshore full-fee paying

2.7.1 Program fees and charges

RMIT offers a number of undergraduate, postgraduate and research places to students who are not Commonwealth Supported. The tuition fees for these programs are set on an annual basis and may be subject to change each calendar year.



Under the Higher Education Support Act 2003, domestic full-fee students in a unit of study (course) must be charged an amount equal to, or more than, what CSP students are charged for that unit.

That is, for units in which CSP students are enrolled, the full-fee tuition fee the provider sets cannot be less than the highest student contribution being paid by any CSP student for that unit. The only exception to this is where a student is enrolled in an employer reserved place.

The fees for all of RMIT's domestic full-fee programs have been set above the respective maximum student contribution amount. Appendix 1 provides a list of the average annual 2021 tuition fees for all domestic undergraduate and postgraduate full-fee programs (see Appendix 4 for tuition fees that apply to domestic postgraduate students enrolled via RMIT Online).

2.7.2 International onshore students

The Commonwealth does not contribute to educational costs for international students unless the students are in receipt of a Research Training Program International Tuition Fee Scholarship.

Furthermore, Commonwealth grant amounts provided to universities for the education of domestic students are not provided to subsidise places or services for international students.

The fees charged to international students must be greater than or equal to a minimum indicative fee specified by the Commonwealth.

All RMIT fees have been set above these minimum requirements. Appendix 3 of this document lists the 2021 average annual tuition fees for international onshore students.

2.7.3 RMIT Online

RMIT Online offers a number of fully online short courses and degrees. See Appendix 4 for the list of 2021 postgraduate tuition fees. Learn more at online.rmit.edu.au.

2.7.4 Calculating higher education tuition fees for a program or course

The information in this section does not apply to programs AD023 Associate Degree of Aviation (Professional Pilots) and DP017 Diploma of Flying (Pilot Cadetship). See section 2.7.5.

A higher education student's annual tuition fees are based on the number of credit points they are enrolled in for their **program** and the fee per credit point for that program in the current year.

Example: In 2021, a domestic student is enrolled full-time in a master's degree, which has a standard full-time load of 96 credit points and a fee of \$280.00 per credit point.

To calculate the annual tuition fee for this program, the student needs to multiply the number of credit points they are taking by the fee per credit point as follows:

Credit points		2021 fee per credit point		2021 annual tuition fee
96	Х	\$280.00	=	\$26,880.00

2.7.5 Aviation program course fees

Students undertaking program AD023 Associate Degree in Aviation (Professional Pilots) or DP017 Diploma of Flying (Pilot Cadetship) will be charged a specific fee for each course, with practical flying-oriented courses attracting higher fees and theory-oriented courses attracting lower fees.



For more information, see Appendix 5.

2.8. International offshore students

RMIT does not set fees for most international offshore students enrolled at a partner institution – these are established by the relevant offshore partner.

International offshore vocational, undergraduate and postgraduate by coursework students who are enrolled with an RMIT Australia campus and studying via distance education will be charged a fee equivalent to the RMIT Australia domestic full-fee for their program.

RMIT Australia PhD and master by research fees for international offshore candidates studying with RMIT Australia offshore by distance education are available in Appendix 6 of this document.

Appendix 4 lists fees for international offshore students enrolled with RMIT Online.

2.9. RMIT International University Vietnam

Australian and New Zealand students who apply directly to RMIT International University Vietnam (RMIT Vietnam) and enrol with RMIT Vietnam are subject to the fees and charges detailed at mit.edu.vn/tuition-fees.

An RMIT Australia student participating in a cross-campus exchange will continue to be enrolled as an RMIT Australia student, paying any tuition fees or student contribution amounts as they would if their study was undertaken in Australia.

2.10. Vocational education – Victorian Government subsidised places (Skills First program)

2.10.1. Tuition fees for government subsidised places

For eligible students, this training is delivered with Victorian and Commonwealth Government funding. RMIT's Registered Training Organisation (RTO) code is 3046.

Tuition fees for a Victorian Government subsidised place vary according to each program and are updated on an annual basis.

Appendix 2 provides a list of the average annual 2021 tuition fees, as well as the amount per nominal hour, for all vocational education programs for government subsidised students.

For more information, visit rmit.edu.au/programs/fees/vocational/govtsub.

2.10.2. Free TAFE for priority programs

Under the Free TAFE scheme, eligible students who commence an eligible priority course/program and are granted a Free TAFE place will have the tuition fees for their whole program paid for by the Victorian Government. The number of Free TAFE places available is subject to change and the Victorian Government may cap the number of Free TAFE places available for a program at their discretion.

Students must first meet the eligibility criteria for a government subsidised place, which includes location, citizenship and education history (see section 2.10.5).

Students can only access a Free TAFE program **once**, at any provider. Students assessed as eligible for a Free TAFE place can elect to accept or decline the offer of a Free TAFE place for the program.



Students will still be required to pay for other fees, such as the Student Services and Amenities Fee (SSAF), graduation fees and applicable materials fees.

Visit <u>rmit.edu.au/programs/fees/vocational</u> for more information and the list of Free TAFE programs offered at RMIT.

2.10.3. JobTrainer Fund

The Victorian Government has partnered with the Commonwealth Government to create the JobTrainer Fund to increase access to training for thousands of Victorians who have been most impacted by the coronavirus (COVID-19) crisis.

JobTrainer complements the existing subsidised training available under Skills First as well as Free TAFE.

To be eligible to enrol under the JobTrainer initiative, a student must:

- meet the standard Skills First eligibility criteria (excluding the 'upskilling' or 'two at level in a lifetime' requirements), and
- be aged 17 to 24, or
- a job seeker, and
- not have commenced a full qualification under JobTrainer before

Apprentices and School-Based Apprentices are not eligible for JobTrainer.

Eligible students under JobTrainer have access to free training in Free TAFE programs. They also have access to low fee training in all JobTrainer programs and will be charged a concession fee of 20% of the standard government subsidised tuition fee for their program. This concession applies to enrolments at any level, including diplomas and advanced diplomas

2.10.4. Program alignment with nationally endorsed training package

Each vocational education program (excluding skill set programs and courses) aligns to a nationally endorsed training package or nationally accredited course.

Accredited courses address skill requirements for industry, enterprises and the community, where these are not covered in nationally endorsed training packages.

Training packages are currently developed by Industry Reference Committees, supported by Skills Service Organisations, and are regularly assessed for quality and reviewed to ensure that they continue to meet the needs of industry, students and the community.

Training packages are reviewed and updated to reflect industry needs. Where a training package is revised, RMIT, if required, will develop a transition plan for any students enrolled in that qualification.

A variation to a qualification may result in an amendment to the nominal hours of a program. If this occurs, the program's nominal hours will be updated in the fee schedule available at rmit.edu.au/fs/studentfees/schedules.

Students who are transitioned to a new program due to changes to their qualification may need to complete additional courses to meet the requirements of the new program, and the fees and VET Student Loan eligibility for the new program may be different.



2.10.5. Eligibility criteria for government subsidised places

The Victorian Government provides subsidised places for approved vocational education programs for students who meet the Skills First program eligibility criteria. The number of subsidised places available is limited and subject to government discretion.

If a student is offered a government subsidised place, they must prove their eligibility before they can enrol.

A student's eligibility for a government subsidised place will depend on their citizenship, age, prior education, the number of programs they are studying in the current year and the number of government subsidised programs they have commenced in their lifetime at each level.

There are exemptions from eligibility criteria for apprentices, students undertaking the Victorian Certificate of Education, and Foundation Skills programs.

The Victorian Government may also at any time publish additional eligibility exemptions to be applied by RTOs.

Students will be enrolled according to how qualifications are defined in the relevant industry training package. This may impact on their eligibility for a government subsidised place for individual qualifications.

More detailed information regarding eligibility for a government subsidised place is available rmit.edu.au/programs/apply/vocational/eligibility.

2.10.6. Eligibility criteria for individuals referred under initiatives or provisions

In 2021, individuals referred to training under the initiatives or provisions set out below may not be required to meet aspects of the Skills First program eligibility criteria for a government subsidised place.

Students enrolling under the Asylum Seeker VET Program, TAFE and Learn Local eligibility exemptions and the *Skills First* Youth Access Initiative will be required to pay the student contribution amount of their tuition. They may be eligible to apply for a tuition and student services and amenities fee concession, as per the standard concession eligibility criteria (see section 2.10.8).

Eligible Individuals enrolling under the *Skills First* Youth Access initiative will have a fee waiver/exemption applied to their tuition fees and student services and amenities fees.

2.10.6.1. Asylum Seeker VET Program Initiative

Asylum Seekers are exempt from the citizenship/permanent residency eligibility requirement for a government subsidised place, for the duration of their program, or until they withdraw.

They may also be exempted from other eligibility criteria under the TAFE and Learn Local Eligibility Exemption initiative. They must meet all other eligibility criteria for a government subsidised place.

Applicants referred to training under this initiative must either:

- present RMIT with a Referral to Government Subsidised Training form from either the Asylum Seeker Resource Centre or the Australian Red Cross, or
- be the holder of a valid



- o Bridging Visa Class E (BVE)
- o Safe Haven Enterprise Visa (SHEV), or
- o Temporary Protection Visa (TPV)

RMIT is required to check an individual's eligibility for the Asylum Seeker VET Program by using the Commonwealth's Visa Entitlement Verification Online (VEVO) system to confirm the individual holds a valid visa, as listed above, if they do not provide the referral form.

2.10.6.2. TAFE and Learn Local Eligibility Exemptions

RMIT may exempt individuals from the 'upskilling', 'two at level in a lifetime', and/or 'two "courses in..." in a lifetime' eligibility requirements. The percentage of exemption places granted is limited by the Victorian Government and subject to change at their discretion.

RMIT must offer exemptions for individuals who present with evidence for the Retrenched workers, Automotive supply chain workers, Jobs Victoria Employment Network Clients initiatives and/or any other specific cohort as specified by the government.

2.10.7. Calculating vocational education tuition fees for a program or course

Vocational education fees for government subsidised places are calculated based on the nominal hours of enrolment.

To calculate a student's tuition fees, multiply the total nominal hours for the course or program by the fee per nominal hour for the appropriate program listed in Appendix 2.

Example 1: Tuition fee per nominal hour for one program

A student is undertaking a Diploma and is enrolled in a total of 700 nominal hours in 2021. The tuition fee per nominal hour for the program in 2021 is \$10.00. Therefore, the 2021 tuition fee will be $700 \times 10.00 = 7,000.00$.

The fee charged for each semester in a calendar year may vary depending on the program's enrolment structure. For example, this student may be enrolled in and charged for 300 nominal hours in semester one and 400 in semester two.

Example 2: Tuition fee per nominal hour for multiple programs

In 2021, a student is enrolled in a Certificate IV program with 200 nominal hours and a Diploma program with 300 nominal hours. The fee per nominal hour for the Certificate IV is \$5.00 in 2021 and the fee per nominal hour for the Diploma is \$8.00 in 2021.

Therefore, the tuition fee will be:

 $200 \times \$5.00 = \$1,000.00$ (Certificate IV)

 $300 \times \$8.00 = \$2,400.00$ (Diploma)

Total 2021 tuition fees: \$1,000.00 + \$2,400.00 = \$3,400.00



2.10.7.1. Tuition fees for Indigenous students

Under the Indigenous Completions Initiative, Indigenous students in a vocational education program in a government subsidised place in 2021 who identify at enrolment are entitled to the concession tuition fee amount at all program levels.

2.10.8. Fee concessions and exemptions for students in government subsidised places

Some students in Victorian Government subsidised places may be entitled to an exemption or concession on their tuition fees.

The concession fee is 20% of the hourly fee that RMIT would have charged a non-concession student in the same government subsidised program.

For more information, visit **rmit.edu.au/**programs/fees/vocational/concession.

2.10.8.1. Eligibility for concessions and exemptions

A vocational education student enrolled in a Victorian Government subsidised place at RMIT may be eligible to apply for an exemption or concession on tuition fees if they hold if they hold a Commonwealth Health Care Card or Pensioner Concession Card or are named on the card as a dependent child/spouse, or if they hold a Veteran's Gold Card.

For Commonwealth Health Care Cards and Pensioner Concession Cards, concessions that apply to tuition fees apply equally to the holder of the card, their dependent spouse and/or child.

'Dependent child' has the same meaning as in the Social Security Act 1991 of the Commonwealth.

If a student has applied for but not received their concession card, they may instead provide a letter or temporary card issued by Centrelink that confirms they have applied for and been approved for a concession card. They must then provide RMIT with a copy of their health care card once it has been issued.

2.10.8.2. Judy Lazarus Transition Centre, Community based orders and Skills First Youth Access Initiative

RMIT must not charge a tuition fee for enrolment by a person who is:

- from the Judy Lazarus Transition Centre (as a prisoner within the meaning of the Corrections Act 1986). (A copy of written confirmation from the management of the Judy Lazarus Transition Centre that the individual meets the requirements must be retained.) Or,
- required to undertake the program pursuant to a community based order made under the Children, Youth and Families Act 2005. (A copy of written confirmation from the relevant Youth Justice Unit of the Victorian Department of Justice and Regulation that the individual meets the requirements must be retained.) Or,
- an individual referred with a validly endorsed referral form from either the Department of Health and Human Services, the Department, the Department of Justice and Regulation, or a referring agency (a referring agency is an organisation that is contracted by the Department of Health and Human Services or the Department of Justice and Regulation to deliver child protection or youth justice support services)



Evidence listed above must be lodged with the *Application for vocational education fee concession and exemption* form.

2.10.8.3. University Discretion

Authority to grant a university discretion concession is delegated to the Academic Registrar.

RMIT is permitted to grant a concession on a tuition contribution where RMIT considers that its collection in full would impose extreme financial hardship. This may include a further concession on, or exemption from, the concession charge.

2.10.8.4. When to apply for a concession

Students must apply **each academic year** and need to apply before the scheduled class start date.

If the student applies after the scheduled class start date then their concession or exemption will be applied to the next eligible class in which they are enrolled and all other eligible classes that have not yet commenced, for 12 months.

Students can apply for a fee concession **before they are enrolled**. They do not need to be enrolled in the program for the concession to be recorded. They only require an RMIT student number, which they will receive upon admission to their program. Students can contact their RMIT School for information about class start dates.

Concession fees are not available for diploma and advanced diploma programs. However, Indigenous students can access fee concessions for all vocational education programs at all levels.

Eligible students under the JobTrainer Fund have access to low fee training in all JobTrainer programs and will be charged a concession fee of 20% of the standard government subsidised tuition fee for their program. This concession applies to enrolments at any level, including diplomas and advanced diplomas. See section 2.10.3.

2.10.8.5. How to apply for a concession

If you are the named concession card holder you can apply via Enrolment Online. If you are listed as a child or dependent, you need to apply at RMIT Connect. For more information, visit rmit.edu.au/programs/fees/vocational/concession.

2.10.9. Interstate apprentices and trainees

For interstate apprenticeships, a contract signed between RMIT and the relevant State Training Authority must be in place. To facilitate this, the State Training Authority provides their contract for RMIT to sign.

Each apprentice must have a Training Contract signed by their employer that specifies the program and RMIT as the RTO.

More information is available from the RMIT apprenticeship and traineeships website rmit.edu.au/programs/apps-trainees or at training.gov.au.



2.11. Vocational education fees for recognition of prior learning (RPL) and recognition of current competency (RCC)

2.11.1. Recognition of prior learning (RPL)

RPL is a process through which students can gain credit in recognised courses based on competencies gained.

The competencies may have been gained through experience in the workplace, in voluntary work, in social or domestic activities or through informal or formal training or other life experiences.

Students can apply for RPL for the courses in their program of study, from a minimum of one course to a maximum of all courses in the program. Applications for RPL should be made as early as possible preferably before the first day of teaching in your first semester.

In 2021, vocational education RPL fees for government subsidised, domestic full-fee and international students are equivalent to the standard tuition fees for the course(s) for which RPL is sought.

RPL does not include any additional training required to achieve a competency. If a student requires additional tuition before they can achieve RPL, they may apply for admission to their chosen program. Learn more at **rmit.edu.au/programs/fees/vocational/rpl**.

2.11.1. Recognition of current competency (RCC)

Recognition of current competency (RCC) is where a previously completed accredited qualification is assessed in circumstances where it may have expired or where they have not been practising.

Anyone who has previously successfully completed the requirements for a unit of competency or module and is now required to be reassessed to ensure that the competence is being maintained can apply for RCC.

Costs will be determined on a case-by-case basis.

2.12. Vocational education domestic and international full-fee paying

RMIT offers a number of places in vocational education programs on a full-fee basis.

Students who are ineligible for a Victorian Government subsidised place or who are repeating a government subsidised course they have previously passed may enrol as full-fee students.

The tuition contributions, concessions and exemptions outlined in section 2.10 do not apply to full-fee enrolments.

Appendix 2 provides a list of the average annual 2021 tuition fees for all vocational education programs for domestic full-fee students.

2.12.1. Vocational education fees for international students

Appendix 3 of this document tabulates the average annual 2021 tuition fees applicable to students studying under a student visa arrangement (classified as 'international onshore' students).



2.13. Change in citizenship or residency status

International students studying in Australia who change their citizenship or residency status during the course of their study, and become an Australian citizen or permanent resident, may be entitled to pay fees at the same rate as domestic students, depending on the timing of the change in status and when the student notifies RMIT.

Please note: depending on the established fees for individual programs, changing citizenship or residency status may not necessarily result in a reduction in fees.

For a change in citizenship/residency status to be recorded, the student must submit a *Notification* of change to citizenship/residency status form, with evidence of their new citizenship or residency status to RMIT Connect in time to be processed before the relevant date, as defined below.

The relevant date is:

- for higher education students, the applicable census date
- for vocational education students, the first scheduled class start date in the applicable semester

If the student submits their change in status with accepted evidence to RMIT **before** the relevant date, the student will be eligible for a refund of any difference between the international tuition fee and the relevant domestic fee. They will then be liable for the domestic fee for their program from the date their change in status is applied to their record.

If the student submits their change in status with accepted evidence to RMIT **after** the relevant date, the student will not be entitled to a change in fee place for the current study period. In these circumstances, for higher education students, the change will be applied to classes for which the census date has not yet passed. For vocational education students, the change will be applied only when there is a period in which there is a break where all scheduled classes have ended and the next classes have not yet started.

The student will be charged the domestic fee for their program from the semester their change in status is applied. Any International tuition fees paid for future semesters, where a change in status has been applied, will be credited to the student account.

Note: students whose change of status means they may be eligible to access a HELP loan or a VET student Loan are responsible for ensuring they meet all relevant criteria and submit their electronic Commonwealth Assistance Form via the government portal by the relevant census date to access a loan (see section 2.6.7).

Students should be mindful that invitations to access the Government eCAF portal are issued by the Australian Government and RMIT is not able to facilitate loans after the census date in any circumstances.

2.13.1. Vocational education students

Vocational education students granted Australian citizenship or permanent residency status will be granted a government subsidised place when:

- · their program offers government subsidised places, and
- they can prove they meet the Skills First program eligibility criteria. Students must complete an Evidence of student eligibility declaration in Enrolment Online, and
- subject to availability



If they do not meet the Skills First eligibility criteria, they will be granted a domestic full-fee place.

2.13.2. Higher education students

Higher education coursework students granted Australian citizenship or permanent residency status will be granted a domestic full-fee place. If the student wishes to study in a Commonwealth Supported Place (CSP) after their status has changed, they must re-apply to RMIT at the next intake for a CSP in their current program and their application will be considered on a competitive basis along with other applicants.

Higher education research students who are granted Australian citizenship or permanent residency may be granted a Commonwealth Research Training Program place. See section 10.

3. Student services and amenities fees (SSAF)

The SSAF is used to maintain and enhance services and amenities, both on-campus and online, that improve the experiences of RMIT students.

The maximum annual fee is determined each year by the Australian Government.

In 2021, higher education and Foundation Studies students will be charged on a pro-rata basis at the rate of \$3.27 per credit point for each course they are enrolled in, up to a maximum of \$313.00 for the year.

Vocational education and Victorian Certificate of Education students will be charged on a pro-rata basis at the rate of \$0.44 per nominal student contact hour, up to a maximum of \$313.00 for the year.

If a vocational education student is eligible for a concession on their tuition fees, they are also eligible for a concession on the SSAF. In 2021 the SSAF concession rate is \$0.09 per nominal student contact hour.

Eligible higher education students can apply to defer payment of this fee via the SA-HELP scheme (see section 2.6). For more information, visit **rmit.edu.au/programs/fees/ssaf**.

3.1. Students charged the SSAF in 2021

Students studying in any coursework program taught by RMIT Australia, and who are charged tuition fees by RMIT Australia, will be also charged the SSAF based on their enrolment.

This includes students studying in the Free TAFE and JobTrainer initiatives, where the Victorian Government covers some or all of a student's tuition fees, and outbound exchange students who remain enrolled at RMIT (i.e. RMIT students studying at an overseas institution with which RMIT has a formal reciprocal agreement).

3.2. Students not charged the SSAF in 2021

- Continuing domestic higher degree by research students in a Research Training Program (RTP) place
- Offshore students studying at an RMIT partner institution outside Australia
- Exchange students coming to RMIT from another institution
- Cross institutional students, including:
 - o inbound students studying at an RMIT campus in Melbourne



- o outbound students (i.e. RMIT students attending another institution in Australia)
- Study Abroad students, including:
 - o inbound students studying at an RMIT campus in Melbourne
 - o outbound students attending an overseas institution with which RMIT has no formal reciprocal agreement
- Industry sponsored students pursuant to the terms of their individual agreements
- Vocational education students who are asylum seekers

4. Materials fees

Materials fees include fees or charges associated with field trips and goods that are used to produce items that become the physical property of students.

Materials fees may only be levied with a student's signed consent. These fees are not compulsory (excluding fees for flight training courses) and students may choose to purchase these items independently.

The annual materials fee schedule is published at rmit.edu.au/programs/fees/other prior to the commencement of enrolments for the following year.

The fees approved for 2021 have been reviewed to ensure consistency with the prevailing government guidelines. Appendix 7 provides a list of the materials fees for 2021.

5. Administrative fees

RMIT administrative fees cover specific additional services provided to students.

In addition, a number of fees have been approved that can be levied against a student's account as a fine or penalty when university regulations are broken, or borrowed goods are not returned. These fees are principally levied as a disincentive.

Appendix 8 details a full list of administrative fees and charges. This list is also published at **rmit.edu.au**/programs/fees/other.

For some administrative fees and charges, information about how they will be levied is noted below.

5.1. Late enrolment fee

Higher education students who fail to re-enrol by their specified time and date, and who subsequently receive approval to re-enrol late, will incur a late enrolment fee of \$220.00.

The late resolution of any outstanding debts will not be considered as justification for waiving the late enrolment fee.

Appeals against the late enrolment fee must be directed to the Associate Director, Enrolment and Student Records in writing with documentary evidence (e.g. medical certificate) in support of the student's application.

For more information visit rmit.edu.au/students/student-essentials/enrolment/late-enrolment.

Fee code	2021 fee incl GST	Description of fee		
ADM43	\$220.00	Late Enrol Fee – STEM College		



Fee code	2021 fee incl GST	Description of fee
ADM44	\$220.00	Late Enrol Fee – DSC (College of Design and Social
		Context)
ADM46	\$220.00	Late Enrol Fee – BUS (College of Business and Law)

5.2. Fines and charges fees

5.2.1. Library loans

To ensure fair access to RMIT resources for all Library users, fines and penalties apply for the late return of items.

The Library will renew item loans automatically, unless there is a hold request, or a student reaches a maximum borrowing time of 12 months (3 months for CAVAL borrowers).

Fee code	2021 fee incl GST	Description of fee
ADM16	\$0.50 per item for each day the item is overdue and \$5.00 per hour for overdue Reserve material	Fine for overdue materials
AF1	Variable	Replacement charge for lost materials, based on actual costs as defined by the library

5.2.1. Overdue loans

The following penalties apply to students for the late return of Library items.

Items less than 90 days overdue:

- borrowing rights will be suspended at all RMIT University Library sites
- students will be fined \$0.50 per day for each overdue item (Reserve material will be charged at \$5.00 per hour)
- students will not be able to pick up holds or borrow from RMIT Libraries until they:
 - return overdue items through the chute and wait for the Library to clear them from their record
 - o pay in full any accumulated overdue fines that reached \$25 and above

Items more than 90 days overdue:

- the item will be treated as lost and students will have replacement costs and overdue fees (50 cents per day) charged to their library account
- if the student returns the item before it becomes 180 days overdue:
 - o the Library will waive the replacement cost
 - the student will still need to pay the overdue fees in full before the Library can clear their account

Items more than 180 days overdue:

- the Library will remove the item from the student's record
- the Library may buy the replacement
- the student will need to pay replacement costs and other associated library fees in full before the Library can clear the student's account



• the Library will not accept returns of items after 180 days.

Please note: the replacement cost is based on actual costs as defined by the Library.

Visit <u>rmit.edu.au/library/borrowing-and-collections/membership-borrowing-and-returns</u> for more information.

5.2.2. Car parking fees

RMIT provides students with casual and permit parking options at its City, Brunswick and Bundoora campuses.

Detailed information about campus parking and the rates that apply are available at **rmit.edu.au**/students/support-and-facilities/campus-facilities.

Instructions on how to apply for a parking permit are included in the following table:

Campus	How
City	RMIT's commercial car park in Building 91 (110 Victoria Street) is independently managed by Care Park. Care Park can be contacted at cpsales@carepark.com.au or 03 9682 1733. Fees apply.
Brunswick	Parking at the Brunswick campus is free. However, students must register for a permit and access to the boomgates. Students can register for a permit online through the EasyPark system by visiting rmit.easyparksystem.net/permit-ss . After registering, to have access to the boomgates added to their student card, students should email their EasyPark receipt and the serial numbers on the back of their student card to rmitsecurityaccessrequest@rmit.edu.au . Short course students Parking barcodes will be sent to students with their course confirmation. Students who have not received their parking barcode should contact shortcourses.fashionandtextiles@rmit.edu.au.
Bundoora	Students can register for a bi-annual or annual parking permit online through the EasyPark system at rmit.easyparksystem.net/permit-ss . Fees apply. Casual parkers can pay for parking via the free EasyPark app, which is available to download from the Apple App Store and Google Play and only charges for the actual time spent on campus. Service fees may apply. Casual parking tickets can also be obtained from parking meters throughout the car park and must be displayed on the dashboard. If a ticket machine is out of order, users are responsible to find an alternate machine.



5.2.3. Car parking fines

Students are required to observe parking regulations on campus and are likely to be issued a Parking Infringement Notice (PIN) / fine if they breach parking regulations.

Failure to purchase a permit or pay a parking fine will have the same consequences as not paying any other student fee (see section 8).

For more information, visit rmit.edu.au/students/support-and-facilities/campus-facilities.

5.3. Special administration services

Students enrolled at RMIT will receive administration services such as confirmation of enrolment and online tax invoicing without charge.

All RMIT students also receive one award transcript free of charge after conferral. The additional special services listed in this section may be provided on application.

Fee code	2021 fee incl GST	Description of fee	
ADM5	\$170.00	Replacement certificates, parchments or testamurs	
ADM42	\$200.00	Non-return of Academic Gown	
ADM55	\$100.00	Hire of academic dress other than for the graduation ceremony.	
ADM137	\$30.00	Fee for letter requested by student. Acts as a financial disincentive to ensure only genuine requests are made.	
ADM145	\$80.00	Letter - Academic Performance requests. Fee for letters requested by students and job networks for academic performance information. Acts as a financial disincentive to ensure only genuine requests are made.	
QP2	\$15.00	Replacement of current student ID card	
QP25	\$250.00	Graduation ceremony hire of academic dress - Melbourne	
QP27	\$250.00	Graduation ceremony hire of academic dress - Melbourne doctoral degrees graduation ceremony	
QP33	\$70.00	Academic Statement (Transcript, SAC, AHEGS, VE Qual/SOA) - obtain on campus in person	
QP34	\$5.00	Academic Statement (Transcript, SAC, AHEGS, VE Qual/SOA) - regular postage within Australia	
QP35	\$15.00	Academic Statement (Transcript, SAC, AHEGS, VE Qual/SOA) - express post within Australia	
QP36	\$40.00	Academic Statement (Transcript, SAC, AHEGS, VE Qual/SOA) - international post outside Australia	
QP40	\$25.00	Academic Statements - complete set of digital statements	
QP41	\$50.00	Academic Statement - transcript - hard copy	
QP42	\$50.00	Academic Statement – Australian Higher Education Graduation Statement (AHEGS) – hard copy	
QP43	\$50.00	Academic Statement – Vocational Education Qualification Statement (VE QS) – hard copy	
QP44	\$50.00	Academic Statement – Statement of Attainment (SOA) – hard copy	



Fee code	2021 fee incl GST	Description of fee
QP45	\$50.00	Academic Statement – Statement of Academic Completion (SAC) – hard copy
QP52	\$55.00	In absentia conferrals - admin and postage charge - addresses within Australia
QP53	\$55.00	In absentia conferrals - admin and postage charge - addresses outside of Australia
QP54	\$55.00	Testamur postage fee for students who graduate in absentia.

5.3.1. Administrative fees applying to international students

A non-refundable application fee (ADM14) is payable by international students who submit an application to undertake an RMIT program.

In addition, an international student may request an additional administration service of an airport pick up (ADM12, ADM167) on their arrival in Melbourne.

These and other special administrative charges for international students are noted in the following table.

Fee code	2021 fee incl GST	Description of fee
ADM12	\$100.00	Tullamarine Airport pickup service. Penalty fee only utilised if student books service and does not utilise it.
ADM167	\$100.00	Avalon Airport pickup service. Penalty fee only utilised if student books service and does not utilise it.
ADM14	\$100.00	Application fee for prospective international students.
QP46	Deposit less 10%, deposit less 50% or entire deposit amount, depending on date of submission of application for refund. Note: See QP60-QP63 for Foundation Studies withdrawal fees.	Admin fee on withdrawal – international students. Financial disincentive to withdraw late. Fee charged is determined by transfer or withdrawal date as per refund policy. See refund rules section 11.8.
QP60	Deposit less 10%, deposit less 50% or entire deposit amount, depending on date of submission of application for refund.	Fee charged to commencing Foundation Studies (Business) students who withdraw. Fee charged is determined by transfer or withdrawal date as per refund policy. See refund rules section 11.8.
QP61	Deposit less 10%, deposit less 50% or entire deposit amount, depending on date of submission of application for refund.	Fee charged to commencing Foundation Studies (Art, Design and Architecture) students who withdraw. Fee charged is determined by transfer or withdrawal date as per refund policy. See refund rules section 11.8
QP62	Deposit less 10%, deposit less 50% or entire deposit amount, depending on date of submission of application for refund.	Fee charged to commencing Foundation Studies (SEH, STEM) students who withdraw. Fee charged is determined by transfer or withdrawal date as per refund policy. See refund rules section 11.8.



Fee code	2021 fee incl GST	Description of fee
QP63	Deposit less 10%, deposit less 50% or entire deposit amount, depending on date of submission of application for refund.	Fee charged to Foundation Studies (General) students who withdraw. Fee charged is determined by transfer or withdrawal date as per refund policy. See refund rules section 11.8.

5.3.1.1. Overseas Student Health Cover (OSHC)

All international students holding an Australian student visa are required to maintain valid OSHC with an approved OSHC provider.

Students will not require OSHC if they are:

- a Norwegian student covered by the Norwegian National Insurance Scheme
- a Swedish student covered by the National Board of Student Aid or by Kammarkollegiet
- a Belgian student covered under the Reciprocal Health Care Agreement with Australia
- studying for less than three months on a visitor or tourist visa. You will not be eligible for OSHC and are advised to purchase Overseas Visitors Health Cover or comprehensive travel insurance
- an Australian Government scholarship student

The Department of Home Affairs (DHA) has implemented mandatory Visa Length Cover as a requirement for all student visa applications. This means students must show DHA that they have OSHC for the **entire** proposed duration of their student visa.

Masters by research and PhD students

DHA provides an 'increased visa period' to all international students applying for a new visa subclass 574 (Master by research or PhD). The visa period increases by a further six months after a student's completion date. Therefore, a student will need to ensure they have valid OSHC for the full increased visa duration.

Medibank Overseas Student Health Cover

RMIT will arrange visa-length cover with its preferred OSHC provider Medibank Private, and payment of OSHC needs to occur at the time of accepting an offer. Students can also arrange cover through other approved OSHC providers.

For more information, visit rmit.edu.au/international/oshc.

5.3.2. Administration fees applying to Open Universities Australia (OUA) students

Excluding undergraduate students enrolled in a CSP, OUA students are charged tuition fees directly by OUA, not RMIT. RMIT charges fees to OUA students directly for additional services provided to OUA students.

For more information about OUA please visit its website open.edu.au.



The following fees are applicable for the 2021 year:

Item	2021 fee incl GST
OUA - Degree Registration Fee (ADM81 BUS, ADM82 STEM, ADM83 DSC)	\$120.00
OUA - Credit Transfer Fee (ADM84 BUS, ADM85 STEM, ADM86 DSC)	\$60.00
OUA – Combined fee for assessment of credit and registration (ADM142 DSC, ADM143 STEM, ADM144 BUS)	\$180.00

6. Childcare Centre fees

RMIT provides a childcare service to students via the City Campus Children's Centre. Failure to pay childcare service fees by the due date may result in the application of penalties, or the withholding of services as outlined in section 8.

Visit RMIT's Childcare webpage for information about the centre's policies and prices.

7. Bundoora on-campus accommodation

RMIT has student accommodation at its Bundoora campus offering great facilities and a community environment.

Pricing for UniLodge@RMIT Bundoora, also known as Walert House, is available at **rmit.edu.au**/students/support-and-facilities/student-support/accommodation.

A student who fails to pay their UniLodge@RMIT Bundoora accommodation fees by their due date will be subject to the penalties and/or the withholding of services as outlined in section 8 below.

8. Debtors - overdue balance and penalties

RMIT students are required to pay their fees by the due date shown on their tax invoice, as agreed to in the Statement of Student Responsibilities. For more information, visit rmit.edu.au/students/student-essentials/rights-and-responsibilities/student-essentials/rights-and-respons

Each charge has a due date and some dates may vary. It is a student's responsibility to keep track of their due dates.

Students can check the 'Summary of Charges by Due Date' section in the Account Statement of their Tax Invoice or logon to their online account to see how much they need to pay by when (see section 9).

8.1. Debtor restrictions

Students will have debtor restrictions applied to their student record if they do not pay their fees by the due date. They may also have their enrolment **cancelled** (see section 8.2).

Debtors cannot enrol, add classes, obtain a transcript of results or Statement of Academic Completion, view their academic history (results) via Enrolment Online or receive an award (graduate) until the debt is paid in full.

Therefore, it is important for students to dispute a fee as soon as possible if they think they have been incorrectly charged.



8.1.1. Fee disputes

Students who wish to dispute a fee must contact RMIT Connect as soon as possible. Submission of any supporting documents must be sent from their RMIT student email account and should include their Student ID (example: s1234567) in all correspondence.

Once their email is received, their disputed charge will be suspended until RMIT completes its investigation.

If after investigation the student is found liable for the fee/s, they will be required to make immediate payment.

8.2. Cancellation of enrolment due to non-payment

If a student does not pay their tuition fees of \$500.00 or more by the due date, RMIT is entitled to cancel their enrolment in all current programs.

If a student's enrolment is cancelled they will:

- be cancelled in all of their current programs even if they have paid (or have an approved HELP loan) for the other program/s they are enrolled in
- still have to pay the tuition fees for any course they have already received a grade for or that has already finished and any materials or other fees e.g. library fines, and these fees will be referred to a debt collection agency (see section 8.2.1)
- have to reapply to RMIT if they wish to continue their studies in the cancelled program/s

8.2.1. Referral to debt collection

If a student has more than \$500.00 of unpaid tuition fees in their account after the due date and their enrolment is cancelled, the fees listed below will be referred to a debt collection agency:

- tuition fees of \$500.00 or more for a course for which they have already received a grade, or if the course has finished
- tuition fees of \$499.99 or less
- all materials and other fees e.g. library fines

Students who are referred to a debt collection agency will incur additional costs and their personal credit rating may be affected.

RMIT will contact students who have overdue charges by email and letter, to request that they pay these charges immediately.

Once a debt has been referred to an external debt collection agency, all verbal and written communication will come from the agency. The student will continue to receive communication from RMIT for any charges that have not been referred to the agency.

8.2.2. HELP loan applicants

Students who have their enrolment cancelled because they did not pay their tuition fees by the due date will have their enrolment cancelled in all current programs, even if they have an approved HELP loan for the other program/s that they are enrolled in.



8.2.3. Cancellation of enrolment review process

If a student has their enrolment cancelled by RMIT due to non-payment of their tuition fees, they may be permitted to be reinstated and re-enrolled if they are able to make full payment of all outstanding fees within 14 days of their cancellation.

International students under the age of 18 must make full payment within 7 days of their cancellation in order to be reinstated and re-enrolled.

All international students on a student visa should be advised that reinstatement will require confirmation that they are not in breach of the conditions of their visa.

RMIT Online students must request reinstatement within 5 days of cancellation of their enrolment.

Reinstatement into a program cancelled due to non-payment is only permissible on one occasion, and a \$275.00 administration fee applies (ADM140).

8.2.4. Student visa implications

An international student on a student visa subject to the ESOS Act who has their enrolment cancelled will be reported to the Department of Home Affairs (DHA), and the student may have to leave Australia. The student's visa may be cancelled by DHA as a result of the student failing to maintain enrolment.

8.3. Financial assistance

If a student is having trouble paying their fees, RMIT recommends the following options that students contact a Student Wellbeing Advisor to discuss what financial assistance may be available.

Students may also:

- reduce their fees by varying their enrolment
- apply for a leave of absence for a semester, or
- if they cannot afford their tuition fees, they may need to cancel their enrolment

8.3.1. Fee extension

In exceptional circumstances that exist outside a student's control and subject to the approval of the fee extension panel, a student may enter into a tuition fee payment extension arrangement with RMIT.

Students who meet the eligibility criteria must provide supporting documentation to RMIT Connect as soon as possible and no later than <u>7 days prior</u> to the charge due date, as detailed on their tax invoice.

Payment extensions will only be permitted for tuition fees - all other charges must be paid in full by the due date as listed on the student tax invoice. Applications will then be assessed and an outcome provided to the applicant.

Where a fee payment extension has been granted and the fees are not paid by the agreed date(s), the student's enrolment may be **cancelled**.

Students in a CSP are ineligible for a fee payment extension, even if they do not meet the eligibility criteria for a Commonwealth loan scheme (see section 2.6.10).



9. Payment of fees and charges

Prior to the start of the 2021 academic year, students who have enrolled will receive an invoice detailing all of their fees and charges for the following year. Students will receive an additional invoice each time they vary their enrolment or incur any additional charges.

Students will have debtor restrictions applied to their student record if they do not pay their fees by the due date(s). They may also have their enrolment **cancelled**. See section 8 for more information.

9.1. Tax invoices

Students can access their RMIT financial details and view their latest and past invoices by logging into myRMIT (rmit.edu.au/myrmit) and navigating to the Enrolment Online page.

Students will have a notification email sent to their RMIT student email account and their personal email account recorded with RMIT when their tax invoice is available to view online. Students are required to regularly check and read all RMIT messages.

They will also receive an up-to-date invoice whenever there is activity in their account, e.g. they make a payment, drop or add a course.

During this overnight process a PDF of their latest tax invoice will be uploaded to Enrolment Online and a copy sent to their RMIT student email account and their personal email account recorded with RMIT.

More information about tax invoices is available at rmit.edu.au/students/taxinvoice.

9.2. Payment options

Students can find payment options in their online account, on the *Paying your fees* webpage at rmit.edu.au/students/payment and on their tax invoice.

Students should allow at least three business days prior to the due date for an electronic payment to be transferred to their RMIT account.

10. Discounts, fee waivers and scholarships

The Higher Education Support Act 2003 does <u>not</u> permit universities to apply discounts or waive tuition fees for full-fee students.

The only exception to this requirement is in the instance of domestic Research students who are enrolled in a Commonwealth Research Training Program place. However, universities may award full-fee students a scholarship to pay all or part of their tuition fees.

10.1. Scholarships

A wide range of scholarships are available to assist students while undertaking study at RMIT. Many of these have been established to assist students in specific circumstances.

For further information, please contact the Scholarships Office or visit the website rmit.edu.au/students/life-and-work-opportunities/scholarships.



10.2. Authorisation/approval of partial scholarships

Applications for a partial scholarship are only permissible if the *Tuition fee partial scholarship* form is completed, approved and signed-off by the relevant Dean, College Director, Planning and Resources or equivalent funding the scholarship.

Partial scholarships can be granted on the basis of compassionate, marketing, staff and other grounds, or be used to correct university errors and support research efforts.

Staff can learn more at mit.edu.au/staff/services-and-tools/professional-services/finances (staff login required).

11. Refunds

The refund rules in this section apply to programs delivered by RMIT Australia and RMIT Online. They do not apply to programs delivered by RMIT English Worldwide (REW), RMIT Vietnam or in partnership with other education providers.

Please visit <u>rmittraining.com/academic-english</u> for the complete REW refund and transfer of fees guidelines.

For students enrolled with a partner institution, the policy and processes of the partner institution on refund of fees and remission of debt apply.

11.1. Domestic and continuing international students

11.1.1. Domestic student

A **domestic** student is a student who is:

- an Australian citizen, or
- a New Zealand citizen, or
- a holder of an Australian Permanent Residence visa, or
- a holder of an Australian Permanent Humanitarian Visa

11.1.2. Continuing international student

A continuing international student is:

- an international student (including a holder of a student visa, bridging visa or temporary visa) who has successfully studied in the first semester of their current program and their results have been officially released, or
- an international student who has been granted a Leave of Absence

11.2. Commencing international students

A commencing international student is a student who:

- holds or intends to apply for a student visa, bridging visa* or temporary visa*, and
- is yet to enrol, or
- is withdrawing from study in the first semester of their program and was studying onshore or studying online offshore and has been issued a CoE



*Note: Commencing international students who hold a bridging visa or a temporary visa other than an international student visa will have their refund applications assessed according to the refund rules for domestic students (see section 11.7).

11.3. International offshore students

International students studying offshore who are charged tuition fees by RMIT Australia or RMIT Online will have their refunds assessed in-line with the rules that apply to domestic and continuing international students.

11.4. RMIT Online students

Domestic and international (commencing and continuing) students enrolled in a degree with RMIT Online will have their refunds assessed based on the rules in 11.7 Table A.

Course deferral and withdrawal information for students enrolled in a short course with RMIT Online is available at **online.rmit.edu.au/faq?**.

11.5. Granting of permanent residence

International students studying in Australia who change their citizenship or residency status during the course of their study, and become an Australian citizen or permanent resident, may be entitled to pay fees at the same rate as domestic students, depending on the timing of the change in status and when the student notifies RMIT. See section 2.13.

11.6. Applying for a refund

Credit balances within student accounts will not be remitted automatically. For more information about refunds and to apply for a refund online, visit the **refunds webpage**.

11.6.1. Eligibility for a refund

A refund can only be paid when:

- the University has received the money that is to be refunded and the funds have been cleared to the student's account, and
- there is an available credit balance and that credit balance is the result of a payment, and
- the credit has not already been allocated to other outstanding student fees, and
- the application for refund form has been submitted within 12 months of payment (however, applications due to visa refusal will be accepted at any time)

Any credit amount shown may be less or more than the money currently owed to RMIT. When applying for a refund, the actual refundable amount available at that time is assessed. After the assessment has been completed, the refund amount will be paid.

Correct and complete applications for a refund will be processed within 20 working days of receipt.

If an international student who has paid an acceptance deposit reduces their study load in the first semester of their program, they will not be eligible for a refund of the difference between the tuition fees they pre-paid for that semester and the tuition fees charged. Instead, the difference will appear as a credit in their student account and be automatically applied to future semester tuition fee charges.



If the student has successfully completed the first semester of their program and their results have been officially released, their refund request to claim the difference can be assessed and processed based on the guidelines applicable to continuing international students. See section 11.7.

If an international student cancels their current program before their result(s) have been officially released, their refund will be assessed and processed based on the guidelines applicable to commencing international students. See section 11.8.

Commencing international students who hold a bridging visa or a temporary visa other than an international student visa will have their refund applications assessed according to the refund rules for domestic students. See section 11.7.

11.6.2. Ineligibility for a refund

A refund will not be available where a student:

- owes RMIT outstanding fees
- has remaining school allocated print credit
- has had their student visa cancelled during the semester for breaching visa conditions (international students only)
- has cancelled or had their enrolment cancelled by the University, and
 - o the grades have been entered, or
 - o the course end date has passed, or
 - the student was in breach of enrolment conditions

Where a student's request for refund of fees is denied, the response will state the reasons for the decision and inform the student of their right to appeal.

11.6.3. Incomplete refund application

RMIT will allow 10 working days for additional documentation or information to be provided to support an application for refund if required. The application will be closed if the required information is not received within this timeframe. A new refund submission will be required after this time.

11.6.4. Refund payment

RMIT will process refunds using the same payment method as the original payment.

Where the payment was via a credit card, the funds will be returned to the same credit card used for the original payment.

Refunds that are processed via Electronic Funds Transfer (EFT) will be paid into the student's nominated bank account. It may take up to 6 weeks to for a refund payment to reach an overseas bank account.

RMIT reserves the right to request proof of payment and is not liable for any variance from foreign exchange rate fluctuations.

RMIT refuses to process a refund application when a discrepancy in the transferred amount and the issued invoice has been identified. RMIT may ask the student to contact their bank to submit a reversal payment request from their bank in order to assess the refund request.



11.6.5. Refund of materials fees

Materials fee refunds for goods, excursions and global intensives are at the discretion of the relevant teaching school.

Refunds for materials fees cannot be processed until the school approves the removal of charges. An administrative fee may also be charged for late withdrawal from an excursion or global intensive. More information about materials fees is available at rmit.edu.au/programs/fees/other.

11.6.6. Refund of Overseas Student Health Cover

Commencing international students:

- A student who has not commenced any program with RMIT is eligible for a full refund of Medibank OSHC fees paid at their time of acceptance (arranged by RMIT)
- A student who has enrolled and commenced study in Australia may be eligible for a partial refund of Medibank OSHC fees paid to RMIT if their enrolment is cancelled prior to census date

A partial OSHC refund will be calculated by the length of study completed and the length of OSHC policy remaining.

A student with OSHC arranged directly with a provider will be responsible for arranging a refund with their provider.

Continuing students must contact their healthcare provider to arrange a full or partial refund of their OSHC.

11.6.7. Application fees

Application fees are non-refundable, but if a student's application is successful the application fee will be credited to their tuition fee deposit once they accept their offer and commence their program.

11.6.8. SA-HELP

Students who withdraw on or before census date will not be liable for the SSAF previously applicable to their enrolment. If a student opted for SA-HELP, they will no longer be liable.

If a student has not opted for SA-HELP and they paid their SSAF up-front to RMIT, the student's account will be re-credited for the SSAF amount paid up-front and they can apply for this credit to be refunded.

Students who withdraw after the census date will remain liable for the SSAF for that semester. If a student opted for SA-HELP, the SSAF deferred to SA-HELP is not refundable after the census date. There is no remission of debt in special circumstances for SA-HELP.

11.6.9. Remission (removal) of debt in special circumstances

A Commonwealth supported student may be eligible for:

- remission (removal) of their VET Student Loan, HECS-HELP or FEE-HELP debt for a course, and/or
- a refund of their up-front payment of a student contribution for a course

if:



- circumstances outside their control prevented them from passing the course, and
- the circumstances arose or their full impact became apparent on or after the course census date, so they were unable to withdraw before the census date, and
- they hadn't already clearly failed the course at the time the circumstances arose

Information on how to apply is available via the *Application for remission (removal) of debt in special circumstances form*, available at rmt.edu.au/student-essentials/forms.

There are no provisions under the Higher Education Support Act 2003 to have a debt remitted if students have already successfully completed the unit of study.

11.6.10. Removal of debt in special circumstances

An international student or a student who has not taken out a FEE-HELP or VSL loan may be eligible for:

removal of their tuition fee debt

if:

- circumstances outside their control prevented them from passing the course, and
- the circumstances arose or their full impact became apparent on or after the course census date, so they were unable to withdraw before the census date, and
- they hadn't already clearly failed the course at the time the circumstances arose

Information on how to apply is available via contacting RMIT Connect to obtain the *Application for removal of debt in special circumstances form*.

There are no provisions to have a debt remitted if students have already successfully completed the unit of study.

11.7. Table A: Refund assessment for domestic and continuing international students

Students who have paid fees up front and then have variations to their enrolment that result in their RMIT student customer account being re-credited may apply to have this credit balance refunded.

Reason for refund	Timing	Refund amount	Notes
Student withdraws from Program after failure to meet offer letter conditions	After census	No refund	
Apply for a Leave of Absence	After census	No refund	
Student withdraws from Program following a leave of absence	After census	No refund	The Cancellation of program enrolment request and any supporting documentation must be submitted along with the refund application.
Student withdraws from Program or drop a course(s)	After census	No refund	



Reason for refund	Timing	Refund amount	Notes
Student is granted permanent residence status	After census	No refund	Student must submit a Notification of change to citizenship/residence status form to RMIT Connect before applying for a refund of any credit that may occur due to a difference between their program's international and domestic tuition fee.
Student who is excluded from RMIT due to misconduct	After census	No refund	
RMIT cancels program or program ceases to be provided	After census	Full refund	
Print Credit	Any time	Full refund available pending assessment	A refund will not be available where a student has remaining school allocated print credit
Application fee	Any time	No refund	A non-refundable application fee is payable by international students who apply to undertake an RMIT program.
RMIT has not provided program in full	After census	Full refund	
Student has overpaid fees	After census	Full refund	If an International student (including a holder of student visa, a bridging visa or a temporary visa) reduces their study load in their first semester of study, the student will not be eligible for a refund of the difference between the tuition fees they pre-paid for that semester as a deposit and their tuition fees charged. Instead, the difference will appear as a credit in their student account and be automatically applied to future semester tuition fee charges. A refund will not be assessed until their official result(s) of their first semester have been released. The offer deposit outlines how much is required to accept an offer to study at RMIT. Any additional payments to the offer deposit are considered an overpayment.
			If part of the acceptance deposit is unallocated and sitting as a credit, this is not considered an 'overpayment'.



Reason for refund	Timing	Refund amount	Notes
Enrolment is cancelled due to non-payment	After census	Full refund	Student are liable for the tuition fees for any course they have already received a grade for or that has already finished and any materials or other fees (e.g. library fines), and these fees will be referred to a debt collection agency.
Compassionate or compelling circumstances which prevent the student from passing a course	After census	Full refund is available pending assessment. SSAF cannot be refunded see 11.6.8.	An application must include a personal statement of the student's special circumstances and independent supporting documentation to demonstrate that: - the student was unable to complete or pass the course because of special circumstances (medical, psychological, family/personal reasons, employment-related reasons) - the special circumstances did not make their full impact, or their full impact was not apparent, until on or after the census date in the course - the special circumstances were beyond the student's control

11.8. Table B: Refund assessment for commencing international students

- Where a refund application contains untrue or inaccurate information the applicant may be asked to re-apply for the refund or the application may be denied
- 2. If the applicant is unable to provide any required documented evidence the applicant may only be eligible for a partial refund or the application may be denied.
- 3. A student who has enrolled and intends to withdraw from all study, must cancel enrolment before the census date to be eligible for a refund.
- 4. The application for refund submission date will be recorded as the date of enrolment cancellation or the date of an application for release and used for refund calculations. When a student has not yet enrolled, the submission date of the application for refund will be recorded as the date the refund application is submitted.
- 5. Students who received an offer letter on or before 4 May 2021 will have refund applications assessed according to the <u>Enrolment Processes: Refund of Fees procedure</u>. Students who received an offer letter on or after 5 May 2021 will have refund applications assessed according to the annual <u>Approved Schedule of Fees and Charges</u> for their offer letter year of issue.
- 6. Students who accept a package of programs including an offer for an English for Academic Purposes may not be eligible for a refund of English fees. RMIT English Worldwide (REW) will make the decision on a student's eligibly for a refund or English tuition fees. See REW's Refund and Transfer of Fees Guidelines for more detail.



Table B1: Full refund assessment tool

Refund reason	Timing	Refund amount	Evidence required
Visa not granted in time to enrol in onshore study	Within 12 months of program commencement	Full refund	Visa application with visible date of submission
Visa application has been refused	Within 12 months of program commencement	Full refund	Department of Home Affairs Visa Refusal Letter
RMIT is unable to provide the program	Within 12 months of program commencement	Full refund	Email notification from RMIT
Student did not meet program conditions	Within 12 months of program commencement	Full refund	Academic transcript/statement if not from RMIT
Student cannot provide release letter from current education provider	Within 12 months of program commencement	Full refund	Evidence of refusal of release
Student is transferring to an RMIT international partner or RMIT Vietnam	Within 12 months of program commencement	Full refund	Evidence of enrolment
Compassionate or compelling reason	Within 12 months of program commencement	Full refund	Supporting documentation for specific circumstance
Overpayment of fees	Within 12 months of program commencement	Full refund	
Scholarship granted by another institution	Within 12 months of program commencement	Full refund	Scholarship grant letter

Table B2: Partial or no refund assessment tool

Refund reason	Timing	Refund amount	Evidence required
Personal reasons: (job offer, homesickness, change of mind, change of study plans, failure to enrol by RMIT deadlines or financial	4 weeks or more before program commencement date	Deposit less 10%	No evidence required
considerations)	Within 4 weeks of the program commencement	Deposit less 50%	No evidence required
Any other reason for refund that is not specified under Table B1 Full refund	date, up until and including census date		
Voluntary discontinuation of			
Program	After census date	No refund	No evidence required
Incorrect or insufficient information or documentation supplied as part of the application process (e.g. fraudulent)			
Student re-applies to RMIT, for a Commonwealth Supported Place in their program, after being granted permanent residency (see section 2.13)			



11.9. International student appeals against a refund decision

A student may appeal a refund decision where they can provide new supporting documents for a refund application. An appeal must be submitted within 20 working days of the refund decision notification.

12. Tuition Protection Scheme

RMIT is bound by the Australian Government's <u>Tuition Protection Service</u> (TPS) framework and maintains a statutory obligation to report any provider or student default to the TPS Director and to the TPS Secretary.

12.1. Provider default

A provider default occurs when:

RMIT does not begin a course to the student at the location on the agreed starting day or
the course is discontinued at the location after commencing and the enrolled student has
not withdrawn from the course before the default day.

In the instance of provider default, tuition protection obligations must be met within 14 days of default.

12.1. Student default

A student default occurs when:

- the course starts at the location on the agreed starting day, but the student does not start the course on that day (and has not previously withdrawn), or
- the student withdraws from the course at the location (either before or after the agreed starting day), or
- the registered provider of the course refuses to provide, or continue providing, the course to the student at the location because of one or more of the following:
 - the student failed to pay an amount payable to the provider for the course
 - the student breached a condition of his/her student visa
 - misbehaviour by the student (Note: the student is entitled to natural justice under subsection 47A(3))

In the instance of a student default, RMIT must complete payment of a refund within 4 weeks of a complete refund request submission date.

13. Financial liability

- 1. The financial liability of a student's enrolment will remain unless the student varies or formally cancels their enrolment by the appropriate date.
- 2. Withdrawal from a course or program using Enrolment Online, lodgement of an approved *Enrolment variation*, *Leave of absence* or *Cancellation of program enrolment* form with RMIT or RMIT Training are the only mechanisms to withdraw from a course or program of study (see section 1.2).
- 3. Failure to lodge the appropriate request before the deadline will result in the tuition liability remaining and the appropriate debt recovery actions will be enforced.
- 4. The financial liability of a student's enrolment will remain unless an *Enrolment variation*, *Application for leave of absence* or *Cancellation of program enrolment* request is submitted by the census date.



- 5. No changes to enrolment will be made after the census date unless there is evidence of a university error.
- 6. Cancellation of program enrolment by the census date does not exempt commencing international students from financial penalties such as administration fees and withdrawal penalties specified in the refund rules. If a commencing international student meets the criteria for a refund for a future program but owes RMIT fees, the holding deposit will reduce the debt owed to RMIT by the refund entitlement amount.
- 7. There will be no financial tuition fee liability for continuing international students and domestic students who formally cancel their program enrolment by the applicable census date.
- 8. All students may be liable for materials fees at the discretion of their school. These fees will be advised to students before enrolment, will comply with government requirements and will have been approved by RMIT as per the Approved Schedule of Fees and Charges.
- 9. Students will be liable for any outstanding library fees or late fees for previous late payments.
- 10. Students who owe RMIT outstanding fees will not be eligible for a refund.
- 11. Cancellation of a student's program enrolment after census date due to exceptional circumstances may be accepted as grounds for a full or partial refund of any pre-paid tuition fee, subject to the provision of acceptable documentary evidence and at the discretion of the Academic Registrar.



Glossary

Acronym	Definition
AHEGS	Australian Higher Education Graduation Statement
ATO	Australian Taxation Office
AVCC	Australian Vice-Chancellors' Committee
CAN	Commonwealth Assistance Notice
CHESSN	Commonwealth Higher Education Student Support Number
CSP	Commonwealth supported place
DHA	Department of Home Affairs
eCAF	Electronic Commonwealth Assistance Form
EFTSL	Effective Full-time Student Load
EOL	Enrolment Online
ESOS	Education Services for Overseas Students
HELP	Higher Education Loan Program
NZ SCV	New Zealand Special Category Visa
OSHC	Overseas Student Health Cover
OUA	Open Universities Australia
REW	RMIT English Worldwide
RPL	Recognition of Prior Learning
RTO	Registered Training Organisation
SAC	Statement of Academic Completion
SOA	Statement of Attainment
SSAF	Student Services and Amenities Fee
TFN	Tax File Number
TPS	Tuition Protection Service
VE QS	Vocational Education Qualification Statement
VSL	VET Student Loan
VEVO	Visa Entitlement Verification Online



Appendix 1 – Domestic higher education program fees

Academic career	Program code	Academic plan	Program name	Total program credit points	Indicative credit points per annum full-time	Total full- time program duration - years	2021 Indicative domestic full-fee place annual tuition fee	2021 Domestic full-fee place total program tuition fee	2021 fee per credit point \$
	45000		Associate Degree in Information	100					
Undergraduate	AD006	AD006	Technology	192	96	2.0	26,880	53,760	280.00
Undergraduate	AD007	AD007	Associate Degree in Design (Furniture)	192	96	2.0	29,760	59,520	310.00
Undergraduate	AD010	AD010	Associate Degree in Business	192	96	2.0	25,920	51,840	270.00
Undergraduate	AD012	AD012	Associate Degree in Applied Science	192	96	2.0	26,880	53,760	280.00
Undergraduate	AD013	AD013	Associate Degree in Fashion and Textile Merchandising	192	96	2.0	29,760	59,520	310.00
Undergraduate	AD014	AD014	Associate Degree in Fashion Design and Technology	192	96	2.0	27,840	55,680	290.00
Undergraduate	AD015	AD015	Associate Degree in Legal Practice (Paralegal)	192	96	2.0	25,920	51,840	270.00
Undergraduate	AD016	AD016	Associate Degree in Professional Writing and Editing	192	96	2.0	27,840	55,680	290.00
Undergraduate	AD017	AD017	Associate Degree in Screen and Media Production	192	96	2.0	27,840	55,680	290.00
Undergraduate	AD019	AD019	Associate Degree in Health Sciences	192	96	2.0	26,880	53,760	280.00
Undergraduate	AD020	AD020	Associate Degree in Interior Decoration and Design	192	96	2.0	27,840	55,680	290.00
Undergraduate		AD022	Associate Degree in Graphic Design	192	96	2.0	27,840	55,680	290.00



Academic career	Program code	Academic plan	Program name	Total program credit points	Indicative credit points per annum full-time	Total full- time program duration - years	2021 Indicative domestic full-fee place annual tuition fee	2021 Domestic full-fee place total program tuition fee	2021 fee per credit point \$
			Associate Degree in Aviation						
			(Professional Pilots) –						
			Fees for this program are charged at the course level rather than						
			program level, and fees for some						
			courses may be more/less than						
			\$720 per credit point. Visit						
			rmit.edu.au/programs/ad023 for						
			tuition fee information for each						
			individual course in this program or						
Undergraduate	AD023	AD023	see Appendix 5.	192	96	2.0	69,120	138,240	720.00
		15000	Associate Degree in Engineering						
Undergraduate	AD026	AD026	Technology	192	96	2.0	28,800	57,600	300.00
			Associate Degree in Digital						
Undergraduate	AD028	AD028	Technologies (Advanced Manufacturing)	192	96	2.0	28,800	57,600	300.00
Ondergraduate	AD020	AD020	Bachelor of Applied Science	192	90	2.0	20,000	37,000	300.00
Undergraduate	BH000	BH000	(Psychology) (Honours)	96	96	1.0	29,760	29,760	310.00
on a original addition	21.1000	21.000	Bachelor of Science (Mathematics)				20,1.00	20,1.00	0.0.00
Undergraduate	BH010	BH010P	(Honours)	96	96	1.0	29,760	29,760	310.00
J			Bachelor of Science (Applied					·	
Undergraduate	BH012	BH012	Sciences) (Honours)	96	96	1.0	31,680	31,680	330.00
			Bachelor of Computer Science						
Undergraduate	BH013	BH013P9	(Honours)	96	96	1.0	30,720	30,720	320.00
	DI IO 4 O	DUIGAG	Bachelor of Social Science				00.000	00.000	222.22
Undergraduate	BH016	BH016	(Honours)	96	96	1.0	26,880	26,880	280.00
Undergraduate	BH039	BH039	Bachelor of Business (Economics and Finance) (Honours)	96	96	1.0	27,840	27,840	290.00
Unidergraduate	פטוום	פנטו ום	Bachelor of Arts (International	90	90	1.0	21,040	21,040	290.00
Undergraduate	BH049	BH049	Studies) (Honours)	96	96	1.0	26,880	26,880	280.00
zz.g.aaaato	2	=	Bachelor of Arts (Fine Art)		20			_5,550	
Undergraduate	BH052	BH052	(Honours)	96	96	1.0	30,720	30,720	320.00



Academic career	Program code	Academic plan	Program name	Total program credit points	Indicative credit points per annum full-time	Total full- time program duration - years	2021 Indicative domestic full-fee place annual tuition fee	2021 Domestic full-fee place total program tuition fee	2021 fee per credit point \$
	DUOSO	DUISES	Bachelor of Health and Biomedical	00	0.0	4.0	00.000	00.000	050.00
Undergraduate	BH058	BH058	Science (Honours)	96	96	1.0	33,600	33,600	350.00
Undergraduate	BH060	BH060P16	Bachelor of Justice and Criminology (Honours)	96	96	1.0	26,880	26,880	280.00
Undergraduate	BH063	BH063	Bachelor of Science (Statistics) (Honours)	96	96	1.0	29,760	29,760	310.00
Undergraduate	BH064	BH064	Bachelor of Business (Honours)	96	96	1.0	27,840	27,840	290.00
Undergraduate	BH066	BH066	Bachelor of Media and Communication (Honours)	96	96	1.0	30,720	30,720	320.00
Undergraduate	BH067	BH067	Bachelor of Engineering (Electronic Product Design) (Honours)	384	96	4.0	37,440	149,760	390.00
Undergraduate	BH068	BH068	Bachelor of Engineering (Adv Manufacturing and Mechatronics) (Honours)	384	96	4.0	37,440	149,760	390.00
Undergraduate	BH069	BH069	Bachelor of Engineering (Biomedical Engineering) (Honours)	384	96	4.0	37,440	149,760	390.00
Undergraduate	BH070	BH070	Bachelor of Engineering (Mechanical Engineering) (Honours)	384	96	4.0	37,440	149,760	390.00
Undergraduate	BH071	BH071P17	Bachelor of Engineering (Telecommunications Engineering) (Honours)	384	96	4.0	37,440	149,760	390.00
Undergraduate	BH072	BH072	Bachelor of Engineering (Computer and Network Engineering) (Honours)	384	96	4.0	37,440	149,760	390.00
Undergraduate	BH073	BH073	Bachelor of Engineering (Electrical and Electronic Engineering) (Honours)	384	96	4.0	37,440	149,760	390.00
Undergraduate	BH074	BH074	Bachelor of Engineering (Automotive Engineering) (Honours)	384	96	4.0	37,440	149,760	390.00



Academic career	Program code	Academic plan	Program name	Total program credit points	Indicative credit points per annum full-time	Total full- time program duration - years	2021 Indicative domestic full-fee place annual tuition fee	2021 Domestic full-fee place total program tuition fee	2021 fee per credit point \$
	DUIGTE	D11075	Bachelor of Engineering (Electrical	00.4		4.0	07.440	1.10.700	000.00
Undergraduate	BH075	BH075	Engineering) (Honours)	384	96	4.0	37,440	149,760	390.00
Undergraduate	BH076	BH076	Bachelor of Engineering (Sustainable Systems Engineering) (Honours)	384	96	4.0	37,440	149,760	390.00
Undergraduate	BH077	BH077	Bachelor of Engineering (Civil and Infrastructure) (Honours)	384	96	4.0	37,440	149,760	390.00
Undergraduate	BH078	BH078	Bachelor of Engineering (Aerospace Engineering) (Honours)	384	96	4.0	37,440	149,760	390.00
Undergraduate	BH079	BH079	Bachelor of Engineering (Chemical Engineering) (Honours)	384	96	4.0	37,440	149,760	390.00
Undergraduate	BH080	BH080	Bachelor of Engineering (Environmental Engineering) (Honours)	384	96	4.0	37,440	149,760	390.00
Undergraduate	BH081	BH081	Bachelor of Engineering (Electrical Engineering) (Honours)/Bachelor of Business (Management)	528	105.6	5.0	41,184	205,920	390.00
Undergraduate	BH082	BH082	Bachelor of Engineering (Aerospace Engineering) (Honours)/Bachelor of Business (Management)	528	105.6	5.0	41,184	205,920	390.00
Undergraduate	BH083	BH083	Bachelor of Engineering (Electrical Engineering) (Honours)/Bachelor of Commerce	528	105.6	5.0	41,184	205,920	390.00
Undergraduate	BH084	BH084	Bachelor of Engineering (Automotive Engineering) (Honours)/Bachelor of Business (Management)	528	105.6	5.0	41,184	205,920	390.00
Undergraduate	BH085	BH085	Bachelor of Engineering (Chemical Engineering) (Honours)/Bachelor of Business (Management)	516	103.2	5.0	40,248	201,240	390.00



Academic career	Program code	Academic plan	Program name	Total program credit points	Indicative credit points per annum full-time	Total full- time program duration - years	2021 Indicative domestic full-fee place annual tuition fee	2021 Domestic full-fee place total program tuition fee	2021 fee per credit point \$
			Bachelor of Engineering (Adv Manufacturing &						
Undergraduate	BH086	BH086	Mechatronics)(Hons)/Bachelor of Business(Intern Bus)	528	105.6	5.0	41,184	205,920	390.00
			Bachelor of Engineering (Chemical Engineering) (Honours)/Bachelor of						
Undergraduate	BH087	BH087	Science (Biotechnology)	516	103.2	5.0	34,056	170,280	330.00
Undergraduate	BH088	BH088	Bachelor of Engineering (Civil and Infrastructure) (Honours)/Bachelor of Business (Management)	516	103.2	5.0	40,248	201,240	390.00
Undergraduate	BH089	BH089	Bachelor of Engineering (Mechanical Engineering) (Honours)/Bachelor of Business (Management)	528	105.6	5.0	41,184	205,920	390.00
Undergraduate	BH090	BH090	Bachelor of Engineering (Mechanical Engineering) (Honours)/Bachelor of Science (Biotechnology)	528	105.6	5.0	41,184	205,920	390.00
Undergraduate	BH091	BH091	Bachelor of Engineering (Computer and Network Engineering) (Honours)/Bachelor of Computer Science	528	105.6	5.0	41,184	205,920	390.00
Undergraduate	BH092	BH092	Bachelor of Engineering(Sustainable Systems Engineering) (Honours)/Bachelor of Business(Management)	528	105.6	5.0	41,184	205,920	390.00
Undergraduate	BH093	BH093	Bachelor of Engineering (Mechanical Engineering)(Honours)/Bachelor of Industrial Design (Honours)	528	105.6	5.0	41,184	205,920	390.00



Academic career	Program code	Academic plan	Program name	Total program credit points	Indicative credit points per annum full-time	Total full- time program duration - years	2021 Indicative domestic full-fee place annual tuition fee	2021 Domestic full-fee place total program tuition fee	2021 fee per credit point \$
			Bachelor of Engineering (Electronic & Communication						
			Engineering)(Hons)/Bachelor of						
Undergraduate	BH094	BH094	Computer Science	528	105.6	5.0	41,184	205,920	390.00
	DLIOOC	PLICOC	Bachelor of Environmental Science/Bachelor of Engineering (Environmental Engineering)	400	00	5.0	24.600	450,400	220.00
Undergraduate	BH096	BH096	(Honours) Bachelor of	480	96	5.0	31,680	158,400	330.00
Undergraduate	BH097	BH097	Science(Physics)/Bachelor of Engineering (Electronic & Communication Engineering) (Hons)	528	105.6	5.0	44 494	205.020	300.00
Undergraduate	впоэт	впоэт	Bachelor of Science (Applied	526	105.6	5.0	41,184	205,920	390.00
Undergraduate	BH098	BH098	Chemistry)/Bachelor of Engineering (Chemical Engineering) (Honours)	480	96	5.0	31,680	158,400	330.00
Undergraduate	BH099	BH099	Bachelor of Science(Food Technology & Nutrition)/Bachelor of Engineering(Chemical Engineering)(Hons)	516	103.2	5.0	34,056	170,280	330.00
Undergraduate	BH100	BH100	Bachelor of Engineering (Sustainable Systems Eng)(Honours)/Bachelor of Industrial Design(Honours)	528	105.6	5.0	41,184	205,920	390.00
			Bachelor of Science (Dean's	320		3.0	,		222.30
Undergraduate	BH101	BH101	Scholar)(Honours)	384	96	4.0	31,680	126,720	330.00
Undergraduate	BH102	BH102	Bachelor of Pharmacy (Honours) Bachelor of Fashion (Design)	384	96	4.0	33,600	134,400	350.00
Undergraduate	BH103	BH103	(Honours)	384	96	4.0	32,640	130,560	340.00
Undergraduate		BH104	Bachelor of Industrial Design (Honours)	384	96	4.0	36,480	145,920	380.00



Academic career	Program code	Academic plan	Program name	Total program credit points	Indicative credit points per annum full-time	Total full- time program duration - years	2021 Indicative domestic full-fee place annual tuition fee	2021 Domestic full-fee place total program tuition fee	2021 fee per credit point \$
Undergraduate	BH105	BH105	Bachelor of Social Work (Honours)	384	96	4.0	28,800	115,200	300.00
Undergraduate	BH106	BH106	Bachelor of Social Work (Honours)/Bachelor of Social Science (Psychology)	480	96	5.0	26,880	134,400	280.00
Undergraduate	BH107	BH107	Bachelor of Engineering (Computer and Network Engineering) (Honours)/Bachelor of Business (Mgt)	528	105.6	5.0	41,184	205,920	390.00
Undergraduate	BH108	BH108	Bachelor of Urban and Regional Planning (Honours)	384	96	4.0	26,880	107,520	280.00
Undergraduate	BH109	BH109	Bachelor of Engineering(Electrical & Electronic Eng)(Honours)/Bachelor of Business(Entrepreneurship)	528	105.6	5.0	41,184	205,920	390.00
Undergraduate	BH110	BH110	Bachelor of Engineering (Electrical & Electronic Eng)(Hons)/Bachelor of Business (International Bus)	528	105.6	5.0	41,184	205,920	390.00
Undergraduate	BH111	BH111	Bachelor of Engineering(Electrical & Electronic Eng)(Honours)/Bachelor of Business(Management)	528	105.6	5.0	41,184	205,920	390.00
Undergraduate	BH112	BH112	Bachelor of Applied Science (Project Management) (Honours)	384	96	4.0	29,760	119,040	310.00
Undergraduate	BH113	BH113	Bachelor of Applied Science (Property and Valuation) (Honours)	384	96	4.0	29,760	119,040	310.00
Undergraduate	BH114	BH114	Bachelor of Applied Science (Construction Management) (Honours)	384	96	4.0	30,720	122,880	320.00
Undergraduate	BH115	BH115	Bachelor of Interior Design (Honours)	384	96	4.0	34,560	138,240	360.00
Undergraduate	BH116	BH116	Bachelor of Applied Science (Surveying) (Honours)	384	96	4.0	33,600	134,400	350.00



Academic career	Program code	Academic plan	Program name	Total program credit points	Indicative credit points per annum full-time	Total full- time program duration - years	2021 Indicative domestic full-fee place annual tuition fee	2021 Domestic full-fee place total program tuition fee	2021 fee per credit point \$
Undergraduate	BH117	BH117	Bachelor of Science (Geospatial Science) (Honours)	384	96	4.0	33,600	134,400	350.00
Undergraduate	BH118	BH118	Bachelor of Engineering (Automotive Engineering)(Honours)/Bachelor Industrial Design (Honours)	528	105.6	5.0	41,184	205,920	390.00
Undergraduate	BH119	BH119	Bachelor of Analytics (Honours)	384	96	4.0	29,760	119,040	310.00
Undergraduate	BH120	BH120	Bachelor of Engineering (Software Engineering) (Honours)	384	96	4.0	37,440	149,760	390.00
Undergraduate	BH121	BH121	Bachelor of Pharmaceutical Sciences (Honours)	96	96	1.0	33,600	33,600	350.00
Undergraduate	BH122	BH122	Bachelor of Engineering(Chemical Engineering)(Honours)/Bachelor of Pharmaceutical Sciences Bachelor of Textiles	516	103.2	5.0	40,248	201,240	390.00
Undergraduate	BH124	BH124	(Design)(Honours)	96	96	1.0	32,640	32,640	340.00
Undergraduate	BH125	BH125	Bachelor of Arts (Photography) (Honours)	96	96	1.0	30,720	30,720	320.00
Undergraduate	BH126	BH126	Bachelor of Engineering (Honours)	384	96	4.0	37,440	149,760	390.00
Undergraduate	BH127	BH127	Bachelor of Fashion (Design) (Honours)	96	96	1.0	32,640	32,640	340.00
Undergraduate	BP000	BP000	Bachelor of Environment and Society	288	96	3.0	26,880	80,640	280.00
Undergraduate	BP023	BP023P16	Bachelor of Criminal Justice	288	96	3.0	26,880	80,640	280.00
Undergraduate	BP026	BP026	Bachelor of Social Work	384	96	4.0	26,880	107,520	280.00
Undergraduate	BP027	BP027	Bachelor of Business (International Business) (Applied)	384	96	4.0	27,840	111,360	290.00



Academic career	Program code	Academic plan	Program name	Total program credit points	Indicative credit points per annum full-time	Total full- time program duration - years	2021 Indicative domestic full-fee place annual tuition fee	2021 Domestic full-fee place total program tuition fee	2021 fee per credit point \$
			Bachelor of Business						
Undergraduate	BP030	BP030	(Entrepreneurship)	288	96	3.0	27,840	83,520	290.00
Undergraduate	BP032	BP032	Bachelor of Nursing	288	96	3.0	29,760	89,280	310.00
	2224		Bachelor of Applied Science					400.000	
Undergraduate	BP041	BP041	(Health and Physical Education)	384	96	4.0	30,720	122,880	320.00
Undergraduate	BP046	BP046	Bachelor of Education	384	96	4.0	25,920	103,680	270.00
Undergraduate	BP047	BP047	Bachelor of Arts (Music Industry)	288	96	3.0	27,840	83,520	290.00
Undergraduate	BP048	BP048	Bachelor of International Studies	288	96	3.0	26,880	80,640	280.00
Undergraduate	BP070	BP070	Bachelor of Applied Science (Aviation)	288	96	3.0	37,440	112,320	390.00
Undergraduate	BP083	BP083	Bachelor of Science (Mathematics)	288	96	3.0	29,760	89,280	310.00
Undergraduate	BP094	BP094	Bachelor of Computer Science	288	96	3.0	30,720	92,160	320.00
Undergraduate	BP096	BP096	Bachelor of Software Engineering	384	96	4.0	30,720	122,880	320.00
Undergraduate	BP105	BP105	Bachelor of Applied Science (Construction Management)	384	96	4.0	30,720	122,880	320.00
Undergraduate	BP112	BP112	Bachelor of Social Science (Psychology)	288	96	3.0	26,880	80,640	280.00
Undergraduate	BP113	BP113	Bachelor of Social Work/Bachelor of Social Science (Psychology)	480	96	5.0	26,880	134,400	280.00
Undergraduate	BP115	BP115	Bachelor of Design (Communication Design)	288	96	3.0	34,560	103,680	360.00
Undergraduate	BP117	BP117	Bachelor of Arts (Photography)	288	96	3.0	29,760	89,280	310.00
Undergraduate	BP121	BP121	Bachelor of Textiles (Design)	288	96	3.0	30,720	92,160	320.00



Academic career	Program code	Academic plan	Program name	Total program credit points	Indicative credit points per annum full-time	Total full- time program duration - years	2021 Indicative domestic full-fee place annual tuition fee	2021 Domestic full-fee place total program tuition fee	2021 fee per credit point \$
			Bachelor of Applied Science						
Undergraduate	BP123	BP123	(Textile Technology)	288	96	3.0	30,720	92,160	320.00
Undergraduate	BP129	BP129	Bachelor of Business (Professional Accountancy)	384	96	4.0	27,840	111,360	290.00
Undergraduate	BP134	BP134	Bachelor of Business (Economics and Finance) (Applied)	384	96	4.0	27,840	111,360	290.00
Undergraduate	BP135	BP135	Bachelor of Business (Financial Planning)	384	96	4.0	27,840	111,360	290.00
Undergraduate	BP138	BP138	Bachelor of Business (Information Systems) (Applied)	384	96	4.0	27,840	111,360	290.00
Undergraduate	BP141	BP141	Bachelor of Business (Marketing) (Applied)	384	96	4.0	27,840	111,360	290.00
Undergraduate	BP143	BP143	Bachelor of Business (Logistics and Supply Chain Management) (Applied) Bachelor of Biomedical Science	384	96	4.0	27,840	111,360	290.00
Undergraduate	BP147	BP147	(Laboratory Medicine)	384	96	4.0	33,600	134,400	350.00
Undergraduate	BP148	BP148	Bachelor of Applied Science (Medical Radiations)	288	96	3.0	33,600	100,800	350.00
Undergraduate	BP153	BP153	Bachelor of Design (Multimedia Systems)	384	96	4.0	30,720	122,880	320.00
Undergraduate	BP154	BP154	Bachelor of Applied Science (Psychology)	288	96	3.0	29,760	89,280	310.00
Undergraduate	BP161	BP161	Bachelor of Environmental Science/Bachelor of Business (Management)	432	108	4.0	35,640	142,560	330.00
Undergraduate	BP162	BP162	Bachelor of Information Technology	288	96	3.0	30,720	92,160	320.00
Undergraduate	BP181	BP181	Bachelor of Commerce	288	96	3.0	27,840	83,520	290.00
Undergraduate	BP191	BP191	Bachelor of Social Science (Youth Work)	288	96	3.0	26,880	80,640	280.00



Academic career	Program code	Academic plan	Program name	Total program credit points	Indicative credit points per annum full-time	Total full- time program duration - years	2021 Indicative domestic full-fee place annual tuition fee	2021 Domestic full-fee place total program tuition fee \$	2021 fee per credit point \$
Undergraduate	BP192	BP192	Bachelor of Environmental Science	288	96	3.0	31,680	95,040	330.00
Undergraduate	BP193	BP193	Bachelor of Environmental Science/Bachelor of Social Science (Environment)	384	96	4.0	28,800	115,200	300.00
Undergraduate	BP199	BP199	Bachelor of Science (Food Technology and Nutrition)	288	96	3.0	31,680	95,040	330.00
Undergraduate	BP201	BP201	Bachelor of Arts (Fine Art)	288	96	3.0	29,760	89,280	310.00
Undergraduate	BP203	BP203	Bachelor of Design (Animation and Interactive Media)	288	96	3.0	32,640	97,920	340.00
Undergraduate	BP204	BP204P16	Bachelor of Legal and Dispute Studies	288	96	3.0	26,880	80,640	280.00
Undergraduate	BP211	BP211	Bachelor of Fashion (Design Technology)	96	96	1.0	30,720	30,720	320.00
Undergraduate	BP214	BP214	Bachelor of Design (Games)	288	96	3.0	32,640	97,920	340.00
Undergraduate	BP215	BP215	Bachelor of Information Technology (Games and Graphics Programming)	288	96	3.0	30,720	92,160	320.00
Undergraduate	BP217	BP217	Bachelor of Business (Management)	288	96	3.0	27,840	83,520	290.00
Undergraduate	BP219	BP219P9	Bachelor of Communication (Advertising)	288	96	3.0	30,720	92,160	320.00
Undergraduate	BP220	BP220	Bachelor of Communication (Journalism)	288	96	3.0	30,720	92,160	320.00
Undergraduate	BP221	BP221	Bachelor of Communication (Media) (3 years)	288	96	3.0	30,720	92,160	320.00
Undergraduate	BP221	BP221ACC	Bachelor of Communication (Media) (2.5 years)	288	115.2	2.5	36,864	92,160	320.00



Academic career	Program code	Academic plan	Program name	Total program credit points	Indicative credit points per annum full-time	Total full- time program duration - years	2021 Indicative domestic full-fee place annual tuition fee	2021 Domestic full-fee place total program tuition fee	2021 fee per credit point \$
Undergraduate	BP222	BP222	Bachelor of Communication (Professional Communication) (3 years)	288	96	3.0	30,720	92,160	320.00
Undergraduate	BP222	BP222ACC	Bachelor of Communication (Professional Communication) (2.5 years)	288	115.2	2.5	36,864	92,160	320.00
Undergraduate	BP223	BP223	Bachelor of Communication (Public Relations)	288	96	3.0	30,720	92,160	320.00
Undergraduate	BP226	BP226	Bachelor of Science (Biotechnology)	288	96	3.0	31,680	95,040	330.00
Undergraduate	BP229	BP229	Bachelor of Science	288	96	3.0	31,680	95,040	330.00
Undergraduate	BP230	BP230	Bachelor of Science (Nanotechnology)	288	96	3.0	31,680	95,040	330.00
Undergraduate	BP231	BP231	Bachelor of Biomedical Science	288	96	3.0	33,600	100,800	350.00
Undergraduate	BP232	BP232	Bachelor of Technology (Computing Studies)	288	96	3.0	30,720	92,160	320.00
Undergraduate	BP245	BP245	Bachelor of Science (Statistics)	288	96	3.0	29,760	89,280	310.00
Undergraduate	BP247	BP247	Bachelor of Science (Nanotechnology)/Bachelor of Science (Applied Sciences)	384	96	4.0	31,680	126,720	330.00
Undergraduate	BP250	BP250	Bachelor of Architectural Design	288	96	3.0	39,360	118,080	410.00
Undergraduate	BP251	BP251	Bachelor of Business (Economics and Finance)	288	96	3.0	27,840	83,520	290.00
Undergraduate	BP252	BP252	Bachelor of Business (Marketing)	288	96	3.0	27,840	83,520	290.00
Undergraduate	BP253	BP253	Bachelor of Business (International Business)	288	96	3.0	27,840	83,520	290.00



Academic career	Program code	Academic plan	Program name	Total program credit points	Indicative credit points per annum full-time	Total full- time program duration - years	2021 Indicative domestic full-fee place annual tuition fee	2021 Domestic full-fee place total program tuition fee \$	2021 fee per credit point \$
			Bachelor of Business						
Undergraduate	BP254	BP254	(Accountancy)	288	96	3.0	27,840	83,520	290.00
Undergraduate	BP255	BP255	Bachelor of Business (Logistics and Supply Chain Management)	288	96	3.0	27,840	83,520	290.00
			Bachelor of Landscape						
Undergraduate	BP256	BP256	Architectural Design	288	96	3.0	35,520	106,560	370.00
Undergraduate	BP257	BP257	Bachelor of Arts (Creative Writing)	288	96	3.0	30,720	92,160	320.00
		DD000	Bachelor of Education (Early				o= 000	400.000	0=0.00
Undergraduate	BP260	BP260	Childhood Education)	384	96	4.0	25,920	103,680	270.00
Undergraduate	BP276	BP276	Bachelor of Business (Human Resource Management)	288	96	3.0	27,840	83,520	290.00
Undergraduate	BP278	BP278CMDD	Bachelor of Health Science/Bachelor of Applied Science (Chinese Medicine)	480	96	5.0	29,760	148,800	310.00
Undergraduate	BP279	BP279CSODD	Bachelor of Health Science/Bachelor of Applied Science (Osteopathy)	480	96	5.0	29,760	148,800	310.00
Undergraduate	BP280	BP280HSDD	Bachelor of Health Science/Bachelor of Applied Science (Chiropractic)	480	96	5.0	29,760	148,800	310.00
Undergraduate	BP284	BP284ASADD	Bachelor of Applied Science (Aviation)/Bachelor of Business (Management)	432	108	4.0	42,120	168,480	390.00
Undergraduate	BP289	BP289SFTDD	Bachelor of Science (Food Technology)/Bachelor of Business (Management)	432	108	4.0	35,640	142,560	330.00
Undergraduate	BP293	BP293SBDD	Bachelor of Science (Biotechnology)/Bachelor of Biomedical Science	384	96	4.0	31,680	126,720	330.00
Undergraduate	BP295	BP295P16	Bachelor of Criminology and Psychology	288	96	3.0	26,880	80,640	280.00



Academic career	Program code	Academic plan	Program name	Total program credit points	Indicative credit points per annum full-time	Total full- time program duration - years	2021 Indicative domestic full-fee place annual tuition fee	2021 Domestic full-fee place total program tuition fee \$	2021 fee per credit point \$
l la derare duete	DD206	BP296	Bachelor of Applied Science	288	96	3.0	20.720	02.160	320.00
Undergraduate	BP296	BP290	(Exercise and Sport Science) Bachelor of Science (Applied	288	96	3.0	30,720	92,160	320.00
Undergraduate	BP305	BP305ACDD	Chemistry)/Bachelor of Business (Management)	432	108	4.0	35,640	142,560	330.00
Officergraduate	DF 303	DF 303ACDD	Bachelor of Science (Applied	432	100	4.0	33,040	142,300	330.00
			Science)/Bachelor of Business						
Undergraduate	BP305	BP305ASDD	(Management)	432	108	4.0	35,640	142,560	330.00
Undergraduate	BP305	BP305BSDD	Bachelor of Science (Biological Sciences)/Bachelor of Business (Management)	432	108	4.0	35,640	142,560	330.00
Undergraduate	BP305	BP305BTDD	Bachelor of Science (Biotechnology)/Bachelor of Business (Management)	432	108	4.0	35,640	142,560	330.00
Undergraduate	BP305	BP305PHYDD	Bachelor of Science (Physics)/Bachelor of Business (Management)	432	108	4.0	35,640	142,560	330.00
			Bachelor of Business (Information						
Undergraduate	BP308	BP308	Systems)	288	96	3.0	27,840	83,520	290.00
Undergraduate	BP309	BP309	Bachelor of Design (Digital Media)	288	96	3.0	32,640	97,920	340.00
Undergraduate	BP310	BP310	Bachelor of Fashion (Merchandise Management)	96	96	1.0	32,640	32,640	340.00
Undergraduate	BP311	BP311	Bachelor of Pharmaceutical Sciences	288	96	3.0	33,600	100,800	350.00
Undergraduate	BP313	BP313	Bachelor of Business (Financial Planning)/Bachelor of Business (Accountancy)	384	96	4.0	27,840	111,360	290.00
Undergraduate	BP314	BP314	Bachelor of Business (Financial Planning)	288	96	3.0	27,840	83,520	290.00
Ondergraduate	טו טוד	DI 314	Bachelor of Arts (Welfare and	200	90	3.0	21,040	00,020	230.00
Undergraduate	BP315	BP315	Society)	288	96	3.0	28,800	86,400	300.00



Academic career	Program code	Academic plan	Program name	Total program credit points	Indicative credit points per annum full-time	Total full- time program duration - years	2021 Indicative domestic full-fee place annual tuition fee	2021 Domestic full-fee place total program tuition fee	2021 fee per credit point \$
			Bachelor of Health, Physical						
Undergraduate	BP319	BP319	Education & Sport	384	96	4.0	30,720	122,880	320.00
Undergraduate	BP320	BP320	Bachelor of Education (Primary)	384	96	4.0	25,920	103,680	270.00
Undergreduete	BP320	BP320PDI	Bachelor of Education (Primary	204	96	4.0	25.020	102 690	270.00
Undergraduate	BP320	BP320PDI	Education and Disability Inclusion) Bachelor of Education (Primary and	384	96	4.0	25,920	103,680	270.00
Undergraduate	BP320	BP320PEC	Early Childhood Education)	384	96	4.0	25,920	103,680	270.00
			Bachelor of Education (Primary and					,	
Undergraduate	BP320	BP320PPE	Physical Education/Sport)	384	96	4.0	25,920	103,680	270.00
Undergraduate	BP321	BP321	Bachelor of Applied Science (Medical Radiations)	384	96	4.0	33,600	134,400	350.00
Undergraduate	BP322	BP322	Bachelor of Youth Work & Youth Studies	288	96	3.0	26,880	80,640	280.00
Undergraduate	BP324	BP324	Bachelor of Business (Digital Business)	288	96	3.0	27,840	83,520	290.00
Undergraduate	BP326	BP326	Bachelor of Fashion & Textiles (Sustainable Innovation)	288	96	3.0	30,720	92,160	320.00
Undergraduate	BP327	BP327	Bachelor of Fashion (Enterprise)	288	96	3.0	30,720	92,160	320.00
Undergraduate	BP328	BP328	Bachelor of Fashion (Design)	288	96	3.0	32,640	97,920	340.00
Undergraduate	BP329	BP329	Bachelor of Social Science (Urban Policy)	288	96	3.0	26,880	80,640	280.00
Undergraduate	BP330	BP330	Bachelor of Space Science	288	96	3.0	31,680	95,040	330.00
Undergraduate	BP331	BP331	Bachelor of Analytics	288	96	3.0	29,760	89,280	310.00
Undergraduate	BP332	BP332	Bachelor of International Studies	288	96	3.0	26,880	80,640	280.00
Undergraduate	BP332	BP332DEV	Bachelor of International Studies (Development)	288	96	3.0	26,880	80,640	280.00



Academic career	Program code	Academic plan	Program name	Total program credit points	Indicative credit points per annum full-time	Total full- time program duration - years	2021 Indicative domestic full-fee place annual tuition fee	2021 Domestic full-fee place total program tuition fee	2021 fee per credit point \$
	BBook	PD00000	Bachelor of International Studies	000	00	0.0	22.222	00.040	222.00
Undergraduate	BP332	BP332GS	(Global Security)	288	96	3.0	26,880	80,640	280.00
Undergraduate	BP332	BP332LAN	Bachelor of International Studies (Languages)	288	96	3.0	26,880	80,640	280.00
Undergraduate	BP334	BP334	Bachelor of Business (Blockchain Enabled Business)	288	96	3.0	27,840	83,520	290.00
Undergraduate	BP335	BP335	Bachelor of Laws	288	96	3.0	27,840	83,520	290.00
Undergraduate	BP336	BP336BLDD	Bachelor of Laws/Bachelor of Business (Information Systems)	480	96	5.0	27,840	139,200	290.00
Undergraduate	BP336	BP336ISDD	Bachelor of Laws/Bachelor of Business (Information Systems)	480	96	5.0	27,840	139,200	290.00
Undergraduate	BP339	BP339BLDD	Bachelor of Laws/Bachelor of Business (Economics and Finance)	504	96	5.0	27,840	146,160	290.00
Undergraduate	BP339	BP339EFDD	Bachelor of Laws/Bachelor of Business (Economics and Finance)	504	96	5.0	27,840	146,160	290.00
Undergraduate	BP340	BP340	Bachelor of Data Science	288	96	3.0	30,720	92,160	320.00
Undergraduate	BP341	BP341	Bachelor of Business Innovation and Enterprise	288	96	3.0	36,480	109,440	380.00
Undergraduate	DP003	DP003	Diploma of Commerce	96	96	1.0	24,960	24,960	260.00
Undergraduate	DP005	DP005	Diploma of Languages	96	96	1.0	24,960	24,960	260.00
Undergraduate	UC002	UC002	Undergraduate Certificate in Environmental Science	48	48	0.5	15,840	15,840	330.00
Undergraduate	UC003	UC003	Undergraduate Certificate in Computer Science	48	48	0.5	15,360	15,360	320.00
Undergraduate	UC004	UC004	Undergraduate Certificate in Biotechnology	48	48	0.5	15,840	15,840	330.00
Undergraduate	UC005	UC005	Undergraduate Certificate in Analytics	48	48	0.5	14,880	14,880	310.00



Academic career	Program code	Academic plan	Program name	Total program credit points	Indicative credit points per annum full-time	Total full- time program duration - years	2021 Indicative domestic full-fee place annual tuition fee	2021 Domestic full-fee place total program tuition fee	2021 fee per credit point \$
11. 1	110000	110000	Undergraduate Certificate in	40	40	0.5	44.000	44.000	040.00
Undergraduate	UC006	UC006	Psychology	48	48	0.5	14,880	14,880	310.00
Undergraduate	XIUG4	XIUG4	X Institute Enrol Inbound to RMIT Business College (UGRD)	96	96	1.0	27,840	27,840	290.00
Undergraduate	XIUG8	XIUG8	X Institute Enrol Inbound to RMIT in Science Engineering and Health College (UGRD)	96	96	1.0	28,800	28,800	300.00
Undergraduate	XIUG9	XIUG9	X Institute Enrol Inbound to RMIT in Design and Social Context College (UGRD)	96	96	1.0	32,640	32,640	340.00
Postgraduate	DC004	DC004	Doctor of Business Administration	288	96	3.0	36,480	109,440	380.00
Postgraduate	GC020	GC020	Graduate Certificate In Tertiary Teaching and Learning	48	48	0.5	10,080	10,080	210.00
Postgraduate	GC024	GC024	Graduate Certificate in Telecommunication and Network Engineering	48	48	0.5	17,280	17,280	360.00
Postgraduate	GC025	GC025	Graduate Certificate in Electronic Engineering	48	48	0.5	17,280	17,280	360.00
Postgraduate	GC034	GC034	Graduate Certificate in Engineering Management	48	48	0.5	17,280	17,280	360.00
Postgraduate	GC035	GC035	Graduate Certificate in Occupational Health and Safety	48	48	0.5	16,320	16,320	340.00
Postgraduate	GC036	GC036	Graduate Certificate in Cyber Security	48	48	0.5	13,920	13,920	290.00
Postgraduate	GC042	GC042	Graduate Certificate in Project Management	48	48	0.5	14,880	14,880	310.00
Postgraduate	GC044	GC044	Graduate Certificate in Careers Education and Development	48	48	0.5	7,680	7,680	160.00
Postgraduate	GC045	GC045	Graduate Certificate in Art in Public Space	48	48	0.5	12,480	12,480	260.00



Academic career	Program code	Academic plan	Program name	Total program credit points	Indicative credit points per annum full-time	Total full- time program duration - years	2021 Indicative domestic full-fee place annual tuition fee	2021 Domestic full-fee place total program tuition fee	2021 fee per credit point \$
5	00047	00047	Graduate Certificate in Business	40	40	0.5	40.700	10.700	000.00
Postgraduate	GC047	GC047	Administration	48	48	0.5	18,720	18,720	390.00
Postgraduate	GC048	GC048	Graduate Certificate in Finance	48	48	0.5	18,720	18,720	390.00
Postgraduate	GC051	GC051	Graduate Certificate in Property	48	48	0.5	14,400	14,400	300.00
Postgraduate	GC053	GC053	Graduate Certificate in Marketing	48	48	0.5	16,320	16,320	340.00
Postgraduate	GC053	GC053	Graduate Certificate in Marketing	48	48	0.5	16,320	16,320	340.00
Postgraduate	GC055	GC055	Graduate Certificate in Supply Chain and Logistics Management	48	48	0.5	16,320	16,320	340.00
Postgraduate	GC075	GC075	Graduate Certificate in Integrated Logistics Management	48	48	0.5	17,280	17,280	360.00
Postgraduate	GC098	GC098	Graduate Certificate in Information Management	48	48	0.5	16,320	16,320	340.00
Postgraduate	GC099	GC099	Graduate Certificate in Business Information Technology	48	48	0.5	16,320	16,320	340.00
Postgraduate	GC104	GC104	Graduate Certificate of Commerce	48	48	0.5	16,320	16,320	340.00
Postgraduate	GC119	GC119	Graduate Certificate in Professional Accounting	48	48	0.5	15,360	15,360	320.00
Postgraduate	GC129	GC129	Graduate Certificate in Business Administration (Executive)	48	48	0.5	19,680	19,680	410.00
Postgraduate	GC131	GC131	Graduate Certificate in International Automotive Engineering	48	48	0.5	17,280	17,280	360.00
Postgraduate	GC142	GC142	Graduate Certificate in Electrical Engineering	48	48	0.5	17,280	17,280	360.00
Postgraduate	GC153	GC153	Graduate Certificate in International Business	48	48	0.5	16,320	16,320	340.00
Postgraduate	GC161	GC161	Graduate Certificate in Human Resource Management	48	48	0.5	16,320	16,320	340.00



Academic career	Program code	Academic plan	Program name	Total program credit points	Indicative credit points per annum full-time	Total full- time program duration - years	2021 Indicative domestic full-fee place annual tuition fee	2021 Domestic full-fee place total program tuition fee	2021 fee per credit point \$
			Graduate Certificate in Energy						
Postgraduate	GC163	GC163	Efficient and Sustainable Building	48	48	0.5	14,400	14,400	300.00
Postgraduate	GC164	GC164	Graduate Certificate in Domestic and Family Violence	48	48	0.5	12,000	12,000	250.00
			Graduate Certificate in Transport						
Postgraduate	GC165	GC165	Safety Investigation	48	48	0.5	17,280	17,280	360.00
Postgraduate	GC166	GC166	Graduate Certificate in Fashion (Entrepreneurship)	48	48	0.5	15,360	15,360	320.00
			Graduate Certificate in Textiles				,	,	
Postgraduate	GC167	GC167	(Forensics)	48	48	0.5	15,360	15,360	320.00
Postgraduate	GC170	GC170	Graduate Certificate in Analytics	48	48	0.5	13,920	13,920	290.00
Postgraduate	GC173	GC173	Graduate Certificate in Data Science	48	48	0.5	14,880	14,880	310.00
Postgraduate	GC176	GC176	Graduate Certificate in Financial Planning	48	48	0.5	15,360	15,360	320.00
			Graduate Certificate in Digital						
Postgraduate	GC179	GC179	Communication Strategy	48	48	0.5	11,520	11,520	240.00
Postgraduate	GC180	GC180	Graduate Certificate in Blockchain Enabled Business	48	48	0.5	16,320	16,320	340.00
Postgraduate	GC180	GC180O	Graduate Certificate in Blockchain Enabled Business	48	48	0.5	16,320	16,320	340.00
1 ootgradate	00100	001000	Graduate Certificate in Service	10	10	0.0	10,020	10,020	0 10.00
Postgraduate	GC181	GC181	Design	48	48	0.5	13,920	13,920	290.00
			Graduate Certificate in Arts				,	,	
Postgraduate	GC184	GC184	Management	48	48	0.5	12,000	12,000	250.00
Postgraduate	GC185	GC185	Graduate Certificate in Translating and Interpreting	48	48	0.5	12,000	12,000	250.00
Postgraduate	GC186	GC186	Graduate Certificate in Biotechnology	48	48	0.5	16,320	16,320	340.00
			Graduate Certificate in Geospatial						
Postgraduate	GC187	GC187	Science	48	48	0.5	13,440	13,440	280.00



Academic career	Program code	Academic plan	Program name	Total program credit points	Indicative credit points per annum full-time	Total full- time program duration - years	2021 Indicative domestic full-fee place annual tuition fee	2021 Domestic full-fee place total program tuition fee	2021 fee per credit point \$
5	00400	00400	Graduate Certificate in Information	40	40	0.5	4.4.000	4.4.000	040.00
Postgraduate	GC188	GC188	Technology	48	48	0.5	14,880	14,880	310.00
Postgraduate	GC189	GC189	Graduate Certificate in Environmental Science and Technology	48	48	0.5	16,320	16,320	340.00
Da ataura di cata	00400	00400	Graduate Certificate in Food	40	40	0.5	40.000	40.000	242.00
Postgraduate	GC190	GC190	Science and Technology	48	48	0.5	16,320	16,320	340.00
Postgraduate	GC191	GC1910	Graduate Certificate in Digital Health	48	48	0.5	14,400	14,400	300.00
Postgraduate	GC192	GC192	Graduate Certificate of Design Innovation and Technology	48	48	0.5	17,280	17,280	360.00
Postgraduate	GC193	GC193	Graduate Certificate in Business Analytics	48	48	0.5	14,880	14,880	310.00
Postgraduate	GD001	GD001	Graduate Diploma in Manufacturing	96	96	1.0	34,560	34,560	360.00
Postgraduate	GD028	GD028	Graduate Diploma in Arts Management	96	96	1.0	24,000	24,000	250.00
Postgraduate	GD040	GD040	Graduate Diploma in Telecommunication and Network Engineering	96	96	1.0	34,560	34,560	360.00
Postgraduate	GD041	GD041	Graduate Diploma in Electronic Engineering	96	96	1.0	34,560	34,560	360.00
Postgraduate	GD042	GD042	Graduate Diploma in Aviation Industry Management	96	96	1.0	34,560	34,560	360.00
Postgraduate	GD049	GD049	Graduate Diploma in Engineering Management	96	96	1.0	34,560	34,560	360.00
Postgraduate	GD052	GD052	Graduate Diploma in Occupational Health and Safety	96	48	2.0	16,320	32,640	340.00
Postgraduate	GD054	GD054	Graduate Diploma in Geospatial Information	96	96	1.0	27,840	27,840	290.00
Postgraduate	GD057	GD057	Graduate Diploma in Computer Science	96	96	1.0	29,760	29,760	310.00



Academic career	Program code	Academic plan	Program name	Total program credit points	Indicative credit points per annum full-time	Total full- time program duration - years	2021 Indicative domestic full-fee place annual tuition fee	2021 Domestic full-fee place total program tuition fee	2021 fee per credit point \$
D	00000	00000	Graduate Diploma in Project	00	0.0	4.0	00.700	00.700	040.00
Postgraduate	GD063	GD063	Management Graduate Diploma in International	96	96	1.0	29,760	29,760	310.00
Postgraduate	GD066	GD066	Development	96	96	1.0	24,000	24,000	250.00
Fosigraduate	GD000	GD000	Graduate Diploma in International	90	90	1.0	24,000	24,000	250.00
			Urban and Environmental						
Postgraduate	GD067	GD067	Management	96	96	1.0	24,000	24,000	250.00
Postgraduate	GD068	GD068	Graduate Diploma in Public Policy	96	96	1.0	24,000	24,000	250.00
_			Graduate Diploma in Careers						
Postgraduate	GD069	GD069	Education and Development	96	96	1.0	15,360	15,360	160.00
Postgraduate	GD070	GD070	Graduate Diploma in Art in Public Space	96	96	1.0	24,960	24,960	260.00
rosigiaduale	GD070	GD070	Space	90	90	1.0	24,900	24,900	200.00
Postgraduate	GD074	GD074	Graduate Diploma in Journalism	96	96	1.0	25,920	25,920	270.00
			Graduate Diploma in Business				,	,	
Postgraduate	GD079	GD079	Administration	96	96	1.0	37,440	37,440	390.00
Postgraduate	GD081	GD081	Graduate Diploma in Finance	96	96	1.0	37,440	37,440	390.00
Do otava di cota	ODOGO	ODOOO	Graduate Diploma in Information	00	00	4.0	20.040	00.040	0.40.00
Postgraduate	GD088	GD088	Management	96	96	1.0	32,640	32,640	340.00
Postgraduate	GD090	GD090	Graduate Diploma in Property	96	96	1.0	28,800	28,800	300.00
T C C I G T C C C C C C C C C C C C C C C C C C			Graduate Diploma in Supply Chain						
Postgraduate	GD093	GD093	and Logistics Management	96	96	1.0	32,640	32,640	340.00
		_							
Postgraduate	GD094	GD094	Graduate Diploma in Marketing	96	96	1.0	32,640	32,640	340.00
Postgraduate	GD094	GD094	Graduate Diploma in Marketing	96	96	1.0	32,640	32,640	340.00
	CD101	CD101	·	96	00				
Postgraduate	GD101	GD101	Graduate Diploma in Biotechnology	96	96	1.0	32,640	32,640	340.00



Academic career	Program code	Academic plan	Program name	Total program credit points	Indicative credit points per annum full-time	Total full- time program duration - years	2021 Indicative domestic full-fee place annual tuition fee	2021 Domestic full-fee place total program tuition fee	2021 fee per credit point \$
Postgraduate	GD101	GD101CLINC	Graduate Diploma in Biotechnology	96	96	1.0	32,640	32,640	340.00
Postgraduate	GD101	GD101ENVIR	Graduate Diploma in Biotechnology	96	96	1.0	32,640	32,640	340.00
Postgraduate	GD101	GD101FOOD	Graduate Diploma in Biotechnology	96	96	1.0	32,640	32,640	340.00
Postgraduate	GD102	GD102	Graduate Diploma in Laboratory Medicine	96	96	1.0	32,640	32,640	340.00
Postgraduate	GD108	GD108	Graduate Diploma in Education (Early Childhood)	96	96	1.0	23,040	23,040	240.00
Postgraduate	GD111	GD111	Graduate Diploma in Analytics	96	96	1.0	27,840	27,840	290.00
Postgraduate	GD120	GD120	Graduate Diploma in Statistics and Operations Research	96	96	1.0	27,840	27,840	290.00
Postgraduate	GD125	GD125	Graduate Diploma in Urban Planning and Environment	96	96	1.0	24,000	24,000	250.00
Postgraduate	GD132	GD132	Graduate Diploma in Food Science and Technology	96	96	1.0	32,640	32,640	340.00
Postgraduate	GD137	GD137	Graduate Diploma in Justice and Criminology	96	96	1.0	24,000	24,000	250.00
Postgraduate	GD140	GD140	Graduate Diploma of Commerce	96	96	1.0	32,640	32,640	340.00
Postgraduate	GD145	GD145	Graduate Diploma in Business Information Technology	96	96	1.0	32,640	32,640	340.00
Postgraduate	GD149	GD149	Graduate Diploma in Sustainable Energy	96	96	1.0	34,560	34,560	360.00
Postgraduate	GD153	GD153	Graduate Diploma in Professional Accounting	96	96	1.0	30,720	30,720	320.00
Postgraduate	GD158	GD158	Graduate Diploma in Mental Health Nursing	96	96	1.0	23,040	23,040	240.00
Postgraduate	GD159	GD159	Graduate Diploma in Child and Family Health Nursing	96	96	1.0	23,040	23,040	240.00



Academic career	Program code	Academic plan	Program name	Total program credit points	Indicative credit points per annum full-time	Total full- time program duration - years	2021 Indicative domestic full-fee place annual tuition fee	2021 Domestic full-fee place total program tuition fee	2021 fee per credit point \$
			Graduate Diploma in Sustainable						
Postgraduate	GD161	GD161	Practice	96	96	1.0	34,560	34,560	360.00
Postgraduate	GD162	GD162	Graduate Diploma in Information Assurance	96	96	1.0	27,840	27,840	290.00
Postgraduate	GD163	GD163	Graduate Diploma in Business Administration (Executive)	96	96	1.0	39,360	39,360	410.00
Postgraduate	GD164	GD164	Graduate Diploma in International Automotive Engineering	96	96	1.0	34,560	34,560	360.00
Postgraduate	GD168	GD168	Graduate Diploma in Translating and Interpreting	96	96	1.0	24,000	24,000	250.00
Postgraduate	GD173	GD173	Graduate Diploma in Electrical Engineering	96	96	1.0	34,560	34,560	360.00
Postgraduate	GD180	GD180	Graduate Diploma in Media	96	96	1.0	25,920	25,920	270.00
Postgraduate	GD181	GD181	Graduate Diploma in Environmental Science and Technology	96	96	1.0	32,640	32,640	340.00
Postgraduate	GD182	GD182	Graduate Diploma in International Sports Technology	96	96	1.0	34,560	34,560	360.00
Postgraduate	GD183	GD183	Graduate Diploma in International Business	96	96	1.0	32,640	32,640	340.00
Postgraduate	GD184	GD184	Graduate Diploma in Urban Design	96	96	1.0	34,560	34,560	360.00
Postgraduate	GD185	GD185	Graduate Diploma in Nanotechnology and Smart Materials	96	96	1.0	32,640	32,640	340.00
Postgraduate	GD186	GD186	Graduate Diploma in Engineering (Micro-Nano Engineering)	96	96	1.0	34,560	34,560	360.00
Postgraduate	GD188	GD188	Graduate Diploma in Information Technology	96	96	1.0	29,760	29,760	310.00
Postgraduate	GD189	GD189	Graduate Diploma in Energy Efficient and Sustainable Building	96	96	1.0	28,800	28,800	300.00



Academic career	Program code	Academic plan	Program name	Total program credit points	Indicative credit points per annum full-time	Total full- time program duration - years	2021 Indicative domestic full-fee place annual tuition fee	2021 Domestic full-fee place total program tuition fee	2021 fee per credit point \$
_			Graduate Diploma in Medical						
Postgraduate	GD190	GD190	Physics	96	96	1.0	32,640	32,640	340.00
Postgraduate	GD191	GD191	Graduate Diploma of Design Innovation and Technology	96	96	1.0	34,560	34,560	360.00
Postgraduate	GD193	GD193	Graduate Diploma of Animation, Games and Interactivity	96	96	1.0	25,920	25,920	270.00
Postgraduate	GD194	GD194	Graduate Diploma in Project Management	96	96	1.0	29,760	29,760	310.00
Postgraduate	GD196	GD196	Graduate Diploma of Communication	96	96	1.0	25,920	25,920	270.00
Postgraduate	GD197	GD197	Graduate Diploma of Advertising	96	96	1.0	26,880	26,880	280.00
Postgraduate	GD198	GD198	Graduate Diploma of Communication Design	96	96	1.0	25,920	25,920	270.00
Postgraduate	GD199	GD199	Graduate Diploma of Writing and Publishing	96	96	1.0	25,920	25,920	270.00
Postgraduate	GD200	GD200	Graduate Diploma in Human Resource Management	96	96	1.0	32,640	32,640	340.00
Postgraduate	GD201	GD201	Graduate Diploma in Aviation	96	96	1.0	34,560	34,560	360.00
Postgraduate	GD202	GD202	Graduate Diploma in Data Science	96	96	1.0	29,760	29,760	310.00
Postgraduate	GD203	GD203	Graduate Diploma of Fashion (Entrepreneurship)	96	96	1.0	30,720	30,720	320.00
Postgraduate	GD204	GD204	Graduate Diploma in Early Childhood Education	96	96	1.0	23,040	23,040	240.00
Postgraduate	GD210	GD210	Graduate Diploma of Interior Design	96	96	1.0	34,560	34,560	360.00
Postgraduate	GD211	GD211	Graduate Diploma in Financial Planning	96	96	1.0	30,720	30,720	320.00
Postgraduate	GD213	GD213	Graduate Diploma in Blockchain Enabled Business	96	96	1.0	32,640	32,640	340.00



Academic career	Program code	Academic plan	Program name	Total program credit points	Indicative credit points per annum full-time	Total full- time program duration - years	2021 Indicative domestic full-fee place annual tuition fee	2021 Domestic full-fee place total program tuition fee	2021 fee per credit point \$
Postgraduate	MC002	MC002	Master of Psychology	192	96	2.0	29,760	59,520	310.00
Postgraduate	MC004	MC004	Master of Statistics and Operations Research	192	96	2.0	27,840	55,680	290.00
Postgraduate	MC024	MC024	Master of Applied Science (Acupuncture)	144	48	3.0	13,440	40,320	280.00
Postgraduate	MC034	MC034	Master of Arts (Arts Management)	144	96	1.5	24,000	36,000	250.00
Postgraduate	MC034	MC034	Master of Arts (Arts Management)	144	96	1.5	24,000	36,000	250.00
Postgraduate	MC058	MC058	Master of Applied Science (Geospatial Information)	144	96	1.5	27,840	41,760	290.00
Postgraduate	MC060	MC060	Master of Computer Science	192	96	2.0	29,760	59,520	310.00
Postgraduate	MC061	MC061P9	Master of Computer Science	144	96	1.5	29,760	44,640	310.00
Postgraduate	MC065	MC065	Master of Project Management	144	96	1.5	29,760	44,640	310.00
Postgraduate	MC078	MC078	Master of Fine Art	144	144	1.0	33,120	33,120	230.00
Postgraduate	MC079	MC079	Master of Arts (Art in Public Space)	144	96	1.5	24,960	37,440	260.00
Postgraduate	MC088	MC088	Master of Business Administration	144	96	1.5	37,440	56,160	390.00
Postgraduate	MC091	MC091	Master of Finance	144	96	1.5	37,440	56,160	390.00
Postgraduate	MC094	MC094	Master of Business (Information Technology)	144	96	1.5	32,640	48,960	340.00
Postgraduate	MC101	MC101	Master of Supply Chain and Logistics Management	144	96	1.5	32,640	48,960	340.00
Postgraduate	MC104	MC104	Master of Business (Property)	144	96	1.5	24,960	37,440	260.00



Academic career	Program code	Academic plan	Program name	Total program credit points	Indicative credit points per annum full-time	Total full- time program duration - years	2021 Indicative domestic full-fee place annual tuition fee	2021 Domestic full-fee place total program tuition fee \$	2021 fee per credit point \$
Postgraduate	MC111	MC111CLINC	Master of Biotechnology	192	96	2.0	32,640	65,280	340.00
Postgraduate	MC111	MC111ENVIR	Master of Biotechnology	192	96	2.0	32,640	65,280	340.00
Postgraduate	MC111	MC111FOOD	Master of Biotechnology	192	96	2.0	32,640	65,280	340.00
Postgraduate	MC133	MC133	Master of Applied Science (Food Science and Technology)	144	96	1.5	32,640	48,960	340.00
Postgraduate	MC135	MC135	Master of Occupational Health and Safety	144	48	3.0	16,320	48,960	340.00
Postgraduate	MC138	MC138	Master of Applied Science (Chinese Herbal Medicine)	144	48	3.0	13,440	40,320	280.00
Postgraduate	MC150	MC150	Master of Social Work	192	96	2.0	24,000	48,000	250.00
Postgraduate	MC158	MC158	Master of Laboratory Medicine	192	96	2.0	32,640	65,280	340.00
Postgraduate	MC159	MC159	Master of Applied Science (Information Security and Assurance)	192	96	2.0	27,840	55,680	290.00
Postgraduate	MC161	MC161	Juris Doctor	288	96	3.0	39,360	118,080	410.00
Postgraduate	MC162	MC162	Master of Business Administration (Executive)	144	96	1.5	39,360	59,040	410.00
Postgraduate	MC163	MC163	Master of Architecture	192	96	2.0	39,360	78,720	410.00
Postgraduate	MC172	MC172	Master of Landscape Architecture (by coursework)	192	96	2.0	34,560	69,120	360.00
Postgraduate	MC179	MC179	Master of Information Management	144	96	1.5	32,640	48,960	340.00
Postgraduate	MC180	MC180	Master of Engineering (Electrical and Electronic Engineering)	192	96	2.0	34,560	69,120	360.00



Academic career	Program code	Academic plan	Program name	Total program credit points	Indicative credit points per annum full-time	Total full- time program duration - years	2021 Indicative domestic full-fee place annual tuition fee	2021 Domestic full-fee place total program tuition fee	2021 fee per credit point \$
Postgraduate	MC188	MC188	Master of Media	192	96	2.0	25,920	51,840	270.00
Postgraduate	MC189	MC189	Master of Engineering (Electronic and Computer Engineering)	192	96	2.0	34,560	69,120	360.00
Postgraduate	MC190	MC190	Master of Science (International Sports Technology)	192	96	2.0	34,560	69,120	360.00
Postgraduate	MC191	MC191	Master of Environmental Science and Technology	192	96	2.0	32,640	65,280	340.00
Postgraduate	MC192	MC192	Master of International Business	192	96	2.0	32,640	65,280	340.00
Postgraduate	MC193	MC193	Master of Urban Design	204	102	2.0	36,720	73,440	360.00
Postgraduate	MC194	MC194	Master of Professional Accounting	192	96	2.0	30,720	61,440	320.00
Postgraduate	MC195	MC195	Master of Strategic Procurement	192	96	2.0	32,640	65,280	340.00
Postgraduate	MC196	MC196	Master of Information Management	192	96	2.0	32,640	65,280	340.00
Postgraduate	MC197	MC197	Master of Marketing	192	96	2.0	32,640	65,280	340.00
Postgraduate	MC198	MC198	Master of Supply Chain and Logistics Management	192	96	2.0	32,640	65,280	340.00
Postgraduate	MC199	MC199	Master of Business Administration	192	96	2.0	37,440	74,880	390.00
Postgraduate	MC200	MC200	Master of Business Information Technology	192	96	2.0	32,640	65,280	340.00
Postgraduate	MC201	MC201	Master of Finance	192	96	2.0	37,440	74,880	390.00
Postgraduate	MC204	MC204	Master of Nanotechnology and Smart Materials	192	96	2.0	32,640	65,280	340.00
Postgraduate	MC205	MC205	Master of Commerce	192	96	2.0	32,640	65,280	340.00



Academic career	Program code	Academic plan	Program name	Total program credit points	Indicative credit points per annum full-time	Total full- time program duration - years	2021 Indicative domestic full-fee place annual tuition fee	2021 Domestic full-fee place total program tuition fee	2021 fee per credit point \$
			Master of Engineering (Micro-Nano						
Postgraduate	MC206	MC206	Engineering)	192	96	2.0	34,560	69,120	360.00
Postgraduate	MC207	MC207	Master of Engineering (Structures and Forensics)	96	96	1.0	34,560	34,560	360.00
Postgraduate	MC208	MC208	Master of Information Technology	192	96	2.0	29,760	59,520	310.00
Postgraduate	MC209	MC209	Master of Energy Efficient and Sustainable Building	192	96	2.0	28,800	57,600	300.00
Postgraduate	MC210	MC210	Master of Project Management	192	96	2.0	29,760	59,520	310.00
Postgraduate	MC211	MC211	Master of International Development	192	96	2.0	24,000	48,000	250.00
Postgraduate	MC212	MC212	Master of Property	192	96	2.0	28,800	57,600	300.00
Postgraduate	MC213	MC213	Master of Fashion (Entrepreneurship)	192	96	2.0	30,720	61,440	320.00
Postgraduate	MC214	MC214	Master of Translating and Interpreting	192	96	2.0	24,000	48,000	250.00
Postgraduate	MC215	MC215	Master of Medical Physics	192	96	2.0	32,640	65,280	340.00
Postgraduate	MC216	MC216	Master of Public Policy	192	96	2.0	24,000	48,000	250.00
Postgraduate	MC219	MC219	Master of Teaching Practice (Primary Education)	192	96	2.0	23,040	46,080	240.00
Postgraduate	MC220	MC220	Master of Teaching Practice (Secondary Education)	192	96	2.0	23,040	46,080	240.00
Postgraduate	MC221	MC221	Master of Urban Planning and Environment	192	96	2.0	24,000	48,000	250.00
Postgraduate	MC222	MC222	Master of International Urban and Environmental Management	192	96	2.0	24,000	48,000	250.00
Postgraduate	MC223	MC223	Master of Justice and Criminology	192	96	2.0	24,000	48,000	250.00



Academic career	Program code	Academic plan	Program name	Total program credit points	Indicative credit points per annum full-time	Total full- time program duration - years	2021 Indicative domestic full-fee place annual tuition fee	2021 Domestic full-fee place total program tuition fee	2021 fee per credit point \$
Destar leste	140004	N40004	Master of Engineering	400	00	0.0	0.4.500	00.400	000.00
Postgraduate	MC224	MC224	(Manufacturing)	192	96	2.0	34,560	69,120	360.00
Postgraduate	MC225	MC225P16	Master of Engineering (Aerospace and Aviation)	192	96	2.0	34,560	69,120	360.00
			Master of Engineering						
Postgraduate	MC226	MC226	(Management)	192	96	2.0	34,560	69,120	360.00
Postgraduate	MC227	MC227	Master of Engineering (Integrated Logistics Management)	192	96	2.0	34,560	69,120	360.00
Postgraduate	MC229	MC229	Master of Engineering (Sustainable Energy)	192	96	2.0	34,560	69,120	360.00
Postgraduate	MC230	MC230	Master of Engineering (International Automotive Engineering) Master of Design Innovation and	192	96	2.0	34,560	69,120	360.00
Postgraduate	MC231	MC231	Technology	192	96	2.0	34,560	69,120	360.00
Postgraduate	MC232	MC232	Master of Animation, Games and Interactivity	192	96	2.0	25,920	51,840	270.00
Postgraduate	MC233	MC233	Master of Engineering (Electronic Engineering)	192	96	2.0	34,560	69,120	360.00
Postgraduate	MC234	MC234	Master of Engineering (Telecommunication and Network Engineering)	192	96	2.0	34,560	69,120	360.00
Postgraduate	MC235	MC235	Master of Engineering (Electrical Engineering)	192	96	2.0	34,560	69,120	360.00
Postgraduate	MC237	MC237	Master of Food Science & Tech	192	96	2.0	32,640	65,280	340.00
Postgraduate	MC238	MC238	Master of Engineering (Airworthiness)	96	96	1.0	34,560	34,560	360.00
Postgraduate	MC240	MC240	Master of Sustainable Practice	192	96	2.0	34,560	69,120	360.00
Postgraduate	MC242	MC242	Master of Analytics	192	96	2.0	27,840	55,680	290.00



Academic career	Program code	Academic plan	Program name	Total program credit points	Indicative credit points per annum full-time	Total full- time program duration - years	2021 Indicative domestic full-fee place annual tuition fee	2021 Domestic full-fee place total program tuition fee	2021 fee per credit point \$
Beating Late	N40044	MOOAA	Master of Engineering (Computer	00	00	4.0	0.4.500	0.4.500	000.00
Postgraduate	MC244	MC244	Aided Engineering and Design)	96	96	1.0	34,560	34,560	360.00
Postgraduate	MC245	MC245	Master of Design Futures	144	144	1.0	36,000	36,000	250.00
Postgraduate	MC246	MC246	Master of Fashion (Design)	192	96	2.0	30,720	61,440	320.00
Postgraduate	MC248	MC248	Master of Communication	192	96	2.0	25,920	51,840	270.00
Postgraduate	MC249	MC249	Master of Advertising	192	96	2.0	26,880	53,760	280.00
Postgraduate	MC250	MC250	Master of Communication Design	192	96	2.0	25,920	51,840	270.00
Postgraduate	MC251	MC251	Master of Disaster, Design and Development	144	96	1.5	33,600	50,400	350.00
Postgraduate	MC254	MC254	Master of Engineering (Environmental Engineering)	192	96	2.0	34,560	69,120	360.00
Postgraduate	MC255	MC255	Master of Engineering (Process Engineering)	192	96	2.0	34,560	69,120	360.00
Postgraduate	MC256	MC256	Master of Engineering (Robotics and Mechatronics Engineering)	192	96	2.0	34,560	69,120	360.00
Postgraduate	MC257	MC257	Master of Engineering (Civil Engineering)	192	96	2.0	34,560	69,120	360.00
Postgraduate	MC258	MC258	Master of Engineering (Mechanical Engineering)	192	96	2.0	34,560	69,120	360.00
Postgraduate	MC259	MC259	Master of Engineering (Electrical)	192	96	2.0	34,560	69,120	360.00
Postgraduate	MC260	MC260	Master of Professional Accounting (CPA Australia Extension)	192	96	2.0	30,720	61,440	320.00
Postgraduate	MC261	MC261	Master of Engineering (Transport Systems Engineering)	192	96	2.0	34,560	69,120	360.00
Postgraduate	MC262	MC262	Master of Writing and Publishing	192	96	2.0	25,920	51,840	270.00



Academic career	Program code	Academic plan	Program name	Total program credit points	Indicative credit points per annum full-time	Total full- time program duration - years	2021 Indicative domestic full-fee place annual tuition fee	2021 Domestic full-fee place total program tuition fee	2021 fee per credit point \$
Postgraduate	MC263	MC263	Master of Human Resource Management	192	96	2.0	32,640	65,280	340.00
Postgraduate	MC264	MC264	Master of Science (International Aviation)	192	96	2.0	34,560	69,120	360.00
Postgraduate	MC265	MC265	Master of Geospatial Science	192	96	2.0	26,880	53,760	280.00
Postgraduate	MC266	MC266	Master of Fine Art	192	96	2.0	24,960	49,920	260.00
Postgraduate	MC267	MC267	Master of Data Science	192	96	2.0	29,760	59,520	310.00
Postgraduate	MC268	MC268	Master of Mental Health Nursing	144	96	1.5	23,040	34,560	240.00
Postgraduate	MC270	MC270	Master of Photography	192	96	2.0	24,960	49,920	260.00
Postgraduate	MC271	MC271	Master of Artificial Intelligence	192	96	2.0	29,760	59,520	310.00
Postgraduate	MC275	MC275	Master of Interior Design	192	96	2.0	34,560	69,120	360.00
Postgraduate	MC276	MC276	Master of Financial Planning	192	96	2.0	30,720	61,440	320.00
Postgraduate	MC277	MC277	Master of Financial Planning (CPA Australia Extension)	192	96	2.0	30,720	61,440	320.00
Postgraduate	MC279	MC279	Master of Blockchain Enabled Business	144	96	1.5	32,640	48,960	340.00
Postgraduate	MC280	MC280	Master of Arts (Arts Management)	192	96	2.0	24,000	48,000	250.00
Postgraduate	MC281	MC281	Master of Arts (Art in Public Space)	192	96	2.0	24,960	49,920	260.00
Postgraduate	XIPG4	XIPG4	X Institute Enrol Inbound to RMIT Business (PGRD)	96	96	1.0	27,840	27,840	290.00



Academic career	Program code	Academic plan	Program name	Total program credit points	Indicative credit points per annum full-time	Total full- time program duration - years	2021 Indicative domestic full-fee place annual tuition fee	2021 Domestic full-fee place total program tuition fee	2021 fee per credit point \$
Postgraduate	XIPG8	XIPG8	X Institute Enrol Inbound to RMIT in Science Engineering and Health College (PGRD)	96	96	1.0	28,800	28,800	300.00
Postgraduate	XIPG9	XIPG9	X Institute Enrol Inbound to RMIT in Design and Social Context College (PGRD)	96	96	1.0	24,960	24,960	260.00
Research	DR200	DR200	PhD (Accountancy)	384	96	4.0	33,600	134,400	350.00
Research	DR201	DR201	PhD (Business Information Systems)	384	96	4.0	33,600	134,400	350.00
Research	DR202	DR202	PhD (Supply Chain & Logistics)	384	96	4.0	33,600	134,400	350.00
Research	DR203	DR203	PhD (Economics, Finance & Marketing)	384	96	4.0	33,600	134,400	350.00
Research	DR204	DR204	PhD (Management)	384	96	4.0	33,600	134,400	350.00
Research	DR205	DR205	PhD (Business)	384	96	4.0	33,600	134,400	350.00
Research	DR206	DR206	PhD (Law)	384	96	4.0	33,600	134,400	350.00
Research	DR207	DR207	PhD (Architecture & Design)	384	96	4.0	33,600	134,400	350.00
Research	DR208	DR208	PhD (Art)	384	96	4.0	30,720	122,880	320.00
Research	DR209	DR209	PhD (Education)	384	96	4.0	27,840	111,360	290.00
Research	DR210	DR210	PhD (Global, Urban & Social Studies)	384	96	4.0	27,840	111,360	290.00
Research	DR211	DR211	PhD (Media & Communication)	384	96	4.0	30,720	122,880	320.00
Research	DR212	DR212	PhD (Built Environment)	384	96	4.0	30,720	122,880	320.00



Academic career	Program code	Academic plan	Program name	Total program credit points	Indicative credit points per annum full-time	Total full- time program duration - years	2021 Indicative domestic full-fee place annual tuition fee	2021 Domestic full-fee place total program tuition fee	2021 fee per credit point \$
Research	DR213	DR213	PhD (Fashion & Textiles)	384	96	4.0	30,720	122,880	320.00
Research	DR215	DR215	PhD (Aerospace Engineering)	384	96	4.0	30,720	122,880	320.00
Research	DR216	DR216	PhD (Mechanical & Manufacturing Engineering)	384	96	4.0	30,720	122,880	320.00
Research	DR217	DR217	PhD (Chemical Engineering)	384	96	4.0	30,720	122,880	320.00
Research	DR218	DR218	PhD (Civil Engineering)	384	96	4.0	30,720	122,880	320.00
Research	DR219	DR219	PhD (Environmental Engineering)	384	96	4.0	30,720	122,880	320.00
Research	DR220	DR220	PhD (Electrical & Electronic Engineering)	384	96	4.0	30,720	122,880	320.00
Research	DR221	DR221	PhD (Computer Science)	384	96	4.0	30,720	122,880	320.00
Research	DR222	DR222	PhD (Mathematical Sciences)	384	96	4.0	30,720	122,880	320.00
Research	DR223	DR223	PhD (Geospatial Sciences)	384	96	4.0	30,720	122,880	320.00
Research	DR224	DR224	PhD (Complementary Medicine)	384	96	4.0	27,840	111,360	290.00
Research	DR225	DR225	PhD (Nursing)	384	96	4.0	27,840	111,360	290.00
Research	DR226	DR226	PhD (Psychology)	384	96	4.0	27,840	111,360	290.00
Research	DR227	DR227	PhD (Biomedical Science)	384	96	4.0	30,720	122,880	320.00
Research	DR228	DR228	PhD (Medical Radiations Science)	384	96	4.0	30,720	122,880	320.00
Research	DR229	DR229	PhD (Applied Chemistry)	384	96	4.0	30,720	122,880	320.00



Academic career	Program code	Academic plan	Program name	Total program credit points	Indicative credit points per annum full-time	Total full- time program duration - years	2021 Indicative domestic full-fee place annual tuition fee	2021 Domestic full-fee place total program tuition fee	2021 fee per credit point \$
Research	DR230	DR230	PhD (Applied Physics)	384	96	4.0	30,720	122,880	320.00
Research	DR231	DR231	PhD (Applied Biology & Biotechnology)	384	96	4.0	30,720	122,880	320.00
Research	DR232	DR232	PhD (Food Science)	384	96	4.0	30,720	122,880	320.00
Research	DR234	DR234	PhD (Laboratory and Clinical Science)	384	96	4.0	27,840	111,360	290.00
Research	DR235	DR235	PhD (Design)	384	96	4.0	33,600	134,400	350.00
Research	MR200	MR200	Master of Business (Accountancy)	192	96	2.0	30,720	61,440	320.00
Research	MR201	MR201	Master of Business (Business Information Systems)	192	96	2.0	30,720	61,440	320.00
Research	MR202	MR202	Master of Business (Supply Chain & Logistics)	192	96	2.0	30,720	61,440	320.00
Research	MR203	MR203	Master of Business (Economics, Finance & Marketing)	192	96	2.0	30,720	61,440	320.00
Research	MR204	MR204	Master of Business (Management)	192	96	2.0	30,720	61,440	320.00
Research	MR205	MR205	Master of Business (Business & Law)	192	96	2.0	30,720	61,440	320.00
Research	MR207	MR207	Master of Design (Architecture & Design)	192	96	2.0	33,600	67,200	350.00
Research	MR208	MR208	Master of Fine Art	192	96	2.0	30,720	61,440	320.00
		MR209		192	96	2.0			
Research	MR209		Master of Education Master of Social Science (Global,				27,840	55,680	290.00
Research	MR210	MR210 MR211	Urban & Social Studies) Master of Design (Media &	192	96 96	2.0	27,840	55,680	290.00
Research	MR211	IVIKZTI	Communication)	192	96	2.0	30,720	61,440	320.00



Academic career	Program code	Academic plan	Program name	Total program credit points	Indicative credit points per annum full-time	Total full- time program duration - years	2021 Indicative domestic full-fee place annual tuition fee	2021 Domestic full-fee place total program tuition fee	2021 fee per credit point \$
			Master of Applied Science (Built						
Research	MR212	MR212	Environment)	192	96	2.0	30,720	61,440	320.00
Research	MR213	MR213	Master of Design (Fashion & Textiles)	192	96	2.0	30,720	61,440	320.00
			Master of Technology (Fashion &						
Research	MR214	MR214	Textiles)	192	96	2.0	30,720	61,440	320.00
Research	MR215	MR215	Master of Engineering (Aerospace Engineering)	192	96	2.0	30,720	61,440	320.00
Research	MR216	MR216	Master of Engineering (Mechanical & Manufacturing Engineering)	192	96	2.0	30,720	61,440	320.00
Research	MR217	MR217	Master of Engineering (Chemical Engineering)	192	96	2.0	30,720	61,440	320.00
Research	MR218	MR218	Master of Engineering (Civil Engineering)	192	96	2.0	30,720	61,440	320.00
Research	MR219	MR219	Master of Engineering (Environmental Engineering)	192	96	2.0	30,720	61,440	320.00
Research	MR220	MR220	Master of Engineering (Electrical & Electronic Engineering)	192	96	2.0	30,720	61,440	320.00
Research	MR221	MR221	Master of Science (Computer Science)	192	96	2.0	30,720	61,440	320.00
Research	MR222	MR222	Master of Science (Mathematical Sciences)	192	96	2.0	30,720	61,440	320.00
Research	MR223	MR223	Master of Science (Geospatial Sciences)	192	96	2.0	30,720	61,440	320.00
Research	MR224	MR224	Master of Science (Complementary Medicine)	192	96	2.0	27,840	55,680	290.00
Research	MR225	MR225	Master of Science (Nursing)	192	96	2.0	27,840	55,680	290.00
Research	MR226	MR226	Master of Science (Psychology)	192	96	2.0	27,840	55,680	290.00
Research	MR227	MR227	Master of Science (Biomedical Science)	192	96	2.0	30,720	61,440	320.00



Academic career	Program code	Academic plan	Program name	Total program credit points	Indicative credit points per annum full-time	Total full- time program duration - years	2021 Indicative domestic full-fee place annual tuition fee	2021 Domestic full-fee place total program tuition fee	2021 fee per credit point \$
			Master of Science (Medical						
Research	MR228	MR228	Radiations Science)	192	96	2.0	30,720	61,440	320.00
			Master of Science (Applied						
Research	MR229	MR229	Chemistry)	192	96	2.0	30,720	61,440	320.00
			Master of Science (Applied						
Research	MR230	MR230	Physics)	192	96	2.0	30,720	61,440	320.00
Research	MR231	MR231	Master of Science (Applied Biology & Biotechnology)	192	96	2.0	30,720	61,440	320.00
Research	MR232	MR232	Master of Science (Food Science)	192	96	2.0	30,720	61,440	320.00
Research	MR233	MR233	Master of Applied Science (Health & Medical Physics)	192	96	2.0	30,720	61,440	320.00
Research	MR234	MR234	Master of Science (Laboratory and Clinical Science)	192	96	2.0	27,840	55,680	290.00
Research	MR235	MR235	Master of Design (Design)	192	96	2.0	31,680	63,360	330.00



Appendix 2 – Domestic vocational education government subsidised & full-fee program fees

- 1. Nominal hours may vary depending on electives chosen by student.
- 2. The student tuition fees as published are subject to change given individual circumstances at enrolment. These are tuition fees only, and do not include the SSAF or any materials fees that may apply.
- 3. Students may be entitled to a concession on their tuition and student services and amenities fees if they are in a Victorian Government subsidised place and meet the eligibility criteria to apply for a concession. If their application for a fee concession is successful, they will be charged a concession rate equivalent to 20% of the tuition fee payable by non-concession students in a government subsidised place for their program. Diploma and advanced diploma students are not eligible for a concession or exemption of tuition fees. However, Aboriginal/Torres Strait Islander students in a government subsidised place are eligible to access fee concessions at all program levels (including diploma, advanced diploma, vocational graduate certificate and vocational graduate diploma programs).
- 4. Programs eligible for the Victorian Government's 'Free TAFE for Priority Courses' scheme have this denoted against their program code in the fee schedule. Eligible students in an eligible program will have their tuition fees waived for their whole program.
- 5. Eligible students under JobTrainer have access to free training in Free TAFE programs. They also have access to low fee training in all JobTrainer programs and will be charged a concession fee of 20% of the standard government subsidised tuition fee for their program. This concession applies to enrolments at any level, including diplomas and advanced diplomas. Apprentices and School-Based Apprentices are not eligible for JobTrainer.
- 6. RPL fees are equivalent to the standard tuition fees for the course/s for which RPL is sought.

Program code	National code	Program name	Duration	Indicative total program nominal hours	Victorian Govt subsidised place – 2021 indicative total program price \$ (no concession)	Victorian Govt subsidised place – 2021 indicative annual fee \$ (no concession)	Victorian Govt subsidised place – 2021 rate per nominal hour \$ (no concession)	Domestic full-fee place – 2021 indicative total program price \$	Domestic full-fee place – 2021 indicative annual fee	Domestic full-fee place – 2021 rate per nominal hour \$
		Course in Introduction to the National Disability Insurance								
C0047	22469VIC	Scheme	0.1	40	95	95	2.37	750	750	18.75
C0048	22521VIC	Course in Gender Equity	0.5	294	2,250	2,250	7.65	5,250	5,250	17.85
C2084	VCE0000001	VCE Units 1 and 2	1.0	900	3,500	3,500	3.88	10,750	10,750	11.94
C2085	VCE0000001	VCE Units 3 and 4 (RMIT)	1.0	900	3,500	3,500	3.88	10,750	10,750	11.94
C2222	22304VIC	Certificate II in Plumbing (Preapprenticeship)	0.5	492	2,250	2,250	4.57	8,750	8,750	17.78
C2222	22304VIC	Certificate II in Plumbing (Preapprenticeship) - Free TAFE program for eligible students	0.5	492						



Program code	National code	Program name	Duration	Indicative total program nominal hours	Victorian Govt subsidised place – 2021 indicative total program price \$ (no concession)	Victorian Govt subsidised place – 2021 indicative annual fee \$ (no concession)	Victorian Govt subsidised place – 2021 rate per nominal hour \$ (no concession)	Domestic full-fee place – 2021 indicative total program price \$	Domestic full-fee place – 2021 indicative annual fee	Domestic full-fee place – 2021 rate per nominal hour \$
		Certificate II in Electrotechnology (Pre-								
C2225	22499VIC	vocational)	0.5	454	2,250	2,250	4.95	9,000	9,000	19.82
32223	22100110	Certificate II in Electrotechnology (Pre- vocational) - Free TAFE	0.0	101	2,200	2,200	1.00	0,000	0,000	10.02
C2225	22499VIC	program for eligible students	0.5	454	-	-	-	-	-	-
C2226	22569VIC	Certificate II in Plumbing (Preapprenticeship)	0.5	492	2,250	2,250	4.57	8,750	8,750	17.78
C2226	22569VIC	Certificate II in Plumbing (Preapprenticeship) - Free TAFE program for eligible students	0.5	492	-	1	-	1	-	-
C3295	UEE32211	Certificate III in Air-conditioning and Refrigeration	3.0	1,080	7,500	2,500	6.94	21,750	7,250	20.13
C3296	UEE30811	Certificate III in Electrotechnology Electrician	4.0	1,100	8,000	2,000	7.27	26,000	6,500	23.63
C3297	UEE31211	Certificate III in Instrumentation and Control	3.0	1,020	6,750	2,250	6.61	17,250	5,750	16.91
C3312	CPC32413	Certificate III in Plumbing	4.0	1,450	9,000	2,250	6.20	27,000	6,750	18.62
C3320	CPC30211	Certificate III in Carpentry	4.0	1,026	7,000	1,750	6.82	22,000	5,500	21.44
C3393	HLT35015	Certificate III in Dental Assisting	1.0	633	3,000	3,000	4.73	6,500	6,500	10.26
C3393	HLT35015	Certificate III in Dental Assisting - Free TAFE program for eligible students	1.0	633	3,000	3,000	7.13	- 0,300	0,500	10.20
		Certificate III in Clothing and				0.0		40.50	0.0	1= 15
C3394	MST30116	Textile Production	2.0	730	4,500	2,250	6.16	12,500	6,250	17.12
C3394	MST30116	Certificate III in Clothing and Textile Production (apprenticeship)	2.0	730	4,500	2,250	6.16	12,500	6,250	17.12



Program code	National code	Program name	Duration	Indicative total program nominal hours	Victorian Govt subsidised place – 2021 indicative total program price \$ (no concession)	Victorian Govt subsidised place – 2021 indicative annual fee \$ (no concession)	Victorian Govt subsidised place – 2021 rate per nominal hour \$ (no concession)	Domestic full-fee place – 2021 indicative total program price \$	Domestic full-fee place – 2021 indicative annual fee	Domestic full-fee place – 2021 rate per nominal hour \$
02200	ALICO4 44C	Certificate III in Conservation	2.0	960	7,000	2.500	7.00	22.500	44.750	24.47
C3396	AHC31416	and Land Management	2.0 0.5	460	7,000	3,500	7.29	23,500	11,750	24.47
C3399	22441VIC	Certificate III in Science Certificate III in Individual	0.5	460	3,500	3,500	7.60	6,750	6,750	14.67
C3401	CHC33015	Support (Ageing)	1.0	660	3,250	3,250	4.92	7,250	7,250	10.98
C3401	CHC33015	Certificate III in Individual Support (Ageing) - Free TAFE program for eligible students	1.0	660	-	-	-	_	-	-
C3402	CHC33015	Cert III in Individual Support (Ageing and Disability)	1.0	755	3,250	3,250	4.30	7,250	7,250	9.60
C3402	CHC33015	Cert III in Individual Support (Ageing and Disability) - Free TAFE program for eligible students	1.0	755		5,230			-,200	
C3402	CHC33015	Cert III in Individual Support (Ageing and Disability) (plan C3402NCO)	1.0	780	3,354	3,354	4.30	7,488	7,488	9.60
C3402	CHC33015	Cert III in Individual Support (Ageing and Disability) (plan C3402NCO) - Free TAFE program for eligible students	1.0	780	-	-	-	-	-	-
C3403	22491VIC	Certificate III in EAL (Further Study)	0.5	520	2,500	2,500	4.80	8,250	8,250	15.86
C3406	MST30119	Certificate III in Clothing and Textile Production	2.0	810	4,500	2,250	5.55	12,500	6,250	15.43
C4274	CPC40110	Certificate IV in Building and Construction (Building)	1.0	820	5,250	5,250	6.40	17,250	17,250	21.03



Program code	National code	Program name	Duration	Indicative total program nominal hours	Victorian Govt subsidised place – 2021 indicative total program price \$ (no concession)	Victorian Govt subsidised place – 2021 indicative annual fee \$ (no concession)	Victorian Govt subsidised place – 2021 rate per nominal hour \$ (no concession)	Domestic full-fee place – 2021 indicative total program price \$	Domestic full-fee place – 2021 indicative annual fee	Domestic full-fee place – 2021 rate per nominal hour \$
		Certificate IV in Building and Construction (Building) - Free TAFE program for eligible								
C4274	CPC40110	students	1.0	820	-	-	-	-	-	-
04045	115540444	Certificate IV in Electrical -	4.0	4 000	0.000	0.050	0.04	00.000	7 000	00.50
C4315	UEE40411	Instrumentation	4.0	1,360	9,000	2,250	6.61	28,000	7,000	20.58
C4315	UEE40411	Certificate IV in Electrical - Instrumentation (apprenticeship)	4.0	1,360	9,000	2,250	6.61	28,000	7,000	20.58
C4317	UEE42211	Certificate IV in Instrumentation and Control	4.0	1,280	13,000	3,250	10.15	36,000	9,000	28.12
C4317	UEE42211	Certificate IV in Instrumentation and Control (apprenticeship)	4.0	1,280	12,000	3,000	9.37	36,000	9,000	28.12
04317	OLLHZZII	Certificate IV in Plumbing and	7.0	1,200	12,000	3,000	5.51	30,000	3,000	20.12
C4338	CPC40912	Services (fire services stream)	2.0	511	3,982	1,991	7.79	12,664	6,332	24.78
C4338	CPC40912	Certificate IV in Plumbing and Services (operations stream)	2.0	659	5,134	2,567	7.79	16,332	8,166	24.78
C4338	CPC40912	Certificate IV in Plumbing and Services (air conditioning and mechanical services stream)	2.0	706	5,500	2,750	7.79	17,500	8,750	24.78
C4338	CPC40912	Certificate IV in Plumbing and Services (fire services stream) - Free TAFE program for eligible students	2.0	511	_	_	_	-	-	-
C4338	CPC40912	Certificate IV in Plumbing and Services (operations stream) - Free TAFE program for eligible students	2.0	659	-	-	-	<u></u> -		-



Program code	National code	Program name	Duration	Indicative total program nominal hours	Victorian Govt subsidised place – 2021 indicative total program price \$ (no concession)	Victorian Govt subsidised place – 2021 indicative annual fee \$ (no concession)	Victorian Govt subsidised place – 2021 rate per nominal hour \$ (no concession)	Domestic full-fee place – 2021 indicative total program price \$	Domestic full-fee place – 2021 indicative annual fee	Domestic full-fee place – 2021 rate per nominal hour \$
		Certificate IV in Plumbing and Services (air conditioning and mechanical services stream) -								
C4338	CPC40912	Free TAFE program for eligible students	2.0	706	_	_	_	_	_	_
C4349	CHC40213	Certificate IV in Education Support	1.0	775	3,750	3,750	4.83	4,250	4,250	5.48
C4349	CHC40213	Certificate IV in Education Support - Free TAFE program for eligible students	1.0	775	-	-	-	-	-	-
C4352	CHC40413	Certificate IV in Youth Work	1.0	1,063	4,500	4,500	4.23	9,750	9,750	9.17
C4352	CHC40413	Certificate IV in Youth Work - Free TAFE program for eligible students	1.0	1,063	-	-	-	-	-	-
C4363	CHC42015	Certificate IV in Community Services	1.0	1,060	4,500	4,500	4.24	9,250	9,250	8.72
C4363	CHC42015	Certificate IV in Community Services - Free TAFE program for eligible students	1.0	1,060	-	-	-	-	-	_
C4364	CHC43215	Certificate IV in Alcohol and Other Drugs	1.0	1,133	4,500	4,500	3.97	10,750	10,750	9.48
C4364	CHC43215	Certificate IV in Alcohol and Other Drugs - Free TAFE program for eligible students	1.0	1,133	-	-	-	-	-	-
C4365	CHC43115	Certificate IV in Disability	1.0	940	3,250	3,250	3.45	9,750	9,750	10.37
C4365	CHC43115	Certificate IV in Disability - Free TAFE program for eligible students	1.0	940	_	_	-		-	-



Program code	National code	Program name	Duration	Indicative total program nominal hours	Victorian Govt subsidised place – 2021 indicative total program price \$ (no concession)	Victorian Govt subsidised place – 2021 indicative annual fee \$ (no concession)	Victorian Govt subsidised place – 2021 rate per nominal hour \$ (no concession)	Domestic full-fee place – 2021 indicative total program price \$	Domestic full-fee place – 2021 indicative annual fee	Domestic full-fee place – 2021 rate per nominal hour \$
C4367	HLT43015	Certificate IV in Allied Health Assistance	1.0	1,020	4,500	4,500	4.41	17,750	17,750	17.40
C4367	HLT43015	Certificate IV in Allied Health Assistance - Free TAFE program for eligible students	1.0	1,020	4,000	4,500	4.41	17,730	17,730	17.40
04307	111143013	Certificate IV in Live Production	1.0	1,020			_		_	-
C4371	CUA40415	and Technical Services	1.0	841	5,000	5,000	5.94	16,000	16,000	19.02
C4373	CUA41115	Certificate IV in Photography and Photo Imaging	1.0	880	5,750	5,750	6.53	16,250	16,250	18.46
C4374	CUA41215	Certificate IV in Screen and Media	1.0	905	5,500	5,500	6.07	15,000	15,000	16.57
C4375	HLT47815	Certificate IV in Optical Dispensing (non-traineeship)	1.0	715	4,750	4,750	6.64	12,750	12,750	17.83
C4375	HLT47815	Certificate IV in Optical Dispensing (traineeship)	1.5	715	4,750	3,167	6.64	12,750	8,500	17.83
C4376	BSB41515	Certificate IV in Project Management Practice	0.5	360	4,500	4,500	12.50	6,250	6,250	17.36
C4377	TAE40116	Certificate IV in Training and Assessment	0.5	330	4,250	4,250	12.87	4,500	4,500	13.63
C4382	CUA40715	Certificate IV in Design	0.5	705	4,000	4,000	5.67	13,250	13,250	18.79
C4382	CUA40715	Certificate IV in Design (traineeship)	0.5	705	4,000	4,000	5.67	13,250	13,250	18.79
C4384	BSB42415	Certificate IV in Marketing & Communication	0.5	570	3,750	3,750	6.57	6,000	6,000	10.52
C4385	HLT45015	Certificate IV in Dental Assisting (Radiography stream)	1.0	490	3,500	3,500	7.14	7,750	7,750	15.81
C4385	HLT45015	Certificate IV in Dental Assisting (Oral Health Promotion stream)	1.0	615	3,500	3,500	5.69	7,750	7,750	12.60



Program code	National code	Program name	Duration	Indicative total program nominal hours	Victorian Govt subsidised place – 2021 indicative total program price \$ (no concession)	Victorian Govt subsidised place – 2021 indicative annual fee \$ (no concession)	Victorian Govt subsidised place – 2021 rate per nominal hour \$ (no concession)	Domestic full-fee place – 2021 indicative total program price \$	Domestic full-fee place – 2021 indicative annual fee	Domestic full-fee place – 2021 rate per nominal hour \$
C4385	HLT45015	Certificate IV in Dental Assisting (Radiography stream) - Free TAFE program for eligible students	1.0	490	_	-	-	_	1	-
		Certificate IV in Dental Assisting (Oral Health Promotion stream) - Free TAFE program for eligible		045						
C4385	HLT45015	students Certificate IV in Tertiary	1.0	615	-	-	-	-	-	-
C4386	22313VIC	Preparation	0.5	530	3,000	3,000	5.66	5,000	5,000	9.43
C4388	CPP40216	Certificate IV in Surveying	0.5	730	5,000	5,000	6.84	9,250	9,250	12.67
C4389	MST40316	Certificate IV in Custom-Made Footwear	1.0	1,380	4,000	4,000	2.89	23,250	23,250	16.84
C4389	MST40316	Certificate IV in Custom-Made Footwear (apprenticeship)	1.0	1,380	4,000	4,000	2.89	23,250	23,250	16.84
C4391	AHC40916	Certificate IV in Conservation and Land Management	2.0	800	7,500	3,750	9.37	16,000	8,000	20.00
C4397	MSL40118	Certificate IV in Laboratory Techniques	1.0	1,020	3,750	3,750	3.67	14,000	14,000	13.72
C4398	FNS40217	Certificate IV in Accounting & Bookkeeping	0.5	655	3,750	3,750	5.72	7,250	7,250	11.06
C4398	FNS40217	Certificate IV in Accounting & Bookkeeping - Free TAFE program for eligible students	0.5	655	-	-	-	-	-	-
C4399	22492VIC	Certificate IV in EAL (Further Study)	0.5	555	2,500	2,500	4.50	7,250	7,250	13.06
C4401	ICT40418	Certificate IV in Information Technology Networking	1.0	810	4,000	4,000	4.93	12,250	12,250	15.12



Program code	National code	Program name	Duration	Indicative total program nominal hours	Victorian Govt subsidised place – 2021 indicative total program price \$ (no concession)	Victorian Govt subsidised place – 2021 indicative annual fee \$ (no concession)	Victorian Govt subsidised place – 2021 rate per nominal hour \$ (no concession)	Domestic full-fee place – 2021 indicative total program price \$	Domestic full-fee place – 2021 indicative annual fee \$	Domestic full-fee place – 2021 rate per nominal hour \$
		Certificate IV in Interior								
C4402	MSF40118	Decoration	1.0	886	4,250	4,250	4.79	14,750	14,750	16.64
04400	IOT40440	Certificate IV in Information	0.0	000	7.400	0.550	7.00	40.040	0.070	40.00
C4403	ICT40118	Technology Certificate IV in Textile Design,	2.0	960	7,100	3,550	7.39	13,340	6,670	13.89
C4404	MST40119	Development and Production	1.0	1,390	3,750	3,750	2.69	19,750	19,750	14.20
04404	100140113	Certificate IV in Professional	1.0	1,550	3,730	3,730	2.00	13,730	13,730	14.20
C4405	CUA40118	Writing and Editing	1.0	690	5,750	5,750	8.33	10,750	10,750	15.57
		Certificate IV in Dental Assisting			-,	-,		-,	-,	
C4406	HLT45015	(Oral Health Promotion)	1.0	615	3,500	3,500	5.69	7,750	7,750	12.60
C4406	HLT45015	Certificate IV in Dental Assisting (Oral Health Promotion) - Free TAFE program for eligible students Certificate IV in Dental Assisting	1.0	615	-	-	-		-	-
C4407	HLT45015	(Radiography)	1.0	390	3,500	3,500	8.97	7,750	7,750	19.87
C4407	HLT45015	Certificate IV in Dental Assisting (Radiography) - Free TAFE program for eligible students	1.0	390	-	-	-	-	-	-
C4408	22334VIC	Certificate IV in Cyber Security	1.0	950	4,500	4,500	4.73	11,000	11,000	11.57
C4408	22334VIC	Certificate IV in Cyber Security - Free TAFE program for eligible students Diploma of Engineering -	1.0	950	-	-	-		-	-
C5322	MEM50212	Technical (Aeronautical)	2.0	1,490	10,000	5,000	6.71	23,500	11,750	15.77
C5323	MEM50212	Diploma of Engineering - Technical (Mechanical)	2.0	1,070	10,000	5,000	9.34	23,500	11,750	21.96
C5331	CHC50413	Diploma of Youth Work	1.0	1,535	5,500	5,500	3.58	11,250	11,250	7.32
C5336	10064NAT	Diploma of Fashion Styling	1.0	1,290	6,250	6,250	4.84	11,250	11,250	8.72



Program code	National code	Program name	Duration	Indicative total program nominal hours	Victorian Govt subsidised place – 2021 indicative total program price \$ (no concession)	Victorian Govt subsidised place – 2021 indicative annual fee \$ (no concession)	Victorian Govt subsidised place – 2021 rate per nominal hour \$ (no concession)	Domestic full-fee place – 2021 indicative total program price \$	Domestic full-fee place – 2021 indicative annual fee \$	Domestic full-fee place – 2021 rate per nominal hour \$
C5337	BSB52015	Diploma of Conveyancing	1.5	800	6,750	4,500	8.43	9,000	6,000	11.25
C5343	FNS50615	Diploma of Financial Planning	1.0	1,015	6,750	6,750	6.65	10,250	10,250	10.09
C5345	CHC52015	Diploma of Community Services	1.0	1,300	5,500	5,500	4.23	10,000	10,000	7.69
C5345	CHC52015	Diploma of Community Services - Free TAFE program for eligible students Diploma of Alcohol and Other	1.0	1,300	-	-	-		-	
C5346	CHC53215	Drugs	1.0	1,613	5,500	5,500	3.40	11,000	11,000	6.81
C5348	CUA51115	Diploma of Visual Arts	1.0	1,015	8,750	8,750	8.62	18,250	18,250	17.98
C5349 C5350	CUA50415 CUA51015	Diploma of Live Production and Technical Services Diploma of Screen and Media	1.0	986 738	8,500 10,500	8,500 10,500	8.62 14.22	18,000 17,750	18,000 17,750	18.25 24.05
C5351 C5352	CUA50915 BSB51415	Diploma of Photography and Photo Imaging Diploma of Project Management	1.0 1.0	920 560	8,500 4,750	8,500 4,750	9.23 8.48	17,750 6,500	17,750 6,500	19.29 11.60
C5352	BSB51415	Diploma of Project Management (traineeship)	1.0	560	4,750	4,750	8.48	6,500	6,500	11.60
C5353	TAE50116	Diploma of Vocational Education and Training Diploma of Training Design and	1.0	455	6,250	6,250	13.73	6,500	6,500	14.28
C5354	TAE50216	Development Development	1.0	465	6,250	6,250	13.44	6,500	6,500	13.97
C5357	HLT52015	Diploma of Remedial Massage	1.5	1,743	15,000	10,000	8.60	25,500	17,000	14.62
C5358	BSB50215	Diploma of Business	1.0	440	8,500	8,500	19.31	10,000	10,000	22.72
C5359	CUA50715	Diploma of Graphic Design	1.0	1,040	7,500	7,500	7.21	15,750	15,750	15.14
C5360	CHC51115	Diploma of Financial Counselling Diploma of Laboratory	1.0	1,470	5,500	5,500	3.74	11,750	11,750	7.99
C5362	MSL50116	Technology (Pathology Testing)	2.0	1,630	13,000	6,500	7.97	30,000	15,000	18.40



Program code	National code	Program name	Duration	Indicative total program nominal hours	Victorian Govt subsidised place – 2021 indicative total program price \$ (no concession)	Victorian Govt subsidised place – 2021 indicative annual fee \$ (no concession)	Victorian Govt subsidised place – 2021 rate per nominal hour \$ (no concession)	Domestic full-fee place – 2021 indicative total program price \$	Domestic full-fee place – 2021 indicative annual fee \$	Domestic full-fee place – 2021 rate per nominal hour \$
0.000		Diploma of Laboratory		4.040	40.000				4= 000	40.00
C5363	MSL50116	Technology (Biotechnology)	2.0	1,610	13,000	6,500	8.07	30,000	15,000	18.63
C5364	PSP50916	Diploma of Interpreting (LOTE- English)	1.0	515	4,500	4,500	8.73	6,250	6,250	12.13
C5364	P3F30910	Diploma of Nursing (Enrolled-	1.0	313	4,500	4,500	0.73	0,230	6,230	12.13
C5365	HLT54115	Division 2 nursing)	2.0	1,730	17,500	8,750	10.11	34,000	17,000	19.65
C5365	HLT54115	Diploma of Nursing (Enrolled- Division 2 nursing) - Free TAFE program for eligible students Diploma of Marketing and	2.0	1,730	-	-	-	-	-	-
C5366	BSB52415	Communications	0.5	660	5,500	5,500	8.33	7,500	7,500	11.36
C5367	AHC51116	Diploma of Conservation and Land Management	2.0	1,350	14,500	7,250	10.74	24,000	12,000	17.77
C5368	CPP50116	Diploma of Surveying	1.0	1,092	9,500	9,500	8.69	18,500	18,500	16.94
C5369	TLI50415	Diploma of Logistics	1.0	1,060	7,500	7,500	7.07	14,250	14,250	13.44
C5371	22284VIC	Diploma of Business (Public Relations) Diploma of International	1.0	595	8,750	8,750	14.70	10,750	10,750	18.06
C5372	BSB50815	Business	1.0	450	8,500	8,500	18.88	10,000	10,000	22.22
C5375	BSB50415	Diploma of Business Administration	1.0	420	8,000	8,000	19.04	10,000	10,000	23.80
C5378	CUA50815	Diploma of Music Industry (Sound Production)	1.0	760	8,500	8,500	11.18	15,000	15,000	19.73
C5379	FNS51815	Diploma of Financial Services	1.0	530	7,750	7,750	14.62	9,750	9,750	18.39
C5381	SIR50217	Diploma of Visual Merchandising	1.0	935	8,250	8,250	8.82	17,000	17,000	18.18
C5382	22446VIC	Diploma of Product Design	2.0	1,631	13,500	6,750	8.27	30,500	15,250	18.70
C5383	22451VIC	Diploma of Teacher Education Preparation	1.0	678	4,250	4,250	6.26	4,250	4,250	6.26



Program code	National code	Program name	Duration	Indicative total program nominal hours	Victorian Govt subsidised place – 2021 indicative total program price \$ (no concession)	Victorian Govt subsidised place – 2021 indicative annual fee \$ (no concession)	Victorian Govt subsidised place – 2021 rate per nominal hour \$ (no concession)	Domestic full-fee place – 2021 indicative total program price \$	Domestic full-fee place – 2021 indicative annual fee \$	Domestic full-fee place – 2021 rate per nominal hour \$
05004	10750045	Diploma of Digital Media	4.0	200	0.750	0.750	40.50	47.750	47.750	40.00
C5384	ICT50915	Technologies	1.0	920	9,750	9,750	10.59	17,750	17,750	19.29
		Diploma of Community Services (Statuatory and forensic child,								
C5385	CHC52015	youth & family welfare)	1.0	1,295	5,500	5,500	4.24	10,000	10,000	7.72
C5385	CHC52015	Diploma of Community Services (Statuatory and forensic child, youth & family welfare) - Free TAFE program for eligible students	1.0	1,295	-	-			_	-
C5387	HLT55118	Diploma of Dental Technology	2.0	1,313	22,000	11,000	16.75	31,500	15,750	23.99
C5387	HLT55118	Diploma of Dental Technology (apprenticeship)	3.0	1,313	17,250	5,750	13.13	31,500	10,500	23.99
C5387	HLT55118	Diploma of Dental Technology (Tasmanian apprentices)	3.0	1,313	17,250	5,750	13.13	31,500	10,500	23.99
C5388	MSL50118	Diploma of Laboratory Technology	1.0	1,440	6,500	6,500	4.51	15,000	15,000	10.41
C5390	FNS50217	Diploma of Accounting	0.5	610	5,500	5,500	9.01	8,500	8,500	13.93
C5390	FNS50217	Diploma of Accounting - Free TAFE program for eligible students	0.5	610	-	-	-	-	-	
C5391	BSB51918	Diploma of Leadership and Management	1.0	700	6,750	6,750	9.64	8,500	8,500	12.14
C5394	ICT50418	Diploma of Information Technology Networking	1.0	1,150	5,500	5,500	4.78	16,000	16,000	13.91
C5395	ICT50118	Diploma of Information Technology	1.0	955	9,250	9,250	9.68	13,750	13,750	14.39
C5396	MSF50218	Diploma of Interior Design	2.0	1,635	14,000	7,000	8.56	30,000	15,000	18.34
C5397	CHC52015	Diploma of Community Services	1.0	1,180	5,500	5,500	4.66	10,000	10,000	8.47



Program code	National code	Program name	Duration	Indicative total program nominal hours	Victorian Govt subsidised place – 2021 indicative total program price \$ (no concession)	Victorian Govt subsidised place – 2021 indicative annual fee \$ (no concession)	Victorian Govt subsidised place – 2021 rate per nominal hour \$ (no concession)	Domestic full-fee place – 2021 indicative total program price \$	Domestic full-fee place – 2021 indicative annual fee	Domestic full-fee place – 2021 rate per nominal hour \$
C5397	CHC52015	Diploma of Community Services - Free TAFE program for eligible students	1.0	1,180	-	-	-	-	-	-
C5397	CHC52015	Diploma of Community Services - plan C5397VALS, 2 years part- time	2.0	1,325	5,500	2,750	4.15	10,000	5,000	7.54
C5397	CHC52015	Diploma of Community Services - plan C5397VALS, 2 years part- time - Free TAFE program for eligible students	2.0	1,325	_	_		_	_	_
C5398	22460VIC	Diploma of Applied Technologies (non-trainees)	1.0	840	5,000	5,000	5.95	12,000	12,000	14.28
C5398	22460VIC	Diploma of Applied Technologies (trainees)	1.0	840	4,500	4,500	5.35	12,000	12,000	14.28
C5399	TLI50219	Diploma of Logistics Diploma of Business (Public	1.0	940	7,500	7,500	7.97	14,250	14,250	15.15
C5400 C5401	22524VIC 10871NAT	Relations) Diploma of Fashion Styling	1.0	595 1,240	8,750 6,250	8,750 6,250	14.70 5.04	10,750 11,250	10,750 11,250	18.06 9.07
C6120	UEE62111	Advanced Diploma of Engineering Technology - Electrical	2.0	2,180	12,500	6,250	5.73	35,500	17,750	16.28
C6121	UEE60411	Advanced Diploma of Computer Systems Engineering	2.0	2,160	12,500	6,250	5.78	38,000	19,000	17.59
C6122	UEE60211	Advanced Diploma of Electronics and Communications Engineering	2.0	2,180	12,500	6,250	5.73	38,000	19,000	17.43



Program code	National code	Program name	Duration	Indicative total program nominal hours	Victorian Govt subsidised place – 2021 indicative total program price \$ (no concession)	Victorian Govt subsidised place – 2021 indicative annual fee \$ (no concession)	Victorian Govt subsidised place – 2021 rate per nominal hour \$ (no concession)	Domestic full-fee place – 2021 indicative total program price \$	Domestic full-fee place – 2021 indicative annual fee	Domestic full-fee place – 2021 rate per nominal hour \$
		Advanced Diploma of								
		Electronics and								
C6122	UEE60211	Communications Engineering (apprenticeship)	2.0	2,180	12,500	6,250	5.73	38,000	19,000	17.43
00122	02200211	Advanced Diploma of	2.0	2,100	12,000	0,200	0.70	00,000	10,000	17.10
C6130	MEM60112	Engineering (Mechanical)	2.0	1,650	12,500	6,250	7.57	33,500	16,750	20.30
		Advanced Diploma of								
C6131	MEM60112	Engineering (Aeronautical)	2.0	1,800	12,500	6,250	6.94	33,500	16,750	18.61
C6140	22283VIC	Advanced Diploma of Business (Public Relations)	1.0	885	8,750	8,750	9.88	11,750	11,750	13.27
00140	22200110	Advanced Diploma of Legal	1.0	000	0,700	0,700	3.00	11,700	11,700	10.27
C6141	22276VIC	Practice	2.0	1,245	16,000	8,000	12.85	23,000	11,500	18.47
C6147	CHC62015	Advanced Diploma of Community Sector Management	1.0	1,070	5,500	5,500	5.14	11,000	11,000	10.28
00440	011400745	Advanced Diploma of Visual	4.0	700	0.050	0.050	44.00	40.500	40.500	00.74
C6149	CUA60715	Arts Advanced Diploma of Music	1.0	730	8,250	8,250	11.30	19,500	19,500	26.71
C6150	CUA60515	Industry (Sound Production)	1.0	930	8,750	8,750	9.40	18,000	18,000	19.35
00100	00/100010	Advanced Diploma of Screen	1.0	000	0,700	0,700	0.10	10,000	10,000	10.00
C6151	CUA60615	and Media	1.0	990	10,000	10,000	10.10	16,250	16,250	16.41
		Advanced Diploma of Screen								
C6151	CUA60615	and Media (Interactive Media)	1.0	820	10,000	10,000	12.19	16,250	16,250	19.81
C6152	CUA60315	Advanced Diploma of Graphic Design	1.0	865	7,000	7,000	8.09	15,750	15,750	18.20
_		Advanced Diploma of			, = = =	, = = =		-, - -		
C6153	PSP60816	Translating	1.0	495	4,750	4,750	9.59	6,500	6,500	13.13
C6154	PSP60916	Advanced Diploma of Interpreting (LOTE-English)	1.0	695	5,500	5,500	7.91	7,500	7,500	10.79
C0104	13F00910	I interpreting (LOTE-English)	1.0	090	5,500	5,500	7.91	7,500	7,500	10.79



Program code	National code	Program name	Duration	Indicative total program nominal hours	Victorian Govt subsidised place – 2021 indicative total program price \$ (no concession)	Victorian Govt subsidised place – 2021 indicative annual fee \$ (no concession)	Victorian Govt subsidised place – 2021 rate per nominal hour \$ (no concession)	Domestic full-fee place – 2021 indicative total program price \$	Domestic full-fee place – 2021 indicative annual fee \$	Domestic full-fee place – 2021 rate per nominal hour \$
001	D0D04045	Advanced Diploma of Marketing								40.70
C6155	BSB61315	and Communication	0.5	650	5,250	5,250	8.07	7,000	7,000	10.76
C6156	CPP60116	Advanced Diploma of Surveying	1.0	770	9,500	9,500	12.33	16,750	16,750	21.75
_		Advanced Diploma of Dental								
C6157	HLT65015	Prosthetics	2.0	1,610	40,000	20,000	24.84	47,000	23,500	29.19
00450	00040\#0	Advanced Diploma of	4.0	055	40.750	40.750	10.57	10.050	40.050	40.00
C6159	22316VIC	Myotherapy	1.0	855	10,750	10,750	12.57	16,250	16,250	19.00
00400	40070NAT	Advanced Diploma of	2.0	4 455	45.000	7.500	10.00	24 500	45.750	24.64
C6160	10678NAT	Professional Screenwriting Advanced Diploma of Building	2.0	1,455	15,000	7,500	10.30	31,500	15,750	21.64
C6161	22477VIC	Design (Architectural)	2.0	2,086	20,500	10,250	9.82	39,500	19,750	18.93
COTOT	22477 VIC	Advanced Diploma of	2.0	2,000	20,300	10,230	9.02	39,300	19,750	10.93
C6162	22479VIC	Engineering Technology (Civil Engineering Design)	2.0	1,750	12,000	6,000	6.85	32,500	16,250	18.57
00400		Advanced Diploma of						40.000	40.000	
C6163	FNS60217	Accounting	1.0	850	7,500	7,500	8.82	12,000	12,000	14.11
C6163	FNS60217	Advanced Diploma of Accounting - Free TAFE program for eligible students	1.0	850	-	-	-	-	-	-
		Advanced Diploma of								
C6164	BSB61115	Conveyancing	1.5	1,090	7,125	4,750	6.53	10,500	7,000	9.63
00405	MOTOGOAG	Advanced Diploma of Textile	4.0	4.050	0.500	0.500	4.04	00.050	00.050	45.00
C6165	MST60219	Design and Development	1.0	1,350	6,500	6,500	4.81	20,250	20,250	15.00
C6166	22526VIC	Advanced Diploma of International Business	1.0	590	6,250	6,250	10.59	8,500	8,500	14.40
C6169	22525VIC	Advanced Diploma of Business (Public Relations)	1.0	935	9,250	9,250	9.89	12,250	12,250	13.10
N0010	0037N0010	Lighting Engineering & Design (full-fee only)	2.0	400	-	-	-	6,000	3,000	15.00



Program code	National code	Program name	Duration	Indicative total program nominal hours	Victorian Govt subsidised place – 2021 indicative total program price \$ (no concession)	Victorian Govt subsidised place – 2021 indicative annual fee \$ (no concession)	Victorian Govt subsidised place – 2021 rate per nominal hour \$ (no concession)	Domestic full-fee place – 2021 indicative total program price \$	Domestic full-fee place – 2021 indicative annual fee	Domestic full-fee place – 2021 rate per nominal hour \$
S0133	0037S0133	Introduction to Interpreting and Translation (full-fee only)	0.5	100	-	-	-	1,500	1,500	15.00
S0146	0037S0146	Interpreting Skills for NAATI Certification (full-fee only)	0.2	100	-	-	-	1,500	1,500	15.00
S0147	0037S0147	Translating Skills for NAATI Certification (full-fee only)	0.2	110	-	-	-	1,650	1,650	15.00
S0148	0037\$0148	Translating and Interpreting Skills for NAATI Certification (full-fee only)	0.2	130	_	_	_	1,950	1,950	15.00
S0155	0037S0155	Provide First Aid (full-fee only)	0.5	20	-		-	85	85	4.25



Appendix 3 – Int'l Onshore higher education, vocational education and preparatory program fees

Career	Program code	Plan code	Program name	Total full- time program duration - years	Total program credit points / nominal hours	Indicative credit points per annum full-time	2021 International Onshore indicative annual tuition fee \$	2021 International Onshore fee per credit point / nominal hour
Preparatory	FS017	FS017BUS	Foundation Studies	1.0	96	96	26,500	276.04
Preparatory	FS017	FS017DSC	Foundation Studies	1.0	96	96	26,500	276.04
Preparatory	FS017	FS017GEN	Foundation Studies	1.0	96	96	26,500	276.04
Preparatory	FS017	FS017STEM	Foundation Studies	1.0	96	96	26,500	276.04
VE	C2084	C2084A	VCE Units 1 and 2	1.0	900	VE	16,750	18.61
VE	C2085	C2085A	VCE Units 3 and 4 (RMIT)	1.0	900	VE	16,750	18.61
VE	C4370	C4370	Certificate IV in Visual Arts	0.5	780	VE	17,750	22.75
VE	C4373	C4373	Certificate IV in Photo Imaging	1.0	880	VE	22,750	25.85
VE	C4382	C4382	Certificate IV in Design	0.5	705	VE	16,750	23.75
VE	C4389	C4389	Certificate IV in Custom made Footwear	1.0	1,380	VE	23,250	16.84
VE	C4390	C4390	Certificate IV in Textile Design and Development	1.0	1,390	VE	21,000	15.10
VE	C4397	C4397	Certificate IV in Laboratory Techniques	1.0	1,020	VE	16,500	16.17
VE	C4398	C4398	Certificate IV in Accounting & Bookkeeping	0.5	655	VE	11,000	16.79
VE	C4404	C4404	Certificate IV in Textile Design, Development & Production	1.0	1,390	VE	21,000	15.10
VE	C5256	C5256A	Diploma of Building and Construction (Building)	2.0	1,890	VE	18,500	19.57



Career	Program code	Plan code	Program name	Total full- time program duration - years	Total program credit points / nominal hours	Indicative credit points per annum full-time	2021 International Onshore indicative annual tuition fee \$	2021 International Onshore fee per credit point / nominal hour
VE	C5329	C5329	Diploma of Product Design	2.0	1,737	VE	22,000	25.33
VE	C5333	C5333ACC	Diploma of Interior Design and Decoration (accelerated, 1.5 years)	1.5	1,629	VE	30,333	27.93
VE	C5333	C5333	Diploma of Interior Design and Decoration	2.0	1,629	VE	22,750	27.93
VE	C5336	C5336	Diploma of Fashion Styling	1.0	1,290	VE	19,250	14.92
VE	C5341	C5341	Diploma of Information Technology	1.0	955	VE	21,500	22.51
VE	C5348	C5348	Diploma of Visual Arts	1.0	1,015	VE	21,250	20.93
VE	C5350	C5350	Diploma of Screen and Media	1.0	738	VE	22,750	30.82
VE	C5351	C5351	Diploma of Photo Imaging	1.0	920	VE	21,500	23.36
VE	C5358	C5358	Diploma of Business	1.0	440	VE	11,000	25.00
VE	C5359	C5359	Diploma of Graphic Design	1.0	1,040	VE	22,000	21.15
VE	C5361	C5361	Diploma of Screen and Media (Interactive Media)	1.0	800	VE	22,750	28.43
VE	C5362	C5362	Diploma of Laboratory Technology (Pathology Testing)	2.0	1,630	VE	18,500	22.69
VE	C5363	C5363	Diploma of Laboratory Technology (Biotechnology)	2.0	1,610	VE	18,500	22.98
VE	C5364	C5364	Diploma of Interpreting	1.0	515	VE	11,500	22.33
VE	C5365	C5365	Diploma of Nursing	2.0	1,730	VE	18,500	21.38
VE	C5367	C5367	Diploma of Conservation and Land Management	2.0	1,350	VE	18,500	27.40



Career	Program code	Plan code	Program name	Total full- time program duration - years	Total program credit points / nominal hours	Indicative credit points per annum full-time	2021 International Onshore indicative annual tuition fee \$	2021 International Onshore fee per credit point / nominal hour
VE	C5372	C5372	Diploma of International Business	1.0	450	VE	21,500	47.77
VE	C5378	C5378	Diploma Music Industry (Sound Production)	1.0	760	VE	22,000	28.94
VE	C5379	C5379	Diploma of Financial Services	1.0	530	VE	21,500	40.56
VE	C5381	C5381	Diploma of Visual Merchandising	1.0	935	VE	24,000	25.66
VE	C5382	C5382	Diploma of Product Design	2.0	1,631	VE	22,000	26.97
VE	C5384	C5384	Diploma of Digital Media Technologies	1.0	920	VE	22,000	23.91
VE	C5388	C5388	Diploma of Laboratory Technology	1.0	1,440	VE	18,500	12.84
VE	C5390	C5390	Diploma of Accounting	0.5	610	VE	11,000	18.03
VE	C5395	C5395	Diploma of Information Technology	1.0	955	VE	21,500	22.51
VE	C5396	C5396	Diploma of Interior Design	2.0	1,635	VE	22,750	27.82
VE	C5400	C5400	Diploma of Business (Public Relations)	1.0	595	VE	11,250	18.90
VE	C5401	C5401	Diploma of Fashion Styling	1.0	1,240	VE	19,250	15.52
VE	C6120	C6120	Advanced Diploma of Engineering Technology - Electrical	2.0	2,180	VE	18,500	16.97
VE	C6121	C6121A	Advanced Diploma of Computer Systems Engineering	2.0	2,160	VE	18,500	17.12
VE	C6122	C6122	Advanced Diploma of Electronics and Communications Engineering	2.0	2,180	VE	18,500	16.97



Career	Program code	Plan code	Program name	Total full- time program duration - years	Total program credit points / nominal hours	Indicative credit points per annum full-time	2021 International Onshore indicative annual tuition fee \$	2021 International Onshore fee per credit point / nominal hour
	00400	00400	Advanced Diploma of	0.0	4.050		40 -00	00.40
VE	C6130	C6130	Engineering (Mechanical)	2.0	1,650	VE	18,500	22.42
VE	C6131	C6131	Advanced Diploma of Engineering (Aeronautical)	2.0	1,800	VE	18,500	20.55
V L	00131	00131	Advanced Diploma of Building	2.0	1,000	V L	10,300	20.55
VE	C6136	C6136	Design (Architectural)	2.5	2,086	VE	22,000	26.36
	00.00	00100	Advanced Diploma of	2.0	2,000	, , ,	22,000	20.00
VE	C6144	C6144	International Business	0.5	490	VE	11,000	22.44
			Advanced Diploma of Visual				,	
VE	C6149	C6149	Arts	1.0	730	VE	21,250	29.10
	_		Advanced Diploma of Sound					
VE	C6150	C6150	Production	1.0	930	VE	21,250	22.84
\/=	00454	00454	Advanced Diploma of Screen	4.0	000	\/_	00.750	00.07
VE	C6151	C6151	and Media Advanced Diploma of Screen	1.0	990	VE	22,750	22.97
VE	C6151	C6151IM	and Media (Interactive Media)	1.0	820	VE	22,750	27.74
V L	C0131	COTSTIIVI	Advanced Diploma of	1.0	020	V L	22,730	21.14
VE	C6153	C6153	Translating	1.0	495	VE	10,000	20.20
	00.00	00.00	Advanced Diploma of			<u> </u>	. 0,000	
VE	C6154	C6154	Interpreting	1.0	695	VE	13,250	19.06
			Advanced Diploma of Textile					
VE	C6158	C6158	Design and Development	1.0	1,430	VE	21,500	15.03
	_		Advanced Diploma of Building					
VE	C6161	C6161	Design (Architectural)	2.0	2,086	VE	27,500	26.36
			Advanced Diploma of					
VE	C6162	C6162	Engineering Technology (Civil	2.0	1 750	VE	10 500	24.44
VE	C6162	C0102	Engineering Design) Advanced Diploma of	2.0	1,750	VE	18,500	21.14
VE	C6163	C6163	Accounting	1.0	850	VE	21,500	25.29
· -	00.00		Advanced Diploma of Textile	1.0	330	, v L	21,000	20.20
VE	C6165	C6165	Design and Development	1.0	1,350	VE	21,500	15.92
			Advanced Diploma of		,		,	
VE	C6166	C6166	International Business	1.0	590	VE	13,250	22.45



Career	Program code	Plan code	Program name	Total full- time program duration - years	Total program credit points / nominal hours	Indicative credit points per annum full-time	2021 International Onshore indicative annual tuition fee \$	2021 International Onshore fee per credit point / nominal hour
	4.5000	10000044	Associate Degree in Information		400		24.222	
Undergraduate	AD006	AD006P11	Technology	2.0	192	96	31,680	330.00
Undergraduate	AD007	AD007	Associate Degree in Design (Furniture)	2.0	192	96	31,680	330.00
Undergraduate	AD010	AD010	Associate Degree in Business	2.0	192	96	29,760	310.00
Undergraduate	AD012	AD012	Associate Degree in Applied Science	2.0	192	96	30,720	320.00
Undergraduate	AD013	AD013	Associate Degree in Fashion and Textile Merchandising	2.0	192	96	31,680	330.00
Undergraduate	AD014	AD014	Associate Degree in Fashion Design and Technology	2.0	192	96	31,680	330.00
Undergraduate	AD016	AD016	Associate Degree in Professional Writing and Editing	2.0	192	96	30,720	320.00
Undergraduate	AD017	AD017	Associate Degree in Screen and Media Production	2.0	192	96	30,720	320.00
Undergraduate	AD019	AD019	Associate Degree in Health Sciences	2.0	192	96	30,720	320.00
Undergraduate	AD020	AD020	Associate Degree in Interior Decoration and Design	2.0	192	96	30,720	320.00
Undergraduate	AD022	AD022	Associate Degree in Graphic Design	2.0	192	96	30,720	320.00
Undergraduate	AD023	AD023A	Associate Degree in Aviation (Professional Pilots)	2.0	192	96	69,120	720.00
Undergraduate	AD026	AD026	Associate Degree in Engineering Technology	2.0	192	96	32,640	340.00
Undergraduate	AD028	AD028	Associate Degree in Digital Technologies (Advanced Manufacturing)	2.0	192	96	32,640	340.00
Undergraduate	BH000	BH000	Bachelor of Applied Science (Psychology) (Honours)	1.0	96	96	35,520	370.00
Undergraduate	BH010	BH010P9	Bachelor of Science (Mathematics) (Honours)	1.0	96	96	34,560	360.00



Career	Program code	Plan code	Program name	Total full- time program duration - years	Total program credit points / nominal hours	Indicative credit points per annum full-time	2021 International Onshore indicative annual tuition fee \$	2021 International Onshore fee per credit point / nominal hour
Lindorgraduata	BH012	BH012P10	Bachelor of Science (Applied	1.0	96	96	26 490	380.00
Undergraduate	ВПОТА	DHU12P1U	Sciences) (Honours) Bachelor of Computer Science	1.0	90	90	36,480	360.00
Undergraduate	BH013	BH013P9	(Honours)	1.0	96	96	36,480	380.00
on a original and a co	2	2.10.0.0	Bachelor of Arts (International				30,100	300.00
Undergraduate	BH049	BH049	Studies) (Honours)	1.0	96	96	28,800	300.00
- U			Bachelor of Health and				,	
Undergraduate	BH058	BH058P18	Biomedical Science (Honours)	1.0	96	96	38,400	400.00
			Bachelor of Justice and					
Undergraduate	BH060	BH060P16	Criminology (Honours)	1.0	96	96	28,800	300.00
			Bachelor of Science (Statistics)					
Undergraduate	BH063	BH063	(Honours)	1.0	96	96	34,560	360.00
Undergraduate	BH064	BH064	Bachelor of Business (Honours)	1.0	96	96	36,480	380.00
			Bachelor of Media and				,	
Undergraduate	BH066	BH066	Communication (Honours)	1.0	96	96	32,640	340.00
Undergraduate	BH067	BH067	Bachelor of Engineering (Electronic Product Design) (Honours)	4.0	384	96	39,360	410.00
Undergraduate	BH068	BH068	Bachelor of Engineering (Adv Manufacturing and Mechatronics) (Honours)	4.0	384	96	39,360	410.00
Undergraduate	BH069	BH069	Bachelor of Engineering (Biomedical Engineering) (Honours)	4.0	384	96	39,360	410.00
Undergraduate	BH070	BH070	Bachelor of Engineering (Mechanical Engineering) (Honours)	4.0	384	96	39,360	410.00
Undergraduate	BH071	BH071P17	Bachelor of Engineering (Electronic and Communication Engineering) (Honours)	4.0	384	96	39,360	410.00



Bachelor of Engineering (Computer and Network 1.0 384 96 39,360	410.00
Undergraduate BH072 Engineering) (Honours) 4.0 384 96 39,360 Undergraduate BH073 BH073 Engineering) (Honours) 4.0 384 96 39,360 Undergraduate BH073 BH073 Engineering) (Honours) 4.0 384 96 39,360 Undergraduate BH074 BH074 (Honours) 4.0 384 96 39,360 Undergraduate BH075 BH075 (Honours) 4.0 384 96 39,360 Undergraduate BH075 BH075 (Honours) 4.0 384 96 39,360 Undergraduate BH076 BH076 Engineering) (Honours) 4.0 384 96 39,360	410.00
Bachelor of Engineering (Electrical and Electronic Engineering) (Honours)	410.00
Undergraduate BH073 BH073 Engineering) (Honours) 4.0 384 96 39,360	1
Bachelor of Engineering (Automotive Engineering) Undergraduate BH074 BH074 (Honours) 4.0 384 96 39,360	
Undergraduate BH074 BH074 (Honours) 4.0 384 96 39,360	410.00
Undergraduate BH074 (Honours) 4.0 384 96 39,360 Undergraduate BH075 BH075 (Electrical Engineering) 4.0 384 96 39,360 Bachelor of Engineering (Sustainable Systems 4.0 384 96 39,360 Undergraduate BH076 BH076 Engineering) (Honours) 4.0 384 96 39,360	
Bachelor of Engineering (Electrical Engineering) (Honours)	440.00
Undergraduate BH075 BH075 (Electrical Engineering)	410.00
Undergraduate BH075 (Honours) 4.0 384 96 39,360 Bachelor of Engineering (Sustainable Systems) (Sustainable Systems) 4.0 384 96 39,360 Undergraduate BH076 BH076 Engineering) (Honours) 4.0 384 96 39,360	
Bachelor of Engineering (Sustainable Systems Undergraduate BH076 BH076 Engineering) (Honours) 4.0 384 96 39,360	410.00
Undergraduate BH076 BH076 Engineering) (Honours) 4.0 384 96 39,360	110100
	410.00
Bachelor of Engineering (Civil	
Undergraduate BH077 BH077 and Infrastructure) (Honours) 4.0 384 96 39,360	410.00
Bachelor of Engineering (Aerospace Engineering)	
Undergraduate BH078 BH078 (Honours) 4.0 384 96 39,360	410.00
Bachelor of Engineering	110.00
(Chemical Engineering)	
Undergraduate BH079 BH079 (Honours) 4.0 384 96 39,360	410.00
Bachelor of Engineering	
Undergraduate BH080 BH080 (Environmental Engineering) 4.0 384 96 39,360	440.00
UndergraduateBH080BH080(Honours)4.03849639,360Bachelor of EngineeringBachelor of Engineering	410.00
(Electrical Engineering)	
(Honours)/Bachelor of Business	
Undergraduate BH081 BH081EEHDD (Management) 5.0 528 106 43,296	410.00
Bachelor of Engineering	1
(Aerospace Engineering)	1
Undergraduate BH082 BH082AEHDD (Management) 5.0 528 106 43,296	



Career	Program code	Plan code	Program name	Total full- time program duration - years	Total program credit points / nominal hours	Indicative credit points per annum full-time	2021 International Onshore indicative annual tuition fee \$	2021 International Onshore fee per credit point / nominal hour
			Bachelor of Engineering (Electrical Engineering)					
Undergraduate	BH083	BH083EEHDD	(Honours)/Bachelor of Commerce	5.0	528	106	43,296	410.00
Ondergraduate	D1 1000	DITOOSELITED	Bachelor of Engineering	3.0	320	100	43,290	410.00
			(Automotive Engineering)					
Undergraduate	BH084	BH084AEHDD	(Honours)/Bachelor of Business (Management)	5.0	528	106	43,296	410.00
g			Bachelor of Engineering				,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	
			(Chemical Engineering) (Honours)/Bachelor of Business					
Undergraduate	BH085	BH085CEHDD	(Management)	5.0	516	103	42,312	410.00
_			Bachelor of Engineering (Adv					
			Manufacturing & Mechatronics)(Hons)/Bachelor					
Undergraduate	BH086	BH086AMHDD	of Business(Intern Bus)	5.0	528	106	43,296	410.00
Undergraduate	BH087	BH087SCBDD	Bachelor of Engineering (Chemical Engineering) (Honours)/Bachelor of Science (Biotechnology)	5.0	516	103	39,216	380.00
Chaorgradate	D11007	Billoor GCBBB	Bachelor of Engineering (Civil	0.0	010	100	00,210	000.00
			and Infrastructure)					
Undergraduate	BH088	BH088CIHDD	(Honours)/Bachelor of Business (Management)	5.0	516	103	42,312	410.00
			Bachelor of Engineering (Mechanical Engineering) (Honours)/Bachelor of Business				,-	
Undergraduate	BH089	BH089MEHDD	(Management)	5.0	528	106	43,296	410.00
			Bachelor of Engineering (Mechanical Engineering) (Honours)/Bachelor of Science					
Undergraduate	BH090	BH090MEHDD	(Biotechnology)	5.0	528	106	43,296	410.00



Career	Program code	Plan code	Program name	Total full- time program duration - years	Total program credit points / nominal hours	Indicative credit points per annum full-time	2021 International Onshore indicative annual tuition fee \$	2021 International Onshore fee per credit point / nominal hour \$
			Bachelor of Engineering (Computer and Network Engineering)					
Undergraduate	BH091	BH091CNHDD	(Honours)/Bachelor of Computer Science	5.0	528	106	43,296	410.00
			Bachelor of Engineering(Sustainable Systems Engineering) (Honours)/Bachelor of				·	
Undergraduate	BH092	BH092SSHDD	Business(Management) Bachelor of Engineering	5.0	528	106	43,296	410.00
Undergraduate	BH093	BH093MEHDD	(Mechanical Engineering)(Honours)/Bachelor of Industrial Design (Honours)	5.0	528	106	43,296	410.00
Undergraduate	BH094	BH094TEHDD	Bachelor of Engineering (Electronic & Communication)(Hons)/Bachelor of Computer Science	5.0	528	106	43,296	410.00
	DLIGGE	DITOGECOD	Bachelor of Environmental Science/Bachelor of Engineering (Environmental Engineering)	5.0	400	00	20,400	200.00
Undergraduate	BH096	BH096ESDD	(Honours) Bachelor of Science(Physics)/Bachelor of Engineering (Electronic & Communication Engineering)	5.0	480	96	36,480	380.00
Undergraduate	BH097	BH097TEHDD	(Hons) Bachelor of Science (Applied Chemistry)/Bachelor of Engineering (Chemical	5.0	528	106	43,296	410.00
Undergraduate	BH098	BH098SACDD	Engineering) (Honours)	5.0	480	96	36,480	380.00



Career	Program code	Plan code	Program name	Total full- time program duration - years	Total program credit points / nominal hours	Indicative credit points per annum full-time	2021 International Onshore indicative annual tuition fee \$	2021 International Onshore fee per credit point / nominal hour
			Bachelor of Science(Food Technology &					
			Nutrition)/Bachelor of					
			Engineering(Chemical					
Undergraduate	BH099	BH099FTNDD	Engineering)(Hons)	5.0	516	103	39,216	380.00
			Bachelor of Engineering					
			(Sustainable Systems					
Undergreducte	BH100	BH100SSHDD	Eng)(Honours)/Bachelor of	5.0	528	106	42.206	440.00
Undergraduate	ВПТОО	םחומפטחום	Industrial Design(Honours) Bachelor of Science (Dean's	5.0	526	106	43,296	410.00
Undergraduate	BH101	BH101	Scholar)(Honours)	4.0	384	96	36,480	380.00
graduate	2		Bachelor of Pharmacy				33, 133	333.33
Undergraduate	BH102	BH102	(Honours)	4.0	384	96	42,240	440.00
			Bachelor of Fashion (Design)					
Undergraduate	BH103	BH103	(Honours)	4.0	384	96	37,440	390.00
I la denene di este	DUIAGA	DUMOADAE	Bachelor of Industrial Design	4.0	204	00	40.000	400.00
Undergraduate	BH104	BH104P15	(Honours) Bachelor of Social Work	4.0	384	96	40,320	420.00
Undergraduate	BH105	BH105	(Honours)	4.0	384	96	30,720	320.00
on dongradate	26	5.1100	Bachelor of Social Work		30.1		00,120	020.00
			(Honours)/Bachelor of Social					
Undergraduate	BH106	BH106SOSDD	Science (Psychology)	5.0	480	96	28,800	300.00
			Bachelor of Engineering					
			(Computer and Network					
			Engineering) (Honours)/Bachelor of Business					
Undergraduate	BH107	BH107CNHDD	(Mgt)	5.0	528	106	43,296	410.00
3.1do.gradato	2	2	Bachelor of Urban and Regional	0.0	020	100	10,200	110.00
Undergraduate	BH108	BH108	Planning (Honours)	4.0	384	96	28,800	300.00
			Bachelor of Engineering					
			(Electrical & Electronic Eng)					
Undergradueta	DU111	DU111	(Honours)/Bachelor of	5.0	528	100	42.200	440.00
Undergraduate	BH111	BH111	Business(Management)	5.0	5∠8	106	43,296	410.00



Career	Program code	Plan code	Program name	Total full- time program duration - years	Total program credit points / nominal hours	Indicative credit points per annum full-time	2021 International Onshore indicative annual tuition fee \$	2021 International Onshore fee per credit point / nominal hour
			Bachelor of Applied Science					
Undergraduate	BH112	BH112	(Project Management) (Honours) (2020-)	4.0	384	96	33,600	350.00
Undergraduate	BH112	BH112	Bachelor of Applied Science (Project Management) (Honours) (2021+)	4.0	384	96	34,560	360.00
			Bachelor of Applied Science (Property and Valuation)					
Undergraduate	BH113	BH113	(Honours) (2020-)	4.0	384	96	33,600	350.00
Undergraduate	BH113	BH113	Bachelor of Applied Science (Property and Valuation) (Honours) (2021+) Bachelor of Applied Science	4.0	384	96	34,560	360.00
Undergraduate	BH114	BH114	(Construction Management) (Honours)	4.0	384	96	34,560	360.00
Undergraduate	BH115	BH115	Bachelor of Interior Design (Honours)	4.0	384	96	40,320	420.00
Ondergraduate	Diffig	DITIO	Bachelor of Applied Science	4.0	304	90	40,320	420.00
Undergraduate	BH116	BH116	(Surveying) (Honours)	4.0	384	96	36,480	380.00
Undergraduate	BH117	BH117	Bachelor of Science (Geospatial Science) (Honours)	4.0	384	96	36,480	380.00
Undergraduate	BH118	BH118AEHDD	Bachelor of Engineering (Automotive Engineering)(Honours)/Bachelor Industrial Design (Honours)	5.0	528	106	43,296	410.00
Undergraduate	BH119	BH119	Bachelor of Analytics (Honours)	4.0	384	96	34,560	360.00
Undergraduate	BH121	BH121	Bachelor of Pharmaceutical Sciences (Honours)	1.0	96	96	38,400	400.00
Undergraduate	BH122	BH122	Bachelor of Engineering(Chemical Engineering)(Honours)/Bachelor of Pharmaceutical Sciences	5.0	516	103	42,312	410.00



Career	Program code	Plan code	Program name	Total full- time program duration - years	Total program credit points / nominal hours	Indicative credit points per annum full-time	2021 International Onshore indicative annual tuition fee \$	2021 International Onshore fee per credit point / nominal hour
Undergraduate	BH124	BH124	Bachelor of Textiles (Design)(Honours)	1.0	96	96	37,440	390.00
Undergraduate	BH125	BH125	Bachelor of Arts (Photography) (Honours)	1.0	96	96	32,640	340.00
Undergraduate	BH126	BH126	Bachelor of Engineering (Honours)	4.0	384	96	39,360	410.00
Undergraduate	BH127	BH127	Bachelor of Fashion (Design) (Honours)	1.0	96	96	37,440	390.00
Undergraduate	BP000	BP000P16	Bachelor of Environment and Society	3.0	288	96	28,800	300.00
Undergraduate	BP023	BP023P16	Bachelor of Criminal Justice	3.0	288	96	28,800	300.00
Undergraduate	BP027	BP027P9	Bachelor of Business (International Business) (Applied) Bachelor of Business	4.0	384	96	36,480	380.00
Undergraduate	BP030	BP030	(Entrepreneurship)	3.0	288	96	36,480	380.00
Undergraduate	BP032	BP032P04	Bachelor of Nursing Bachelor of Applied Science	3.0	288	96	34,560	360.00
Undergraduate	BP041	BP041P15	(Health and Physical Education)	4.0	384	96	35,520	370.00
Undergraduate	BP046	BP046PEC	Bachelor of Education (Primary and Early Childhood Education) Bachelor of Education (Primary	4.0	384	96	27,840	290.00
Undergraduate	BP046	BP046PDS	Education and Disability Studies)	4.0	384	96	27,840	290.00
Undergraduate	BP046	BP046PBU	Bachelor of Education (Primary)	4.0	384	96	27,840	290.00
Undergraduate	BP046	BP046PBR	Bachelor of Education (Primary)	4.0	384	96	27,840	290.00
Undergraduate	BP047	BP047	Bachelor of Arts (Music Industry)	3.0	288	96	30,720	320.00



Career	Program code	Plan code	Program name	Total full- time program duration - years	Total program credit points / nominal hours	Indicative credit points per annum full-time	2021 International Onshore indicative annual tuition fee \$	2021 International Onshore fee per credit point / nominal hour
Undergraduate	BP048	BP048P6	Bachelor of Arts (International Studies)	3.0	288	96	28,800	300.00
Undergraduate	BP070	BP070PL	Bachelor of Applied Science (Aviation)	3.0	288	96	39,360	410.00
Undergraduate	BP070	BP070P6	Bachelor of Applied Science (Aviation)	3.0	288	96	39,360	410.00
Undergraduate	BP083	BP083P10	Bachelor of Science (Mathematics)	3.0	288	96	34,560	360.00
Undergraduate	BP094	BP094GEN8	Bachelor of Computer Science	3.0	288	96	36,480	380.00
Undergraduate	BP096	BP096P8	Bachelor of Software Engineering	4.0	384	96	36,480	380.00
Undergraduate	BP112	BP112	Bachelor of Social Science (Psychology)	3.0	288	96	28,800	300.00
Undergraduate	BP115	BP115P04	Bachelor of Design (Communication Design)	3.0	288	96	37,440	390.00
Undergraduate	BP117	BP117	Bachelor of Arts (Photography)	3.0	288	96	34,560	360.00
Undergraduate	BP121	BP121	Bachelor of Arts (Textile Design) (2021-)	3.0	288	96	34,560	360.00
Undergraduate	BP121	BP121	Bachelor of Arts (Textile Design) (2022+)	3.0	288	96	34,560	360.00
Undergraduate	BP129	BP129P9	Bachelor of Business (Professional Accountancy)	4.0	384	96	36,480	380.00
Undergraduate	BP134	BP134P9	Bachelor of Business (Economics and Finance) (Applied)	4.0	384	96	36,480	380.00
Undergraduate	BP138	BP138P14	Bachelor of Business (Information Systems) (Applied)	4.0	384	96	36,480	380.00
Undergraduate	BP141	BP141P9	Bachelor of Business (Marketing) (Applied)	4.0	384	96	36,480	380.00



Career	Program code	Plan code	Program name	Total full- time program duration - years	Total program credit points / nominal hours	Indicative credit points per annum full-time	2021 International Onshore indicative annual tuition fee \$	2021 International Onshore fee per credit point / nominal hour \$
			Bachelor of Business (Logistics					
Undergraduate	BP143	BP143P9	and Supply Chain Management) (Applied)	4.0	384	96	36,480	380.00
Chacigiadaac	DI 140	DI 1401 0	Bachelor of Biomedical Science	7.0	004		00,400	000.00
Undergraduate	BP147	BP147P12A	(Laboratory Medicine)	4.0	384	96	38,400	400.00
J			Bachelor of Applied Science				,	
Undergraduate	BP148	BP148P03RT	(Medical Radiations)	3.0	288	96	37,440	390.00
			Bachelor of Design (Multimedia					
Undergraduate	BP153	BP153	Systems)	4.0	384	96	38,400	400.00
			Bachelor of Applied Science					
Undergraduate	BP154	BP154	(Psychology)	3.0	288	96	35,520	370.00
			Bachelor of Environmental Science/Bachelor of Business					
Undergraduate	BP161	BP161ESDD6	(Management)	4.0	432	108	41,040	380.00
Oridorgiaddate	Bi 101	DI 101EODDO	Bachelor of Information	7.0	702	100	41,040	000.00
Undergraduate	BP162	BP162OPN9	Technology	3.0	288	96	36,480	380.00
<u> </u>	-		Bachelor of Social Science					
Undergraduate	BP191	BP191P06	(Youth Work)	3.0	288	96	28,800	300.00
			Bachelor of Environmental					
Undergraduate	BP192	BP192P6	Science	3.0	288	96	36,480	380.00
			Bachelor of Environmental					
	DD400	DD400ENIODD	Science/Bachelor of	4.0	004		00.400	200 00
Undergraduate	BP193	BP193ENSDD	Environment and Society	4.0	384	96	36,480	380.00
			Bachelor of Environmental Science/Bachelor of					
Undergraduate	BP193	BP193SOCDD	Environment and Society	4.0	384	96	36,480	380.00
Ondergraduate	DI 193	DI 1933000DD	Bachelor of Science (Food	4.0	304	30	30,400	300.00
Undergraduate	BP199	BP199P7	Technology and Nutrition)	3.0	288	96	36,480	380.00
				2.0			22, .30	223.30
Undergraduate	BP201	BP201P16	Bachelor of Arts (Fine Art)	3.0	288	96	34,560	360.00
			Bachelor of Design (Animation					
Undergraduate	BP203	BP203P14	and Interactive Media)	3.0	288	96	37,440	390.00



Career	Program code	Plan code	Program name	Total full- time program duration - years	Total program credit points / nominal hours	Indicative credit points per annum full-time	2021 International Onshore indicative annual tuition fee \$	2021 International Onshore fee per credit point / nominal hour
Undergraduate	BP204	BP204P16	Bachelor of Legal and Dispute Studies	3.0	288	96	28,800	300.00
Undergraduate	DF204	DF204F10	Bachelor of Fashion (Design	3.0	200	90	20,000	300.00
Undergraduate	BP211	BP211P15	Technology) (2021-)	1.0	96	96	34,560	360.00
Oridergraduate	DIZII	DI ZIII 13	Bachelor of Fashion (Design	1.0	30	30	34,300	300.00
Undergraduate	BP211	BP211P15	Technology) (2022+)	1.0	96	96	34,560	360.00
							3 .,000	333.33
Undergraduate	BP214	BP214P12	Bachelor of Design (Games)	3.0	288	96	36,480	380.00
Undergraduate	BP215	BP215P8	Bachelor of Information Technology (Games and Graphics Programming)	3.0	288	96	36,480	380.00
Undergraduate	BP217	BP217	Bachelor of Business (Management)	3.0	288	96	36,480	380.00
Undergraduate	BP219	BP219P9	Bachelor of Communication (Advertising)	3.0	288	96	32,640	340.00
Undergraduate	BP220	BP220	Bachelor of Communication (Journalism)	3.0	288	96	32,640	340.00
Undergraduate	BP221	BP221ACC	Bachelor of Communication (Media) (accelerated, 2.5 years)	2.5	288	115.2	41,472	360.00
Undergraduate	BP221	BP221	Bachelor of Communication (Media)	3.0	288	96	34,560	360.00
Undergraduate	BP222	BP222ACC	Bachelor of Communication (Professional Communication) (accelerated, 2.5 years)	2.5	288	115	42,624	370.00
Undergraduate	BP222	BP222	Bachelor of Communication (Professional Communication)	3.0	288	96	35,520	370.00
Undergraduate	BP223	BP223	Bachelor of Communication (Public Relations)	3.0	288	96	32,640	340.00
Undergraduate	BP226	BP226P7	Bachelor of Science (Biotechnology)	3.0	288	96	36,480	380.00
Undergraduate	BP229	BP229APCH	Bachelor of Science	3.0	288	96	36,480	380.00



Career	Program code	Plan code	Program name	Total full- time program duration - years	Total program credit points / nominal hours	Indicative credit points per annum full-time	2021 International Onshore indicative annual tuition fee \$	2021 International Onshore fee per credit point / nominal hour
Undergraduate	BP229	BP229P7	Bachelor of Science	3.0	288	96	36,480	380.00
Undergraduate	BP229	BP229BISC	Bachelor of Science	3.0	288	96	36,480	380.00
Undergraduate	BP229	BP229PHYS	Bachelor of Science	3.0	288	96	36,480	380.00
Undergraduate	BP230	BP230	Bachelor of Science (Nanotechnology)	3.0	288	96	36,480	380.00
Undergraduate	BP231	BP231P10	Bachelor of Biomedical Science	3.0	288	96	38,400	400.00
Undergraduate	BP232	BP232P7	Bachelor of Technology (Computing Studies)	3.0	288	96	36,480	380.00
Undergraduate	BP245	BP245	Bachelor of Science (Statistics)	3.0	288	96	34,560	360.00
Undergraduate	BP247	BP247ASCDD	Bachelor of Science (Nanotechnology)/Bachelor of Science (Applied Sciences)	4.0	384	96	36,480	380.00
Undergraduate	BP250	BP250	Bachelor of Architectural Design	3.0	288	96	44,160	460.00
Undergraduate	BP251	BP251	Bachelor of Business (Economics and Finance)	3.0	288	96	36,480	380.00
Undergraduate	BP252	BP252	Bachelor of Business (Marketing)	3.0	288	96	36,480	380.00
Undergraduate	BP253	BP253	Bachelor of Business (International Business)	3.0	288	96	36,480	380.00
Undergraduate	BP254	BP254	Bachelor of Business (Accountancy)	3.0	288	96	36,480	380.00
Undergraduate	BP255	BP255	Bachelor of Business (Logistics and Supply Chain Management)	3.0	288	96	36,480	380.00
Undergraduate	BP256	BP256P15	Bachelor of Landscape Architectural Design	3.0	288	96	40,320	420.00
Undergraduate	BP257	BP257	Bachelor of Arts (Creative Writing)	3.0	288	96	32,640	340.00



Career	Program code	Plan code	Program name	Total full- time program duration - years	Total program credit points / nominal hours	Indicative credit points per annum full-time	2021 International Onshore indicative annual tuition fee \$	2021 International Onshore fee per credit point / nominal hour
			Bachelor of Education (Early					
	BP260	BP260P17	Childhood Education) (2 years	2.0	192	96	20,000	200.00
Undergraduate	BP260	BP260P17	with prior credit) Bachelor of Education (Early	2.0	192	96	28,800	300.00
Undergraduate	BP260	BP260	Childhood Education)	4.0	384	96	28,800	300.00
Oridorgiaddate	B1 200	D1 200	Bachelor of Business (Human	7.0	004	- 50	20,000	000.00
Undergraduate	BP276	BP276	Resource Management)	3.0	288	96	36,480	380.00
Undergraduate	BP278	BP278HSDD	Bachelor of Health Science/Bachelor of Applied Science (Chinese Medicine)	5.0	480	96	35,520	370.00
Undergraduate	BP279	BP279HSDD	Bachelor of Health Science/Bachelor of Applied Science (Osteopathy)	5.0	480	96	35,520	370.00
Undergraduate	BP280	BP280HSDD	Bachelor of Health Science/Bachelor of Applied Science (Chiropractic)	5.0	480	96	35,520	370.00
Undergraduate	BP284	BP284ASADD	Bachelor of Applied Science (Aviation)/Bachelor of Business (Management)	4.0	432	108	44,280	410.00
Undergraduate	BP289	BP289SFTDD	Bachelor of Science (Food Technology)/Bachelor of Business (Management)	4.0	432	108	41,040	380.00
Undergraduate	BP293	BP293SBDD	Bachelor of Science (Biotechnology)/Bachelor of Biomedical Science	4.0	384	96	36,480	380.00
Undergraduate	BP295	BP295P16	Bachelor of Criminology and Psychology	3.0	288	96	28,800	300.00
Undergraduate	BP296	BP296	Bachelor of Applied Science (Exercise and Sport Science)	3.0	288	96	34,560	360.00
Undergraduate	BP305	BP305ASDD	Bachelor of Science (Applied Science)/Bachelor of Business (Management)	4.0	432	108	41,040	380.00



Career	Program code	Plan code	Program name	Total full- time program duration - years	Total program credit points / nominal hours	Indicative credit points per annum full-time	2021 International Onshore indicative annual tuition fee \$	2021 International Onshore fee per credit point / nominal hour \$
			Bachelor of Science (Applied Chemistry)/Bachelor of Business					
Undergraduate	BP305	BP305ACDD	(Management)	4.0	432	108	41,040	380.00
Undergraduate	BP305	BP305BSDD	Bachelor of Science (Biological Sciences)/Bachelor of Business (Management)	4.0	432	108	41,040	380.00
Undergraduate	BP305	BP305BTDD	Bachelor of Science (Biotechnology)/Bachelor of Business (Management)	4.0	432	108	41,040	380.00
Undergraduate	BP305	BP305PHYDD	Bachelor of Science (Physics)/Bachelor of Business (Management)	4.0	432	108	41,040	380.00
Undergraduate	BP308	BP308	Bachelor of Business (Information Systems)	3.0	288	96	36,480	380.00
Undergraduate	BP309	BP309	Bachelor of Design (Digital Media)	3.0	288	96	37,440	390.00
Undergraduate	BP310	BP310	Bachelor of Fashion (Merchandise Management)	1.0	96	96	37,440	390.00
Undergraduate	BP311	BP311	Bachelor of Pharmaceutical Sciences	3.0	288	96	38,400	400.00
Undergraduate	BP313	BP313FPDD	Bachelor of Business (Financial Planning)/ Bachelor of Busines (Accountancy)	4.0	384	96	36,480	380.00
Undergraduate	BP314	BP314	Bachelor of Business (Financial Planning)	3.0	288	96	36,480	380.00
Undergraduate	BP315	BP315	Bachelor of Arts (Welfare and Society)	3.0	288	96	30,720	320.00
Undergraduate	BP319	BP319	Bachelor of Health, Physical Education and Sport (Secondary)	4.0	384	96	34,560	360.00
Undergraduate	BP320	BP320	Bachelor of Education (Primary Education)	4.0	384	96	27,840	290.00



Career	Program code	Plan code	Program name	Total full- time program duration - years	Total program credit points / nominal hours	Indicative credit points per annum full-time	2021 International Onshore indicative annual tuition fee \$	2021 International Onshore fee per credit point / nominal hour
			Bachelor of Education (Primary					
Undergraduate	BP320	BP320PDI	Education and Disability Inclusion)	4.0	384	96	27,840	290.00
Undergraduate	BP320	BP320PDI	Bachelor of Education (Primary	4.0	304	96	27,040	290.00
Undergraduate	BP320	BP320PPE	and Physical Education/Sport)	4.0	384	96	27,840	290.00
<u> </u>			Bachelor of Education (Primary				, -	
Undergraduate	BP320	BP320PEC	and Early Childhood Education)	4.0	384	96	27,840	290.00
	55664		Bachelor of Applied Science		00.4		0= 440	
Undergraduate	BP321	BP321MI	(Medical Radiations)	4.0	384	96	37,440	390.00
Undergraduate	BP321	BP321RT	Bachelor of Applied Science (Medical Radiations)	4.0	384	96	37,440	390.00
Oridorgiaddate	B1 021	DI OZIIKI	Bachelor of Youth Work and	4.0	004	30	01,440	000.00
Undergraduate	BP322	BP322	Youth Studies	3.0	288	96	27,840	290.00
			Bachelor of Business (Digital					
Undergraduate	BP324	BP324	Business)	3.0	288	96	36,480	380.00
Lindoraroduoto	BP326	BP326	Bachelor of Fashion & Textiles	3.0	288	96	27.440	390.00
Undergraduate	DP320	DP320	(Sustainable Innovation)	3.0	200	96	37,440	390.00
Undergraduate	BP327	BP327	Bachelor of Fashion (Enterprise)	3.0	288	96	37,440	390.00
<u> </u>							,	
Undergraduate	BP328	BP328	Bachelor of Fashion (Design)	3.0	288	96	37,440	390.00
Lla de seus direte	DDOO	DDOOO	Bachelor of Social Science	2.0	000	00	00.000	200.00
Undergraduate	BP329	BP329	(Urban Policy)	3.0	288	96	28,800	300.00
Undergraduate	BP330	BP330	Bachelor of Space Science	3.0	288	96	36,480	380.00
- U							·	
Undergraduate	BP331	BP331	Bachelor of Analytics	3.0	288	96	34,560	360.00
Undergraduate	BP332	BP332	Bachelor of International Studies	3.0	288	96	28,800	300.00
Undergraduate	BP334	BP334	Bachelor of Business (Blockchain Enabled Business)	3.0	288	96	36,480	380.00
Undergraduate	BP335	BP335	Bachelor of Laws	3.0	288	96	36,480	380.00



Career	Program code	Plan code	Program name	Total full- time program duration - years	Total program credit points / nominal hours	Indicative credit points per annum full-time	2021 International Onshore indicative annual tuition fee \$	2021 International Onshore fee per credit point / nominal hour
Undergraduate	BP336	BP336BLDD	Bachelor of Laws/Bachelor of Business (Information Systems)	5.0	480	96	36,480	380.00
Undergraduate	BP336	BP336ISDD	Bachelor of Laws/Bachelor of Business (Information Systems)	5.0	480	96	36,480	380.00
Undergraduate	BP339	BP339BLDD	Bachelor of Laws/Bachelor of Business (Economics and Finance) Bachelor of Laws/Bachelor of	5.0	504	96	36,480	380.00
Undergraduate	BP339	BP339EFDD	Business (Economics and Finance)	5.0	504	96	36,480	380.00
Undergraduate	BP340	BP340	Bachelor of Data Science - Science	3.0	288	96	34,560	360.00
Undergraduate	BP341	BP341	Bachelor of Business Innovation and Enterprise	3.0	288	96	36,480	380.00
Undergraduate	DP003	DP003	Diploma of Commerce	1.0	96	96	28,800	300.00
Undergraduate	DP005	DP005	Diploma of Languages	1.0	96	96	28,800	300.00
	PDO47	PDOVE	Diploma of Flying (Pilot Cadetship) - Fees for this program are charged at the course level rather than program level, and fees for some courses may be more/less than \$909.54 per credit point. See		400	400		000.54
Undergraduate	DP017	DP017	Appendix 5. Study Abroad Enrolments	1.0	108	108	98,230	909.54
Undergraduate	SAUGD	STUDABUGRD	(Inbound) UGRD X Institute Enrol Inbound to	1.0	96	96	18,240	190.00
Undergraduate	XIUG4	XIUG4	RMIT Business (UGRD)	1.0	96	96	36,480	380.00
Undergraduate	XIUG8	XIUG8	X Institute Enrol Inbound to RMIT in Science Engineering and Health College (UGRD)	1.0	96	96	36,480	380.00



Career	Program code	Plan code	Program name	Total full- time program duration - years	Total program credit points / nominal hours	Indicative credit points per annum full-time	2021 International Onshore indicative annual tuition fee \$	2021 International Onshore fee per credit point / nominal hour
			X Institute Enrol Inbound to					
Undergraduate	XIUG9	XIUG9	RMIT in Design and Social Context College (UGRD)	1.0	96	96	37,440	390.00
gg.			Graduate Certificate in Project					333133
Postgraduate	GC042	GC042P03PM	Management	0.5	48	48	20,640	430.00
Postgraduate	GC045	GC045	Graduate Certificate in Art in Public Space	0.5	48	48	16,320	340.00
Posigraduate	GC045	GC045	Graduate Certificate in Business	0.5	40	40	10,320	340.00
Postgraduate	GC047	GC047P6	Administration	0.5	48	48	22,560	470.00
Postgraduate	GC048	GC048	Graduate Certificate in Finance	0.5	48	48	20,160	420.00
Postgraduate	GC051	GC051P6	Graduate Certificate in Property	0.5	48	48	20,640	430.00
Postgraduate	GC053	GC053	Graduate Certificate in Marketing	0.5	48	48	20,160	420.00
			Graduate Certificate in Supply				,	
Destaraduate	00055	CCOFFD42	Chain and Logistics	0.5	40	40	40.000	440.00
Postgraduate	GC055	GC055P13	Management Graduate Certificate in Business	0.5	48	48	19,680	410.00
Postgraduate	GC099	GC099P12B	Information Technology	0.5	48	48	19,680	410.00
l congressions			Graduate Certificate of					
Postgraduate	GC104	GC104	Commerce	0.5	48	48	20,160	420.00
Destaraduate	00440	GC119	Graduate Certificate in	0.5	48	40	20.400	420.00
Postgraduate	GC119	GC119	Professional Accounting Graduate Certificate in Business	0.5	48	48	20,160	420.00
Postgraduate	GC129	GC129	Administration (Executive)	0.5	48	48	23,040	480.00
			Graduate Certificate in					
Postgraduate	GC153	GC153	International Business	0.5	48	48	19,680	410.00
Postgraduate	GC161	GC161	Graduate Certificate in Human Resource Management	0.5	48	48	19,680	410.00
. ooigraduate	30101	30101	Graduate Certificate in Energy	0.0	70	70	10,000	410.00
			Efficient and Sustainable					
Postgraduate	GC163	GC163	Building	0.5	48	48	20,640	430.00



Career	Program code	Plan code	Program name	Total full- time program duration - years	Total program credit points / nominal hours	Indicative credit points per annum full-time	2021 International Onshore indicative annual tuition fee \$	2021 International Onshore fee per credit point / nominal hour
Destar Late	00404	00404	Graduate Certificate in Domestic	٥٠	40	40	45.000	000.00
Postgraduate	GC164	GC164	and Family Violence	0.5	48	48	15,360	320.00
Postgraduate	GC165	GC165	Graduate Certificate in Transport Safety Investigation	0.5	48	48	19,680	410.00
Postgraduate	GC166	GC166	Graduate Certificate in Fashion (Entrepreneurship)	0.5	48	48	17,280	360.00
Postgraduate	GC167	GC167	Graduate Certificate in Textiles (Forensics)	0.5	48	48	17,280	360.00
Postgraduate	GC173	GC173	Graduate Certificate in Data Science	0.5	48	48	18,240	380.00
Postgraduate	GC180	GC180	Graduate Certificate in Blockchain Enabled Business	0.5	48	48	19,680	410.00
Postgraduate	GC184	GC184	Graduate Certificate in Arts Management	0.5	48	48	16,320	340.00
Postgraduate	GC185	GC185	Graduate Certificate in Translating and Interpreting	0.5	48	48	15,840	330.00
Postgraduate	GC189	GC189	Graduate Certificate in Environmental Science and Technology Graduate Diploma in Arts	0.5	48	48	18,720	390.00
Postgraduate	GD028	GD028	Management	1.0	96	96	32,640	340.00
Postgraduate	GD066	GD066	Graduate Diploma in International Development	1.0	96	96	31,680	330.00
Postgraduate	GD067	GD067	Graduate Diploma in International Urban and Environmental Management	1.0	96	96	31,680	330.00
Postgraduate	GD070	GD070	Graduate Diploma in Art in Public Space	1.0	96	96	32,640	340.00
Postgraduate	GD074	GD074P5	Graduate Diploma in Journalism	1.0	96	96	26,880	280.00
Postgraduate	GD090	GD090P6	Graduate Diploma in Property	1.0	96	96	41,280	430.00



Career	Program code	Plan code	Program name	Total full- time program duration - years	Total program credit points / nominal hours	Indicative credit points per annum full-time	2021 International Onshore indicative annual tuition fee \$	2021 International Onshore fee per credit point / nominal hour
Postgraduate	GD094	GD094	Graduate Diploma in Marketing	1.0	96	96	40,320	420.00
Postgraduate	GD102	GD102	Graduate Diploma in Laboratory Medicine	1.0	96	96	39,360	410.00
Postgraduate	GD108	GD108P05	Graduate Diploma in Education (Early Childhood)	1.0	96	96	29,760	310.00
Postgraduate	GD125	GD125	Graduate Diploma in Urban Planning and Environment	1.0	96	96	31,680	330.00
Postgraduate	GD137	GD137	Graduate Diploma in Justice and Criminology	1.0	96	96	31,680	330.00
Postgraduate	GD140	GD140	Graduate Diploma of Commerce	1.0	96	96	40,320	420.00
Postgraduate	GD158	GD158	Graduate Diploma in Mental Health Nursing	1.0	96	96	29,760	310.00
Postgraduate	GD168	GD168P13	Graduate Diploma in Translating and Interpreting	1.0	96	96	31,680	330.00
Postgraduate	GD180	GD180	Graduate Diploma in Media	1.0	96	96	34,560	360.00
Postgraduate	GD184	GD184	Graduate Diploma in Urban Design	1.0	96	96	41,280	430.00
Postgraduate	GD189	GD189	Graduate Diploma in Energy Efficient and Sustainable Building	1.0	96	96	41,280	430.00
Postgraduate	GD193	MC232	Graduate Diploma of Animation, Games and Interactivity	1.0	96	96	32,640	340.00
Postgraduate	GD194	GD194	Graduate Diploma in Project Management	1.0	96	96	41,280	430.00
Postgraduate	GD196	GD196	Graduate Diploma of Communication	1.0	96	96	34,560	360.00
Postgraduate	GD197	GD197	Graduate Diploma of Advertising	1.0	96	96	32,640	340.00
Postgraduate	GD198	GD198	Graduate Diploma of Communication Design	1.0	96	96	34,560	360.00



Career	Program code	Plan code	Program name	Total full- time program duration - years	Total program credit points / nominal hours	Indicative credit points per annum full-time	2021 International Onshore indicative annual tuition fee \$	2021 International Onshore fee per credit point / nominal hour
Postgraduate	GD199	GD199	Graduate Diploma of Writing and Publishing	1.0	96	96	32,640	340.00
Postgraduate	GD203	GD203	Graduate Diploma of Fashion (Entrepreneurship)	1.0	96	96	34,560	360.00
Postgraduate	GD204	GD204	Graduate Diploma in Early Childhood Education	1.0	96	96	29,760	310.00
Postgraduate	GD210	GD210	Graduate Diploma of Interior Design	1.0	96	96	40,320	420.00
Postgraduate	GD213	GD213	Graduate Diploma in Blockchain Enabled Business	1.0	96	96	39,360	410.00
Postgraduate	MC002	MC002P16	Master of Psychology	2.0	192	96	36,480	380.00
Postgraduate	MC004	MC004P12	Master of Statistics and Operations Research	2.0	192	96	33,600	350.00
Postgraduate	MC034	MC034P8	Master of Arts (Arts Management)	1.5	144	96	32,640	340.00
Postgraduate	MC058	MC058	Master of Applied Science (Geospatial Information)	1.5	144	96	35,520	370.00
Postgraduate	MC060	MC060	Master of Computer Science	2.0	192	96	36,480	380.00
Postgraduate	MC061	MC061P14	Master of Computer Science	1.5	144	96	36,480	380.00
Postgraduate	MC078	MC078	Master of Fine Art	1.0	144	144	36,000	250.00
Postgraduate	MC079	MC079	Master of Arts (Art in Public Space)	1.5	144	96	32,640	340.00
Postgraduate	MC111	MC111P03	Master of Biotechnology	2.0	192	96	37,440	390.00
Postgraduate	MC111	MC111FOOD	Master of Biotechnology (Clinical Microbiol)	2.0	192	96	37,440	390.00
Postgraduate	MC133	MC133	Master of Applied Science (Food Science and Technology)	1.5	144	96	37,440	390.00



Career	Program code	Plan code	Program name	Total full- time program duration - years	Total program credit points / nominal hours	Indicative credit points per annum full-time	2021 International Onshore indicative annual tuition fee \$	2021 International Onshore fee per credit point / nominal hour
Postgraduate	MC150	MC150P15	Master of Social Work	2.0	192	96	31,680	330.00
Postgraduate	MC158	MC158	Master of Laboratory Medicine	2.0	192	96	39,360	410.00
Postgraduate	MC159	MC159P18	Master of Applied Science (Information Security and Assurance)	2.0	192	96	35,520	370.00
Postgraduate	MC161	MC161	Juris Doctor	3.0	288	96	46,080	480.00
Postgraduate	MC162	MC162P15	Master of Business Administration (Executive)	1.5	144	96	46,080	480.00
Postgraduate	MC163	MC163	Master of Architecture	2.0	192	96	43,200	450.00
Postgraduate	MC172	MC172	Master of Landscape Architecture (by coursework)	2.0	192	96	41,280	430.00
Postgraduate	MC180	MC180	Master of Engineering (Electrical and Electronic Engineering)	2.0	192	96	39,360	410.00
Postgraduate	MC188	MC188	Master of Media	2.0	192	96	34,560	360.00
Postgraduate	MC190	MC190	Master of Science (International Sports Technology)	2.0	192	96	39,360	410.00
Postgraduate	MC191	MC191	Master of Environmental Science and Technology	2.0	192	96	37,440	390.00
Postgraduate	MC192	MC192EXE15	Master of International Business (with advanced standing)	1.5	144	96	39,360	410.00
Postgraduate	MC192	MC192P15	Master of International Business	2.0	192	96	39,360	410.00
Postgraduate	MC193	MC193	Master of Urban Design	2.0	204	102	43,860	430.00
Postgraduate	MC194	MC194EXE15	Master of Professional Accounting (with advanced standing)	1.5	144	96	40,320	420.00



Career	Program code	Plan code	Program name	Total full- time program duration - years	Total program credit points / nominal hours	Indicative credit points per annum full-time	2021 International Onshore indicative annual tuition fee \$	2021 International Onshore fee per credit point / nominal hour
Destareduete	MC194	MC104D15	Master of Professional	2.0	192	06	40.220	420.00
Postgraduate	IVIC 194	MC194P15	Accounting Master of Strategic Procurement	2.0	192	96	40,320	420.00
Postgraduate	MC195	MC195EXE15	(with advanced standing)	1.5	144	96	40,320	420.00
Postgraduate	MC195	MC195P15	Master of Strategic Procurement	2.0	192	96	40,320	420.00
Postgraduate	MC196	MC196EXE15	Master of Information Management (with advanced standing)	1.5	144	96	39,360	410.00
Postgraduate	MC196	MC196P15	Master of Information Management	2.0	192	96	39,360	410.00
Postgraduate	MC197	MC197EXE15	Master of Marketing (with advanced standing)	1.5	144	96	40,320	420.00
Postgraduate	MC197	MC197P15	Master of Marketing	2.0	192	96	40,320	420.00
Postgraduate	MC198	MC198EXE15	Master of Supply Chain and Logistics Management (with advanced standing)	1.5	144	96	39,360	410.00
Postgraduate	MC198	MC198P15	Master of Supply Chain and Logistics Management	2.0	192	96	39,360	410.00
Postgraduate	MC199	MC199EXE15	Master of Business Administration (with advanced standing)	1.5	144	96	45,120	470.00
Postgraduate	MC199	MC199P15	Master of Business Administration	2.0	192	96	45,120	470.00
Postgraduate	MC200	MC200EXE15	Master of Business Information Technology (with advanced standing) Master of Business Information	1.5	144	96	39,360	410.00
Postgraduate	MC200	MC200P15	Technology	2.0	192	96	39,360	410.00
Postgraduate	MC201	MC201EXE15	Master of Finance (with advanced standing)	1.5	144	96	40,320	420.00



Career	Program code	Plan code	Program name	Total full- time program duration - years	Total program credit points / nominal hours	Indicative credit points per annum full-time	2021 International Onshore indicative annual tuition fee \$	2021 International Onshore fee per credit point / nominal hour
Postgraduate	MC201	MC201P15	Master of Finance	2.0	192	96	40,320	420.00
Postgraduate	MC204	MC204	Master of Nanotechnology and Smart Materials	2.0	192	96	37,440	390.00
Postgraduate	MC205	MC205EXE15	Master of Commerce (with advanced standing)	1.5	144	96	40,320	420.00
Postgraduate	MC205	MC205P15	Master of Commerce	2.0	192	96	40,320	420.00
Postgraduate	MC206	MC206	Master of Engineering (Micro- Nano Engineering)	2.0	192	96	39,360	410.00
Postgraduate	MC207	MC207	Master of Engineering (Structures and Forensics)	1.0	96	96	39,360	410.00
Postgraduate	MC208	MC208	Master of Information Technology	2.0	192	96	36,480	380.00
Postgraduate	MC209	MC209	Master of Energy Efficient and Sustainable Building (2017-)	2.0	192	96	38,400	400.00
Postgraduate	MC209	MC209	Master of Energy Efficient and Sustainable Building (2018+)	2.0	192	96	41,280	430.00
Postgraduate	MC210	MC210PM	Master of Project Management	2.0	192	96	41,280	430.00
Postgraduate	MC210	MC210EN	Master of Project Management (Engineering)	2.0	192	96	41,280	430.00
Postgraduate	MC210	MC210IT	Master of Project Management (Information Technology)	2.0	192	96	41,280	430.00
Postgraduate	MC210	MC210PDPM	Master of Project Management (Post Disaster Project Management) Master of International	2.0	192	96	41,280	430.00
Postgraduate	MC211	MC211	Development Development	2.0	192	96	31,680	330.00
Postgraduate	MC212	MC212	Master of Property (2017-)	2.0	192	96	38,400	400.00
Postgraduate	MC212	MC212	Master of Property (2018+)	2.0	192	96	41,280	430.00



Career	Program code	Plan code	Program name	Total full- time program duration - years	Total program credit points / nominal hours	Indicative credit points per annum full-time	2021 International Onshore indicative annual tuition fee \$	2021 International Onshore fee per credit point / nominal hour
Postgraduate	MC213	MC213P15	Master of Fashion (Entrepreneurship)	2.0	192	96	34,560	360.00
Fosigraduate	MCZ13	WIGZ TOF TO	Master of Translating and	2.0	192	90	34,300	300.00
Postgraduate	MC214	MC214	Interpreting	2.0	192	96	31,680	330.00
Postgraduate	MC215	MC215	Master of Medical Physics	2.0	192	96	37,440	390.00
Postgraduate	MC216	MC216	Master of Public Policy	2.0	192	96	31,680	330.00
Postgraduate	MC219	MC219	Master of Teaching Practice (Primary Education)	2.0	192	96	29,760	310.00
Postgraduate	MC220	MC220	Master of Teaching Practice (Secondary Education)	2.0	192	96	29,760	310.00
Postgraduate	MC221	MC221	Master of Urban Planning and Environment	2.0	192	96	32,640	340.00
Postgraduate	MC222	MC222	Master of International Urban and Environmental Management	2.0	192	96	31,680	330.00
Postgraduate	MC223	MC223	Master of Justice and Criminology	2.0	192	96	31,680	330.00
Postgraduate	MC224	MC224	Master of Engineering (Manufacturing)	2.0	192	96	39,360	410.00
Postgraduate	MC225	MC225P16	Master of Engineering (Aerospace)	2.0	192	96	39,360	410.00
Postgraduate	MC226	MC226	Master of Engineering (Management)	2.0	192	96	39,360	410.00
Postgraduate	MC227	MC227	Master of Engineering (Integrated Logistics Management)	2.0	192	96	39,360	410.00
Postgraduate	MC229	MC229	Master of Engineering (Sustainable Energy)	2.0	192	96	39,360	410.00
Postgraduate	MC230	MC230	Master of Engineering (International Automotive Engineering)	2.0	192	96	39,360	410.00



Career	Program code	Plan code	Program name	Total full- time program duration - years	Total program credit points / nominal hours	Indicative credit points per annum full-time	2021 International Onshore indicative annual tuition fee \$	2021 International Onshore fee per credit point / nominal hour
Postgraduate	MC231	MC231	Master of Design Innovation and Technology	2.0	192	96	41,280	430.00
Postgraduate	MC232	MC232	Master of Animation, Games and Interactivity	2.0	192	96	32,640	340.00
Postgraduate	MC233	MC233	Master of Engineering (Electronic Engineering)	2.0	192	96	39,360	410.00
Postgraduate	MC234	MC234	Master of Engineering (Telecommunication and Network Engineering)	2.0	192	96	39,360	410.00
Postgraduate	MC235	MC235	Master of Engineering (Electrical Engineering)	2.0	192	96	39,360	410.00
Postgraduate	MC237	MC237	Master of Food Science & Tech	2.0	192	96	37,440	390.00
Postgraduate	MC238	MC238	Master of Engineering (Airworthiness)	1.0	96	96	39,360	410.00
Postgraduate	MC240	MC240	Master of Sustainable Practice	2.0	192	96	39,360	410.00
Postgraduate	MC242	MC242	Master of Analytics	2.0	192	96	33,600	350.00
Postgraduate	MC244	MC244	Master of Engineering (Computer Aided Engineering and Design)	1.0	96	96	39,360	410.00
Postgraduate	MC246	MC246	Master of Fashion (Design)	2.0	192	96	34,560	360.00
Postgraduate	MC248	MC248	Master of Communication	2.0	192	96	34,560	360.00
Postgraduate	MC249	MC249	Master of Advertising	2.0	192	96	32,640	340.00
Postgraduate	MC250	MC250	Master of Communication Design	2.0	192	96	34,560	360.00
Postgraduate	MC254	MC254	Master of Engineering (Environmental Engineering)	2.0	192	96	39,360	410.00



Career	Program code	Plan code	Program name	Total full- time program duration - years	Total program credit points / nominal hours	Indicative credit points per annum full-time	2021 International Onshore indicative annual tuition fee \$	2021 International Onshore fee per credit point / nominal hour
Postgraduate	MC255	MC255	Master of Engineering (Process Engineering)	2.0	192	96	39,360	410.00
1 osigraduate	100233	100200	Master of Engineering (Robotics	2.0	132	30	33,300	410.00
Postgraduate	MC256	MC256	and Mechatronics Engineering)	2.0	192	96	39,360	410.00
Postgraduate	MC257	MC257	Master of Engineering (Civil Engineering)	2.0	192	96	39,360	410.00
Postgraduate	MC258	MC258	Master of Engineering (Mechanical Engineering)	2.0	192	96	39,360	410.00
Postgraduate	MC259	MC259	Master of Engineering (Electrical Systems Engineering)	2.0	192	96	39,360	410.00
Postgraduate	MC261	MC261	Master of Engineering (Transport Systems Engineering)	2.0	192	96	39,360	410.00
Postgraduate	MC262	MC262	Master of Writing and Publishing	2.0	192	96	32,640	340.00
Postgraduate	MC263	MC263EXE	Master of Human Resource Management (with advanced standing)	1.5	144	96	39,360	410.00
Postgraduate	MC263	MC263	Master of Human Resource Management	2.0	192	96	39,360	410.00
Postgraduate	MC264	MC264	Master of Science (Aviation)	2.0	192	96	39,360	410.00
Postgraduate	MC265	MC265	Master of Geospatial Science	2.0	192	96	35,520	370.00
Postgraduate	MC266	MC266	Master of Fine Art	2.0	192	96	32,640	340.00
Postgraduate	MC267	MC267	Master of Data Science	2.0	192	96	36,480	380.00
Postgraduate	MC270	MC270	Master of Photography	2.0	192	96	32,640	340.00
Postgraduate	MC271	MC271	Master of Artificial Intelligence	2.0	192	96	36,480	380.00



Career	Program code	Plan code	Program name	Total full- time program duration - years	Total program credit points / nominal hours	Indicative credit points per annum full-time	2021 International Onshore indicative annual tuition fee \$	2021 International Onshore fee per credit point / nominal hour
Postgraduate	MC275	MC275	Master of Interior Design	2.0	192	96	40,320	420.00
Postgraduate	MC279	MC279	Master of Blockchain Enabled Business	1.5	144	96	39,360	410.00
Postgraduate	MC280	MC280	Master of Arts (Arts Management)	2.0	192	96	32,640	340.00
Postgraduate	MC281	MC281	Master of Arts (Art in Public Space)	2.0	192	96	32,640	340.00
Postgraduate	SAPGD	STUDABPGRD	Study Abroad Enrolments (Inbound) PGRD	1.0	96	96	18,240	190.00
Postgraduate	XIPG4	XIPG4	X Institute Enrol Inbound to RMIT Business (PGRD)	1.0	96	96	47,040	490.00
Postgraduate Postgraduate	XIPG8	XIPG8	X Institute Enrol Inbound to RMIT in Science Engineering and Health College (PGRD) X Institute Enrol Inbound to RMIT in Design and Social Context College (PGRD)	1.0	96 96	96 96	36,480 37,440	380.00
Research	DR200	DR200	PhD (Accountancy)	4.0	384	96	35,520	370.00
Research	DR201	DR201	PhD (Business Information Systems)	4.0	384	96	35,520	370.00
Research	DR202	DR202	PhD (Supply Chain & Logistics)	4.0	384	96	35,520	370.00
Research	DR203	DR203	PhD (Economics, Finance & Marketing)	4.0	384	96	35,520	370.00
Research	DR204	DR204	PhD (Management)	4.0	384	96	35,520	370.00
Research	DR205	DR205	PhD (Business)	4.0	384	96	35,520	370.00
Research	DR206	DR206	PhD (Law)	4.0	384	96	35,520	370.00



Career	Program code	Plan code	Program name	Total full- time program duration - years	Total program credit points / nominal hours	Indicative credit points per annum full-time	2021 International Onshore indicative annual tuition fee \$	2021 International Onshore fee per credit point / nominal hour
Research	DR207	DR207	PhD (Architecture & Design)	4.0	384	96	38,400	400.00
Research	DR208	DR208	PhD (Art)	4.0	384	96	31,680	330.00
Research	DR209	DR209	PhD (Education)	4.0	384	96	27,840	290.00
Research	DR210	DR210	PhD (Global, Urban & Social Studies)	4.0	384	96	28,800	300.00
Research	DR211	DR211	PhD (Media & Communication)	4.0	384	96	31,680	330.00
Research	DR212	DR212	PhD (Built Environment)	4.0	384	96	40,320	420.00
Research	DR213	DR213	PhD (Fashion & Textiles)	4.0	384	96	31,680	330.00
Research	DR215	DR215	PhD (Aerospace Engineering)	4.0	384	96	36,480	380.00
Research	DR216	DR216	PhD (Mechanical & Manufacturing Engineering)	4.0	384	96	36,480	380.00
Research	DR217	DR217	PhD (Chemical Engineering)	4.0	384	96	36,480	380.00
Research	DR218	DR218	PhD (Civil Engineering)	4.0	384	96	36,480	380.00
Research	DR219	DR219	PhD (Environmental Engineering)	4.0	384	96	36,480	380.00
Research	DR220	DR220	PhD (Electrical & Electronic Engineering)	4.0	384	96	36,480	380.00
Research	DR221	DR221	PhD (Computer Science)	4.0	384	96	33,600	350.00
Research	DR222	DR222	PhD (Mathematical Sciences)	4.0	384	96	33,600	350.00
Research	DR223	DR223	PhD (Geospatial Sciences)	4.0	384	96	33,600	350.00



Career	Program code	Plan code	Program name	Total full- time program duration - years	Total program credit points / nominal hours	Indicative credit points per annum full-time	2021 International Onshore indicative annual tuition fee \$	2021 International Onshore fee per credit point / nominal hour
Research	DR224	DR224	PhD (Complementary Medicine)	4.0	384	96	30,720	320.00
Research	DR225	DR225	PhD (Nursing)	4.0	384	96	30,720	320.00
Research	DR226	DR226	PhD (Psychology)	4.0	384	96	30,720	320.00
Research	DR227	DR227	PhD (Biomedical Science)	4.0	384	96	33,600	350.00
Research	DR228	DR228	PhD (Medical Radiations Science)	4.0	384	96	33,600	350.00
Research	DR229	DR229	PhD (Applied Chemistry)	4.0	384	96	33,600	350.00
Research	DR230	DR230	PhD (Applied Physics)	4.0	384	96	33,600	350.00
Research	DR231	DR231	PhD (Applied Biology & Biotechnology)	4.0	384	96	33,600	350.00
Research	DR232	DR232	PhD (Food Science)	4.0	384	96	33,600	350.00
Research	DR234	DR234	PhD (Laboratory and Clinical Science)	4.0	384	96	30,720	320.00
Research	DR235	DR235	PhD (Design)	4.0	384	96	38,400	400.00
Research	MR200	MR200	Master of Business (Accountancy)	2.0	192	96	31,680	330.00
Research	MR201	MR201	Master of Business (Business Information Systems)	2.0	192	96	31,680	330.00
Research	MR202	MR202	Master of Business (Supply Chain & Logistics)	2.0	192	96	31,680	330.00
Research	MR203	MR203	Master of Business (Economics, Finance & Marketing)	2.0	192	96	31,680	330.00
Research	MR204	MR204	Master of Business (Management)	2.0	192	96	31,680	330.00



Career	Program code	Plan code	Program name	Total full- time program duration - years	Total program credit points / nominal hours	Indicative credit points per annum full-time	2021 International Onshore indicative annual tuition fee \$	2021 International Onshore fee per credit point / nominal hour
Research	MR205	MR205	Master of Business (Business & Law)	2.0	192	96	31,680	330.00
Research	IVINZUS	IVINZUS	Master of Design (Architecture &	2.0	192	90	31,000	330.00
Research	MR207	MR207	Design)	2.0	192	96	36,480	380.00
Research	MR208	MR208	Master of Fine Art	2.0	192	96	31,680	330.00
Research	MR209	MR209	Master of Education	2.0	192	96	27,840	290.00
Research	MR210	MR210	Master of Social Science (Global, Urban & Social Studies)	2.0	192	96	28,800	300.00
Research	MR211	MR211	Master of Design (Media & Communication)	2.0	192	96	31,680	330.00
Research	MR212	MR212	Master of Applied Science (Built Environment)	2.0	192	96	40,320	420.00
Research	MR213	MR213	Master of Design (Fashion & Textiles)	2.0	192	96	31,680	330.00
Research	MR214	MR214	Master of Technology (Fashion & Textiles)	2.0	192	96	31,680	330.00
Research	MR215	MR215	Master of Engineering (Aerospace Engineering)	2.0	192	96	36,480	380.00
Research	MR216	MR216	Master of Engineering (Mechanical & Manufacturing Engineering)	2.0	192	96	36,480	380.00
Research	MR217	MR217	Master of Engineering (Chemical Engineering)	2.0	192	96	36,480	380.00
Research	MR218	MR218	Master of Engineering (Civil Engineering)	2.0	192	96	36,480	380.00
Research	MR219	MR219	Master of Engineering (Environmental Engineering)	2.0	192	96	36,480	380.00
Research	MR220	MR220	Master of Engineering (Electrical & Electronic Engineering)	2.0	192	96	36,480	380.00
Research	MR221	MR221	Master of Science (Computer Science)	2.0	192	96	33,600	350.00



Career	Program code	Plan code	Program name	Total full- time program duration - years	Total program credit points / nominal hours	Indicative credit points per annum full-time	2021 International Onshore indicative annual tuition fee \$	2021 International Onshore fee per credit point / nominal hour
Research	MR222	MR222	Master of Science (Mathematical Sciences)	2.0	192	96	33,600	350.00
Research	MR223	MR223	Master of Science (Geospatial Sciences)	2.0	192	96	33,600	350.00
Research	MR224	MR224	Master of Science (Complementary Medicine)	2.0	192	96	30,720	320.00
Research	MR225	MR225	Master of Science (Nursing)	2.0	192	96	30,720	320.00
Research	MR226	MR226	Master of Science (Psychology)	2.0	192	96	30,720	320.00
Research	MR227	MR227	Master of Science (Biomedical Science)	2.0	192	96	33,600	350.00
Research	MR228	MR228	Master of Science (Medical Radiations Science)	2.0	192	96	33,600	350.00
Research	MR229	MR229	Master of Science (Applied Chemistry)	2.0	192	96	33,600	350.00
Research	MR230	MR230	Master of Science (Applied Physics)	2.0	192	96	33,600	350.00
Research	MR231	MR231	Master of Science (Applied Biology & Biotechnology)	2.0	192	96	33,600	350.00
Research	MR232	MR232	Master of Science (Food Science)	2.0	192	96	33,600	350.00
Research	MR233	MR233	Master of Applied Science (Health & Medical Physics)	2.0	192	96	33,600	350.00
Research	MR234	MR234	Master of Science (Laboratory and Clinical Science)	2.0	192	96	30,720	320.00
Research	MR235	MR235	Master of Design	2.0	192	96	35,520	370.00



Appendix 4 – RMIT Online program fees

Program Code	Program name	2021 RMIT Online fee per credit point \$	RMIT Online estimated total number of courses	2021 RMIT Online fee per 12 credit point course \$	2021 estimated total program fee \$ (based on number of courses)
GC036	Graduate Certificate in Cyber Security	240.00	4	2,880	11,520
GC042	Graduate Certificate in Project Management	290.00	4	3,480	13,920
GC047	Graduate Certificate in Business Administration	360.00	4	4,320	17,280
GC053	Graduate Certificate in Marketing	310.00	4	3,720	14,880
GC055	Graduate Certificate in Supply Chain and Logistics Management	310.00	4	3,720	14,880
GC104	Graduate Certificate Commerce	320.00	4	3,840	15,360
GC161	Graduate Certificate in Human Resource Management	330.00	4	3,960	15,840
GC169	Graduate Certificate in Product Management	290.00	4	3,480	13,920
GC173	Graduate Certificate in Data Science	300.00	4	3,600	14,400
GC174	Graduate Certificate in Emerging Technologies and Law	320.00	4	3,840	15,360
GC175	Graduate Certificate in Customer Success Management	285.00	4	3,420	13,680
GC178	Graduate Certificate in Digital Transformation	320.00	4	3,840	15,360
GC179	Graduate Certificate in Digital Communication Strategy	240.00	4	2,880	11,520
GC180	Graduate Certificate in Blockchain Enabled Business	320.00	4	3,840	15,360
GC181	Graduate Certificate in Service Design	290.00	4	3,480	13,920



Program Code	Program name	2021 RMIT Online fee per credit point \$	RMIT Online estimated total number of courses	2021 RMIT Online fee per 12 credit point course \$	2021 estimated total program fee \$ (based on number of courses)
GC182	Graduate Certificate in Workforce Transformation	330.00	4	3,960	15,840
GC183	Graduate Certificate in Digital Marketing Leadership	310.00	4	3,720	14,880
GC191	Graduate Certificate in Digital Health	300.00	4	3,600	14,400
GC193	Graduate Certificate in Business Analytics	310.00	4	3,720	14,880
GD158	Graduate Diploma in Mental Health Nursing	210.00	8	2,520	20,160
GD194	Graduate Diploma in Project Management	290.00	8	3,480	27,840
GD214	Graduate Diploma in Psychology	270.00	10	3,240	32,400
MC197	Master of Marketing	310.00	12	3,720	44,640
MC198	Master of Supply Chain and Logistics Management	310.00	12	3,720	44,640
MC199	Master of Business Administration	360.00	12	4,320	51,840
MC205	Master of Commerce	320.00	12	3,840	46,080
MC226	Master of Engineering (Management)	310.00	12	3,720	44,640
MC263	Master of Human Resource Management	330.00	12	3,960	47,520
MC268	Master of Mental Health Nursing	210.00	12	2,520	30,240
MC274	Master of Data Science Strategy and Leadership	300.00	12	3,600	43,200
XIPG4	X Institute Enrol Inbound to RMIT Business (PGRD) - Total fee charged will depend on number of courses taken	290.00	1	3,480	3,480



Program Code	Program name		RMIT Online estimated total number of courses	2021 RMIT Online fee per 12 credit point course \$	2021 estimated total program fee \$ (based on number of courses)
XIPG8	X Institute Enrol Inbound to RMIT in Science Engineering and Health College (PGRD) - Total fee charged will depend on number of courses taken	300.00	1	3,600	3,600
XIPG9	X Institute Enrol Inbound to RMIT in Design and Social Context College (PGRD) - Total fee charged will depend on number of courses taken	260.00	1	3,120	3,120



Appendix 5 - Aviation program fees

Plan AD023A and AD023BN

These fees apply to both domestic and international students. AD023BN is not currently open to international students studying on a student visa. International students who hold a different visa type may be eligible.

Students need to complete the following core courses to graduate, which total 144 credit points. Students also need to complete 48 credit points from one of three specialised streams (Instrument, Instructor or Academic). Students will be required to repeat any failed courses in order to be accredited and will be charged the fee for that course again.

Fees are subject to annual indexation and the fee charged will depend on the year the course is completed.

rmit.edu.au/programs/ad023

Core subjects

Course code AD023A	Course code AD023BN	Course name	Credit points	2021 course fee
AERO2465	AERO2465	Introduction to Aircraft	12	\$3,840
MATH2222	MATH2222	Mathematics	12	\$3,840
AERO2469	AERO2625	Theory to Recreational Pilot Licence	12	\$3,840
AERO2470	AERO2619	Flying to Recreational Pilot Licence	12	\$23,040
		Semester 1 fees	48	\$34,560
AERO2468	AERO2468	Human Factors	12	\$3,840
AERO2469	AERO2624	Theory to Private Pilot Licence	12	\$3,840
AERO2470	AERO2618	Flying to Private Pilot Licence	12	\$14,400
AERO2576	AERO2627	Introduction to Commercial Pilot Licence	12	\$9,840
		Semester 2 fees	48	\$31,920
AERO2471	AERO2471	Aviation Industry Environment	12	\$3,840
AERO2472	AERO2472	Aviation Quality Systems	12	\$3,840
AERO2587	AERO2617	Commercial Pilot Licence Theory	12	\$3,840
AERO2586	AERO2616	Commercial Pilot Licence Flying	12	\$29,520
		Semester 3 fees	48	\$41,040
		Total for Semesters 1, 2 and 3	144	\$107,520



Instrument stream

Complete the following three courses:

Course code AD023A	Course code AD023BN	Course name	Credit points	2021 course fee
AERO2477	AERO2615	Theory to Instrument Rating	12	\$3,840
AERO2577	AERO2623	Air Transport Pilot Licence 1 & 2	24	\$7,680
AERO2478	AERO2622	Flying to Instrument Rating	12	\$19,200
		Semester 4 fees	48	\$30,720
		Plus Semester 1, 2 and 3 fees	144	\$107,520
		Total program fees	192	\$138,240

Instructor stream

Complete the following three courses:

Course code AD023A	Course code AD023BN	Course name	Credit points	2021 course fee
		University Elective	12	\$3,840
AERO2578	AERO2621	Instructor Theory	24	\$7,680
AERO2479	AERO2620	Flying to Instructor Rating	12	\$19,200
		Semester 4 fees	48	\$30,720
		Plus Semester 1, 2 and 3 fees	144	\$107,520
		Total program fees	192	\$138,240

Academic stream

Complete the following three courses:

Course code AD023A	Course code AD023BN	Course name	Credit points	2021 course fee
		University Elective	12	\$3,840
AERO2580	AERO2614	Airport/Airline Operations	12	\$3,840
AERO2577	AERO2615	Air Transport Pilot Licence 1 & 2	24	\$7,680
		Semester 4 fees	48	\$15,360
		Plus Semester 1, 2 and 3 fees	144	\$107,520
		Total program fees	192	\$122,880



Program plan AD023HA - Hartwig Air

These fees apply to both domestic and international onshore students. AD023HA is not open to international students studying on a student visa. International students who hold a different visa type may be eligible.

Complete the following courses:

Course code	Course name	Credit points	2021 course fee
AERO2589	Theory to Recreational Pilot Licence	12	\$3,840
AERO2590	Flying to Recreational Pilot Licence	12	\$23,040
AERO2602	Introduction to Aircraft	12	\$3,840
MATH2389	Mathematics	12	\$3,840
	Semester 1 Fees	48	\$34,560
AERO2591	Theory to Private Pilot Licence	12	\$3,840
AERO2592	Flying to Private Pilot Licence	12	\$14,400
AERO2595	Introduction to Commercial Pilot Licence	12	\$9,840
AERO2601	Human Factors	12	\$3,840
	Semester 2 Fees	48	\$31,920
AERO2597	Commercial Pilot Licence Theory	12	\$3,840
AERO2596	Commercial Pilot Licence Flying	12	\$29,520
AERO2471	Aviation Industry Environment	12	\$3,840
AERO2472	Aviation Quality Systems	12	\$3,840
	Semester 3 Fees	48	\$41,040
AERO2593	Theory to Instrument rating	12	\$3,840
AERO2594	Flying to Instrument rating	12	\$19,200
AERO2577	Air Transport Pilot Licence 1 & 2	24	\$7,680
	Semester 4 Fees	48	\$30,720
	Total	192	\$138,240

DP016 Diploma of Flying (Private Pilot Licence)

Students who successfully complete the first 8 core subjects of the Associate Degree of Aviation (Professional Pilots) plan AD023A or AD023BN and gain their Private Pilot Licence may be eligible to apply for the Diploma of Flying (Private Pilot Licence).

The Diploma of Flying (Private Pilot Licence) is not available to international students studying on a student visa. International students who hold a different visa type may be eligible.

This diploma is offered only as an exit award, for students who do not wish to complete the full AD023A or AD023BN associate degree.

To gain the diploma students must complete the following:

Course code AD023A	Course code AD023BN	Course name	Credit points	2021 course fee
AERO2465	AERO2465	Introduction to Aircraft	12	\$3,840
AERO2469	AERO2625	Theory to Recreational Pilot Licence	12	\$3,840
AERO2470	AERO2619	Flying to Recreational Pilot Licence	12	\$23,040
MATH2222	MATH2222	Mathematics	12	\$3,840
AERO2469	AERO2624	Theory to Private Pilot Licence	12	\$3,840
AERO2470	AERO2618	Flying to Private Pilot Licence	12	\$14,400



Course code AD023A	Course code AD023BN	Course name	Credit points	2021 course fee
AERO2468	AERO2468	Human Factors	12	\$3,840
AERO2576	AERO2627	Introduction to Commercial Pilot Licence	12	\$9,840
		Total program fees	96	\$66,480

DP017 Diploma of Flying (Pilot Cadetship)

Course Code	Course name	Credit points	2021 course fee
AERO2625	Theory to Recreational Pilot Licence	12	\$2,500
AERO2624	Theory to Private Pilot Licence	12	\$2,500
AERO2617	Commercial Pilot Licence Theory	12	\$2,500
AERO2623	Theory to Instrument Rating	12	\$3,840
AERO2627	Introduction to Commercial Pilot Licence	12	\$7,434
AERO2618	Flying to Private Pilot Licence	12	\$10,815
AERO2619	Flying to Recreational Pilot Licence	12	\$17,000
AERO2622	Flying to Instrument Rating	12	\$22,361
AERO2616	Commercial Pilot Licence Flying	12	\$29,280
	Total Fees	108	\$98,230



Appendix 6 – Int'l Offshore higher degree by research program fees

Program code	Program name	Total full- time duration - years	Total program credit points	Indicative annual credit points - full-time	2021 International Offshore indicative annual fee \$	2021 International Offshore fee per credit point \$
DR200	PhD (Accountancy)	4.0	384	96	16,320	170.00
DR201	PhD (Business Information Systems)	4.0	384	96	16,320	170.00
DR202	PhD (Supply Chain & Logistics)	4.0	384	96	16,320	170.00
DR203	PhD (Economics, Finance & Marketing)	4.0	384	96	16,320	170.00
DR204	PhD (Management)	4.0	384	96	16,320	170.00
DR205	PhD (Business)	4.0	384	96	16,320	170.00
DR206	PhD (Law)	4.0	384	96	16,320	170.00
DR207	PhD (Architecture & Design)	4.0	384	96	18,240	190.00
DR208	PhD (Art)	4.0	384	96	15,360	160.00
DR209	PhD (Education)	4.0	384	96	13,440	140.00
DR210	PhD (Global, Urban & Social Studies)	4.0	384	96	13,440	140.00
DR211	PhD (Media & Communication)	4.0	384	96	15,360	160.00
DR212	PhD (Built Environment)	4.0	384	96	15,360	160.00
DR213	PhD (Fashion & Textiles)	4.0	384	96	15,360	160.00
DR215	PhD (Aerospace Engineering)	4.0	384	96	19,200	200.00
DR216	PhD (Mechanical & Manufacturing Engineering)	4.0	384	96	19,200	200.00
DR217	PhD (Chemical Engineering)	4.0	384	96	19,200	200.00
DR218	PhD (Civil Engineering)	4.0	384	96	19,200	200.00
DR219	PhD (Environmental Engineering)	4.0	384	96	19,200	200.00
DR220	PhD (Electrical & Electronic Engineering)	4.0	384	96	19,200	200.00
DR221	PhD (Computer Science)	4.0	384	96	19,200	200.00
DR222	PhD (Mathematical Sciences)	4.0	384	96	19,200	200.00
DR223	PhD (Geospatial Sciences)	4.0	384	96	19,200	200.00
DR224	PhD (Complementary Medicine)	4.0	384	96	18,240	190.00
DR225	PhD (Nursing)	4.0	384	96	18,240	190.00



Program code	Program name	Total full- time duration - years	Total program credit points	Indicative annual credit points - full-time	2021 International Offshore indicative annual fee \$	2021 International Offshore fee per credit point \$
DR226	PhD (Psychology)	4.0	384	96	18,240	190.00
DR227	PhD (Biomedical Science)	4.0	384	96	19,200	200.00
DR228	PhD (Medical Radiations Science)	4.0	384	96	19,200	200.00
DR229	PhD (Applied Chemistry)	4.0	384	96	19,200	200.00
DR230	PhD (Applied Physics)	4.0	384	96	19,200	200.00
DR231	PhD (Applied Biology & Biotechnology)	4.0	384	96	19,200	200.00
DR232	PhD (Food Science)	4.0	384	96	19,200	200.00
DR234	PhD (Laboratory and Clinical Science)	4.0	384	96	18,240	190.00
DR235	PhD (Design)	4.0	384	96	18,240	190.00
MR200	Master of Business (Accountancy)	2.0	192	96	15,360	160.00
MR201	Master of Business (Business Information Systems)	2.0	192	96	15,360	160.00
MR202	Master of Business (Supply Chain & Logistics)	2.0	192	96	15,360	160.00
MR203	Master of Business (Economics, Finance & Marketing)	2.0	192	96	15,360	160.00
MR204	Master of Business (Management)	2.0	192	96	15,360	160.00
MR205	Master of Business (Business & Law)	2.0	192	96	15,360	160.00
MR207	Master of Design (Architecture & Design)	2.0	192	96	18,240	190.00
MR208	Master of Fine Art	2.0	192	96	15,360	160.00
MR209	Master of Education	2.0	192	96	13,440	140.00
MR210	Master of Social Science (Global, Urban & Social Studies)	2.0	192	96	13,440	140.00
MR211	Master of Design (Media & Communication)	2.0	192	96	15,360	160.00
MR212	Master of Applied Science (Built Environment)	2.0	192	96	15,360	160.00
MR213	Master of Design (Fashion & Textiles)	2.0	192	96	15,360	160.00
MR214	Master of Technology (Fashion & Textiles)	2.0	192	96	15,360	160.00
MR215	Master of Engineering (Aerospace Engineering)	2.0	192	96	19,200	200.00
MR216	Master of Engineering (Mechanical & Manufacturing Engineering)	2.0	192	96	19,200	200.00
MR217	Master of Engineering (Chemical Engineering)	2.0	192	96	19,200	200.00



Program code	Program name	Total full- time duration - years	Total program credit points	Indicative annual credit points - full-time	2021 International Offshore indicative annual fee \$	2021 International Offshore fee per credit point \$
MR218	Master of Engineering (Civil Engineering)	2.0	192	96	19,200	200.00
MR219	Master of Engineering (Environmental Engineering)	2.0	192	96	19,200	200.00
MR220	Master of Engineering (Electrical & Electronic Engineering)	2.0	192	96	19,200	200.00
MR221	Master of Science (Computer Science)	2.0	192	96	19,200	200.00
MR222	Master of Science (Mathematical Sciences)	2.0	192	96	19,200	200.00
MR223	Master of Science (Geospatial Sciences)	2.0	192	96	19,200	200.00
MR224	Master of Science (Complementary Medicine)	2.0	192	96	18,240	190.00
MR225	Master of Science (Nursing)	2.0	192	96	18,240	190.00
MR226	Master of Science (Psychology)	2.0	192	96	18,240	190.00
MR227	Master of Science (Biomedical Science)	2.0	192	96	19,200	200.00
MR228	Master of Science (Medical Radiations Science)	2.0	192	96	19,200	200.00
MR229	Master of Science (Applied Chemistry)	2.0	192	96	19,200	200.00
MR230	Master of Science (Applied Physics)	2.0	192	96	19,200	200.00
MR231	Master of Science (Applied Biology & Biotechnology)	2.0	192	96	19,200	200.00
MR232	Master of Science (Food Science)	2.0	192	96	19,200	200.00
MR233	Master of Applied Science (Health & Medical Physics)	2.0	192	96	19,200	200.00
MR234	Master of Science (Laboratory and Clinical Science)	2.0	192	96	18,240	190.00
MR235	Master of Design	2.0	192	96	18,240	190.00



Appendix 7 – Materials, excursion and global intensive course fees

Fee code	Description of fee	2021 fee including GST \$	Program / plan code	Program name	Course code	Course name
M471	Calico 15mt \$40, toiling fabrics \$15, 5mt fusing \$7, overlocking/specialty machine threads \$8, patternmaking paper \$25, miscellaneous haberdashery, trims and accessories (i.e assorted elastics/shoulder pads/standard 18cm dress zippers, etc) \$25.	\$120.00	BP328	Bachelor of Fashion (Design)	GRAP2817, GRAP2833	Fashion Communication Design, Fashion Design Partnered Project
M482	Prototyping fabrics (i.e. calico) \$12.50, fusing \$2.50, pattern making supplies (i.e. pattern making paper/card) \$15, misc. haberdashery supplies \$15.	\$45.00	BP328	Bachelor of Fashion (Design)	GRAP2679	Introduction to Patternmaking
M633	Dyes \$10, fabric \$20.	\$30.00	C4390	Certificate IV in Textile Design and Development	MANU7395C	Select dyes
M640	Assorted yarns \$65, Punch cards \$10.	\$75.00	C6158	Advanced Diploma of Textile Design and Development	VART6465C	Design and produce knitted textile products
M641	Fabric \$15, assorted yarns \$20.	\$35.00	C4390	Certificate IV in Textile Design and Development	VART6454C	Create experimental textiles samples
M642	Assorted yarns \$75.	\$75.00	C6158	Advanced Diploma of Textile Design and Development	VART6466C	Design and produce woven products
M643	Assorted papers \$5, assorted papers/card \$10, paint/guache \$5.	\$20.00	C4390	Certificate IV in Textile Design and Development	MKTG7999C	Present textile design concepts



Fee code	Description of fee	2021 fee including GST \$	Program / plan code	Program name	Course code	Course name
M645	Fabric \$5, dyes/paints \$5, yarns \$5, digital printing inks and materials \$5.	\$20.00	C6158	Advanced Diploma of Textile Design and Development	VART6463C	Design Experimental Textiles
M646	Assorted yarns \$60.	\$60.00	C4390	Certificate IV in Textile Design and Development	VART6451C	Produce knitted textile samples
M648	Fabrics \$15, trims & threads \$5.	\$20.00	C6158	Advanced Diploma of Textile Design and Development	GRAP5215C	Perform industrial sewing on textile products
M651	Photographic emulsion \$20, calico \$10, substrates for binder tests \$10, dyes/pigments \$10, printing binders \$10, paper \$10, drafting film \$20, binders - gold, silver, puff, opaque \$20.	\$110.00	C6158	Advanced Diploma of Textile Design and Development	MANU7403C	Design & Produce Printed Textiles
M656	Assorted papers/card/board \$15, paint/aquarelles, pastels, guache/inks \$4, adhesives \$1.	\$20.00	C4390	Certificate IV in Textile Design and Development	VART6453C	Development of textile designs
M836_A	Airfare for chartered flight to Lizard Island (\$661.50) and excursion to Daintree Rainforest (\$43.50) - 10 nights, 11 days.	\$705.00	BP229, BP193, BP161, BH096, MC191	Bachelor of Applied Sciences, B EnvSc/BEnvSoc, B EnvSci / B Bus (Man), BEnvSci/BEng(EnvEng)(Hons), Master of Environmental Science	BIOL2061, BIOL2355	Field Experience Practicum, Field Experience Practicum
M836_B	Twin share accommodation in Cairns and at the Lizard Island Research Station, Great Barrier Reef - 10 nights, 11 days.	\$855.00	BP229, BP193, BP161, BH096, MC191	Bachelor of Applied Sciences,B EnvSc/BEnvSoc, B EnvSci / B Bus (Man), BEnvSci/BEng(EnvEng)(Hons), Master of Environmental Science	BIOL2061, BIOL2355	Field Experience Practicum, Field Experience Practicum



Fee code	Description of fee	2021 fee including GST \$	Program / plan code	Program name	Course code	Course name
M836_C	Meals at the Lizard Island Research Station, Great Barrier Reef - 10 nights, 11 days.	\$215.00	BP229, BP193, BP161, BH096, MC191	Bachelor of Applied Sciences,B EnvSc/BEnvSoc, B EnvSci/B Bus (Man), BEnvSci/BEng(EnvEng)(Hons), Master of Environmental Science	BIOL2061, BIOL2355	Field Experience Practicum, Field Experience Practicum
M842	Pigments \$35, Screen preparation and coating \$23, print and prep room materials \$12.	\$70.00	BP121	Bachelor of Arts (Textile Design)	GRAP2863	Screen Printed Textile Design
M843	Specialty Yarn \$70	\$70.00	BP121	Bachelor of Textile Design	GRAP2861, GRAP2862	Knitted Textile Design, Woven Textile Design
M849	Prototyping fabrics (i.e.15mt calico) \$40, 5mt fusing \$7, overlocking/specialty machine threads \$8.00, sampling fabrics (approx. 3mt - 3.5mt) \$55, patternmaking paper \$25, miscellaneous haberdashery trims and accessories (i.e assorted elastics/shoulder pads/standard 18cm dress zippers, etc) \$7, sampler materials (i.e precut calico samples) \$15, sewing guides (incl. calico backing) \$4.	\$161.00	BP328	Bachelor of Fashion (Design)	GRAP2832, GRAP2821	Introduction to Fashion Design Practice, Fashion Expressions
M1045	Leather vegetable tanned \$20, rubber soling \$10, adhesive \$5, grindery \$10, shoe boxes \$4.	\$49.00	C4389	Certificate IV in Custom Made Footwear	MANU7390C	Perform table-based operations



Fee code	Description of fee	2021 fee including GST \$	Program / plan code	Program name	Course code	Course name
M1047	Complete polishing kit \$62 (includes- polishing crème, waxes, leather restorer, applicator brush and buffing cloth).	\$62.00	C4389	Certificate IV in Custom Made Footwear	MANU7389C	Perform footwear finishing operations
M1050	Leather \$70, grindery \$10, soling material \$14, prototype material \$20.	\$114.00	C4389	Certificate IV in Custom Made Footwear	MANU7376C	Prepare cut and sew custom made shoe components
M1051	Pattern paper \$15, large tape \$4, masking tape \$3, material for adjusting last \$8.	\$30.00	C4389	Certificate IV in Custom Made Footwear	MANU7375C	Make patterns for custom made footwear
M1089	Manufactured board \$53, solid timber \$10, card \$7, construction cardboard and foam \$5.	\$75.00	AD007	Associate Degree in Design (Furniture)	GRAP2380	Develop trial and evaluate prototypes
M1090	Timber \$44, additional materials such as fixings \$3, brass \$2, steel plate \$1.	\$50.00	AD007	Associate Degree in Design (Furniture)	GRAP2376	Workshop Methods
M1091	Mock materials for prototyping (MDF, card, hard foam, glue and timber).	\$35.00	AD007	Associate Degree in Design (Furniture)	GRAP2385	Design Studio 4 (Furniture)
M1092	Manufactured board \$95.	\$95.00	AD007	Associate Degree in Design (Furniture)	GRAP2384	Technology 3
M1103	Photographic emulsion \$20, calico \$10, substrates for binder tests \$10, dyes/pigments \$10, printing binders \$10, paper \$10, drafting film \$20, binders - gold, silver, puff, opaque \$10.	\$100.00	C4390	Certificate IV in Textile Design Development and Production	MANU7393C	Produce Screen Printed Textiles



Fee code	Description of fee	2021 fee including GST \$	Program / plan code	Program name	Course code	Course name
M1206	Visit to the National Gallery of Victoria - major exhibition & 1 other similar site visit.	\$33.00	C5396	Diploma of Interior Design	GRAP6359C	Design History and Theory
M1217	Design Studio four day intensive. Materials (notebook, drawing paper, butchers paper, drawing materials - charcoal, pencils, ink , pens - model making equipment - card cutting knives and boards - tape, glue, 1 packet blue tak, 4 magnets. Total \$42.75). VR project headset construction materials \$8. Student exhibition catalogues and documentation \$9.75, NGV excursion exhibition entry \$24.50.	\$85.00	BH115	Bachelor of Interior Design (Hons)	ARCH1093	Interior Design Studio 1
M1218A	Design Studio four day intensive. Four lunches (\$24), three breakfasts (\$14) and snacks (\$12) over four days.	\$50.00	BH115	Bachelor of Interior Design (Hons)	ARCH1093	Interior Design Studio 1



Fee code	Description of fee	2021 fee including GST \$	Program / plan code	Program name	Course code	Course name
M1221	Intermediary fashion fabrication: assorted toiling fabrics \$20, misc haberdashery and trims \$20, miscellaneous millinery, corsetry, casting and moulding, experimental textiles materials (i.e. fabrics dyes, studs, eyelets, etc) \$25.	\$65.00	BP328	Bachelor of Fashion (Design)	GRAP2815, GRAP2814, GRAP2828, GRAP2829, GRAP2818, GRAP2683, GRAP2684, GRAP2827, GRAP2830, GRAP2825, GRAP2811, GRAP2826, GRAP2831	Fashion and Dress, Custom Fashion Design Industry Techniques, Fashion Design Object and Space, Fashion Design Performance and Function, Fashion Design Diversity, Fashion and Textile Industry Placement, Fashion Global Experience, Fashion Design Languages and Writing, Fashion Design, Wear, Use and Consumption, Fashion Design Body Artefacts and Accessories, Bio Fashion Design and Materials, Fashion Design Compositions and Styling, Garment Design Industry Techniques
M1222	Basic fashion fabrication: assorted toiling fabrics \$20, misc haberdashery and trims \$20, miscellaneous millinery, corsetry, casting and moulding, experimental textiles materials (i.e. fabrics dyes, studs, eyelets, etc) \$15.	\$55.00	BP328	Bachelor of Fashion (Design)	GRAP2815, GRAP2814, GRAP2828, GRAP2829, GRAP2818, GRAP2683, GRAP2684, GRAP2827, GRAP2830, GRAP2825, GRAP2811, GRAP2826, GRAP2831	Fashion and Dress, Custom Fashion Design Industry Techniques, Fashion Design Object and Space, Fashion Design Performance and Function, Fashion Design Diversity, Fashion and Textile Industry Placement ,Fashion Global Experience, Fashion Design Languages and Writing, Fashion Design, Wear, Use and Consumption, Fashion Design Body Artefacts and Accessories, Bio Fashion Design and Materials, Fashion Design Compositions and Styling, Garment Design Industry Techniques



Fee code	Description of fee	2021 fee including GST \$	Program / plan code	Program name	Course code	Course name
M1223	Calico 15mt \$40, toiling materials \$15, 5mt fusing \$7, assorted fusable materials \$13, overlocking/specialty machine threads \$8.00, patternmaking paper \$25.00, miscellaneous haberdashery trims and accessories (i.e. assorted elastics/shoulder pads, snaps, buttons) \$12.	\$120.00	BH124, BH127	Bachelor of Textiles (Design) (Honours), Bachelor of Fashion (Design) (Honours)	GRAP2731, GRAP2849	Advanced Textile Materials, Techniques and Expressions, Advanced Fashion Materials, Techniques and Expressions
M1224	Calico 15mt \$40, toiling materials \$15, 5mt fusing \$7, assorted fusable materials \$13, overlocking/specialty machine threads \$8, patternmaking paper \$25, miscellaneous haberdashery trims and accessories (i.e, assorted elastics/shoulder pads, snaps, buttons) \$12.	\$120.00	BH124, BH127	Bachelor of Textiles (Design) (Honours), Bachelor of Fashion (Design) (Honours)	GRAP2845, GRAP2844, GRAP2841, GRAP2840, GRAP2892	Fashion Design Honours Project, Fashion Design Honours Collection, Fashion Design Honours Placement, Fashion Design Honours Research Project, Textile Design Honours Research Project
M1225	Calico 15mt \$40, toiling fabrics \$15, 5mt fusing \$7, overlocking/specialty machine threads \$8, patternmaking paper \$25, miscellaneous haberdashery, trims and accessories (i.e. assorted elastics/shoulder pads/standard 18cm dress zippers, etc) \$25.	\$120.00	BP328	Bachelor of Fashion (Design)	GRAP2835, GRAP2834	Fashion Design Project Launch, Fashion Design Persona Project



Fee code	Description of fee	2021 fee including GST \$	Program / plan code	Program name	Course code	Course name
M1237	Five nights accommodation (two or more students share each room) at a hotel / motel in Lakes Entrance.	\$200.00	BP192, BP161, BP096, BP193, BH096, BH101, BP192, BP229, BP305, MC191	Bachelor of Environmental Science, Bachelor of Environmental Science/Bachelor of Business (Management), Bachelor of Environmental Science/Bachelor of Engineering (Environmental Engineering) (Honours), Bachelor of Environmental Science/Bachelor of Environment and Society, BEnvSci/BEng(EnvEng)(Hons), BSc (Dean's Scholar)(Honours), B Environmental Science, B Science, B Sc (AppSc)/B Bus(Management), Masters Environmental Science and Technology	ENVI1145 (UGRD), ENVI1232 (PGRD)	Environmental Sampling and Analysis



Fee code	Description of fee	2021 fee including GST \$	Program / plan code	Program name	Course code	Course name
M1237A	Covers hire of local buses and hire of boat at Lakes Entrance - a five day field trip.	\$125.00	BP192, BP161, BP096, BP193, BH096, BH101, BP192, BP229, BP305, MC191	Bachelor of Environmental Science, Bachelor of Environmental Science/Bachelor of Business (Management), Bachelor of Environmental Science/Bachelor of Engineering (Environmental Engineering) (Honours), Bachelor of Environmental Science/Bachelor of Environment and Society, BEnvSci/BEng(EnvEng)(Hons), BSc (Dean's Scholar)(Honours), B Environmental Science, B Science, B Sc (AppSc) /B Bus(Management), Masters Environmental Science and Technology	ENVI1145 (UGRD), ENVI1232 (PGRD)	Environmental Sampling and Analysis



Fee code	Description of fee	2021 fee including GST \$	Program / plan code	Program name	Course code	Course name
M1242	Custom made circuit boards are provided by the School free of charge for students to use in labs. Students have the option to purchase another circuit board for home use. This board is with the USB/Firewire connecting lead.	\$79.00	BH075, BH073, BH072, BH071, BH069, BH067, BH091, BH094, BH097, BH081, BH107, BH083, BH109, BH110, BH111	B Eng (Electrical Engineering), B Eng (Elec/Electronic Eng), B Eng (Comp/Network Eng), B Eng (Electron/Comms), B Eng (Biomedical) B Eng (EPD), BEng(CompNtwkEng)/B Comp Sci, B Eng (Electron/Comms)/B Comp Sci, B Sci (Physic)/B Eng (Electron/Comms), BEng(Elec Eng) /BBus(Mngmnt), BEng(CompNtwkEng) /BBus(Mngmnt), B Eng (Elec Eng)/B Commerce, B Eng (Elec/Electronic Eng)/BBus(Entprnshp), B Eng (Elec/Electronic Eng)/ BBus(Intl Bus), B Eng (Elec/Electronic Eng) /BBus(Mngmnt).	Various	Various



Fee code	Description of fee	2021 fee including GST \$	Program / plan code	Program name	Course code	Course name
M1277	One set of basic pattern blocks \$40. The set includes a size 12 card pattern block of x1 basic bodice, x1 basic skirt and x1 basic pant block.	\$40.00	BH103, BP328	Bachelor of Fashion (Design) (Honours), Bachelor of Fashion (Design)	GRAP2832, GRAP2821, GRAP2816, GRAP2819, GRAP2820, GRAP2817, GRAP2837, GRAP2833, GRAP2834, GRAP2827, GRAP2835, GRAP2822, GRAP2815, GRAP2814, GRAP2828, GRAP2829, GRAP2818, GRAP2683, GRAP2684, GRAP2827, GRAP2830, GRAP2825, GRAP28311, GRAP2826, GRAP2831	Introduction to Fashion Design Practice, Fashion Expressions, Fashion and Textiles Materials, Fashion Design Industry Techniques, Fashion Design Reuse, Fashion Communication Design, Transforming Fashion Design Materials, Fashion Design Partnered Project, Fashion Design Persona Project, Fashion Design Persona Project, Fashion Design Project Launch, Fashion Design Project Launch, Fashion Presentation Design, Fashion and Dress, Custom Fashion Design Industry Techniques, Fashion Design Object and Space, Fashion Design Object and Space, Fashion Design Performance and Function, Fashion Design Diversity, Fashion and Textile Industry Placement ,Fashion Global Experience, Fashion Design Languages and Writing, Fashion Design, Wear, Use and Consumption, Fashion Design Body Artefacts and Accessories, Bio Fashion Design and Materials, Fashion Design Compositions and Styling, Garment Design Industry Techniques



Fee code	Description of fee	2021 fee including GST \$	Program / plan code	Program name	Course code	Course name
M1278	Quick unpick \$3, bobbin case \$10.50, thread clipper \$3.50, tweezers \$5.00, 3 alloy bobbins \$4.00, presser foot with safety guard \$10.25, invisible zipper foot \$9.25, left zipper foot \$7.25, right zipper foot \$7.25, screw driver set \$2, box of pins \$4 and x2 1000mt thread reels (black and white) \$4.	\$70.00	BP328	Bachelor of Fashion (Design)	All courses	All courses
M1294	Wool yarn quantity equivalent to 2 cones at \$15ea = \$30, punch cards \$5. (note full cones are not used by each student - A variety of colours will be accessable for students)	\$35.00	AD014	Associate Degree Fashion Design & Technology	GRAP2464	Fashion Knitwear
M1295	Print screen materials \$25, inks and paints \$10, fabrics \$5	\$40.00	AD014	Associate Degree Fashion Design & Technology	GRAP2465	Printing for Fashion
M1315	Card \$9, clay \$7, construction materials \$16.	\$32.00	AD007	Associate Degree in Design (Furniture)	GRAP2375	Design Principles and Elements
M1327A	•	\$40.00	C4367	Certificate IV Allied Health	All courses	All courses
M1331	Five day Field trip to Lake Condah and Heywood district - bus transport.	\$100.00	C5367	Diploma of Conservation & Land Management	ENVI5103C	Natural cultural resources



Fee code	Description of fee	2021 fee including GST \$	Program / plan code	Program name	Course code	Course name
M1332	Five day field trip to Lake Condah and Heywood district - accommodation. Students are responsible for their own food.	\$100.00	C5367	Diploma of Conservation & Land Management	ENVI5103C	Natural cultural resources
M1333	Four day field trip to Wonthaggi heathlands - bus transport to Wonthaggi and study sites.	\$95.00	C5367	Diploma of Conservation & Land Management	MATH7076C	Conduct Biological Surveys
M1334	Four day field trip to Wonthaggi heathlands - accommodation.	\$100.00	C5367	Diploma of Conservation & Land Management	MATH7076C	Conduct Biological Surveys
M1336	Safety helmet \$14.30, vest \$13.20, safety specs \$6.50, ear muffs \$16. TOTAL \$50	\$50.00	C5256, C4274	Diploma Building & Construction (Building), Certificate IV in Building Construction (Building)	All courses	All courses
M1337	One building site excursion for first and second year students. Fee for travel.	\$40.00	C5256, C4274	Diploma Building & Construction (Building), Certificate IV in Building & Construction (Building)	All courses	All courses
M1357	Pattern making paper \$15, card \$10, fabric to produce toiles of patterns \$15.	\$40.00	AD014	Associate Degree Fashion Design & Technology	GRAP2485	Pattern Technology 1
M1358	Pattern making paper \$25, card \$5, calico to produce pattern toiles \$10.	\$40.00	AD014	Associate Degree Fashion Design & Technology	GRAP2483	Pattern Technology 2
M1359	Pre-cut samples \$20, fabric \$15, thread \$5, trims \$10 (zippers, buttons, interfacing etc).	\$50.00	AD014	Associate Degree Fashion Design & Technology	GRAP2471	Design and Development 1



Fee code	Description of fee	2021 fee including GST \$	Program / plan code	Program name	Course code	Course name
M1360	Pre-cut samples \$15, fabric \$20, thread \$5, trims \$10 (zippers, buttons, interfacing etc).	\$50.00	AD014	Associate Degree Fashion Design & Technology	GRAP2466	Design and Development 2
M1365	Profile 21 subscription - electronic database annual subscription fee. Provides a service to the apprentice for collecting and recording of weekly evidence of on the job work.	\$48.00	C3295	Certificate III in Air-conditioning and Refrigeration	All courses	Refrigeration & air conditioning year 1, 2 and 3
M1376	Various specialty samples and fabric swatches \$40, miscellaneous toiling fabrics \$12, specialist machine threads \$8.	\$60.00	BP328	Bachelor of Fashion (Design)	GRAP2816	Fashion and Textiles Materials
M1393	Mock materials for prototyping (MDF, card, hard foam, glue and timber).	\$35.00	AD007	Associate Degree in Design (Furniture)	GRAP2382	Design Studio 3 (Furniture)
M1394	Drawing papers \$4, university cartridge \$4, watercolour paper \$4, A3 colour print \$4, media sundries \$4	\$20.00	C4382	Certificate IV in Design	VART6407C	Illustration techniques
M1395	Drawing papers \$15 (cartridge and newsprint) and sundries \$5.	\$20.00	C4382	Certificate IV in Design	VART6406C	Drawing to communicate
M1397	Drawing papers \$10, university cartridge \$5, drawing media \$5.	\$20.00	C5359	Diploma of Graphic Design	VART6438C	Observational drawing
M1398	Specialist paper stock \$10, ink, nibs and sundries \$10.	\$20.00	C5359	Diploma of Graphic Design	VART6436C	Refine drawing and other visual representation tools



Fee code	Description of fee	2021 fee including GST \$	Program / plan code	Program name	Course code	Course name
M1426	Profile 21 subscription - electronic database annual subscription fee. Provides a service to the apprentice for collecting and recording of weekly evidence of on the job work. Only apprentices are required to keep profiling records. Students who have their electrical license are not required to pay this fee.	\$48.00	C3296, C4315	Certificate III in Electrotechnology Electrician, Certificate IV in Electrical - Instrumentation	All courses	All courses
M1433	This fee is for flight training fees for International students enrolled in BP070PL (the plan that includes flight training towards Commercial Pilot Licence) to cover the standard number of flying hours (26 hours).	\$9,480.00	BP070PL	Bachelor of Applied Science (Aviation)	AERO2470	Flying to Private Pilot Licence
M1434	This fee is for flight training fees for International students enrolled in BP070PL (the plan that includes flight training towards Commercial Pilot Licence) to cover the standard number of flying hours (76 hours).	\$24,600.00	BP070PL	Bachelor of Applied Science (Aviation)	AERO2586	Commercial Pilot Licence Flying



Fee code	Description of fee	2021 fee including GST \$	Program / plan code	Program name	Course code	Course name
M1444	C172S hourly solo hire rate per hour: this fee relates to flight training fees for students enrolled in AD023 or BP070 and is for one additional hour of flying time, and will only be charged if additional hours above the standard number of flying hours are required.	\$281.00	AD023, BP070PL	Associate Degree Aviation (Prof Pilots), Bachelor of Applied Science (Aviation)	AERO2467, AERO2619, AERO2470, AERO2618, AERO2576, AERO2586, AERO2616, AERO2578, AERO2479, AERO2620, AERO2622	Flying to Recreational Pilot Licence, Flying to Private Pilot Licence, Introduction to Commercial Pilot Licence, Commercial Pilot Licence Flying, Instructor Theory, Flying to Instructor rating, Flying to Instrument rating
M1445	C182T hourly solo hire rate per hour: this fee relates to flight training fees for students enrolled in AD023 or BP070 and is for one additional hour of flying time, and will only be charged if additional hours above the standard number of flying hours are required.	\$468.00	AD023, BP070PL	Associate Degree Aviation (Prof Pilots), Bachelor of Applied Science (Aviation)	AERO2467, AERO2619, AERO2470, AERO2618, AERO2576, AERO2586, AERO2616, AERO2578, AERO2479, AERO2620, AERO2622	Flying to Recreational Pilot Licence, Flying to Private Pilot Licence, Introduction to Commercial Pilot Licence, Commercial Pilot Licence Flying, Instructor Theory, Flying to Instructor rating, Flying to Instrument rating
M1446	PA-44 hourly solo hire rate per hour: this fee relates to flight training fees for students enrolled in AD023 or BP070 and is for one additional hour of flying time, and will only be charged if additional hours above the standard number of flying hours are required.	\$536.00	AD023, BP070PL	Associate Degree Aviation (Prof Pilots), Bachelor of Applied Science (Aviation)	AERO2467, AERO2619, AERO2470, AERO2618, AERO2576, AERO2586, AERO2616, AERO2578, AERO2479, AERO2620, AERO2622	Flying to Recreational Pilot Licence, Flying to Private Pilot Licence, Introduction to Commercial Pilot Licence, Commercial Pilot Licence Flying, Instructor Theory, Flying to Instructor rating, Flying to Instrument rating



Fee code	Description of fee	2021 fee including GST \$	Program / plan code	Program name	Course code	Course name
M1447	Aero 8KCAB hourly solo hire rate per hour: this fee relates to flight training fees for students enrolled in AD023 or BP070 and is for one additional hour of flying time, and will only be charged if additional hours above the standard number of flying hours are required.	\$333.00	AD023, BP070PL	Associate Degree Aviation (Prof Pilots), Bachelor of Applied Science (Aviation)	AERO2467, AERO2619, AERO2470, AERO2618, AERO2576, AERO2586, AERO2616, AERO2578, AERO2479, AERO2620, AERO2622	Flying to Recreational Pilot Licence, Flying to Private Pilot Licence, Introduction to Commercial Pilot Licence, Commercial Pilot Licence Flying, Instructor Theory, Flying to Instructor rating, Flying to Instrument rating
M1448	Flight instructor hourly rate: this fee is for Flight Training Fees for students enrolled in AD023 or BP070 and is for one additional hour of instructor based flying time, and will only be charged if additional instructor based hours above the standard number of hours are required.	\$187.00	AD023, BP070PL	Associate Degree Aviation (Prof Pilots), Bachelor of Applied Science (Aviation)	AERO2467, AERO2619, AERO2470, AERO2618, AERO2576, AERO2586, AERO2616, AERO2578, AERO2479, AERO2620, AERO2622	Flying to Recreational Pilot Licence, Flying to Private Pilot Licence, Introduction to Commercial Pilot Licence, Commercial Pilot Licence Flying, Instructor Theory, Flying to Instructor rating, Flying to Instrument rating
M1457	Laser cut materials: wood \$10, plastic \$10, polystrene \$30, paint \$10, adhesives \$10, papers \$10, carboard \$10.	\$90.00	C5381	Diploma of Visual Merchandising	GRAP6356C	Explore and apply the creative design process to 3D forms
M1460	Exhibition and event attendance. Includes 1 or 2 possible exhibitions at NGV, MEC, Melbourne Museum or ACMI.	\$60.00	C5381	Diploma of Visual Merchandising	GRAP6359C	Design history, Source and apply information on the history and theory of design



Fee code	Description of fee	2021 fee including GST \$	Program / plan code	Program name	Course code	Course name
M1461	Drawing papers \$15, cartridge \$5, and sundries \$10.	\$30.00	C5381	Diploma of Visual Merchandising	VART6469C	Produce drawings to communicate ideas
M1462	Poster paper \$30, nylon \$10, fastener and adhesives \$10, acrylic risers \$10, tape \$10.	\$70.00	C5381	Diploma of Visual Merchandising	MKTG8026C	Design and Install Visual Merchandising Signage
M1466	Various specialty samples and fabric swatches \$40, miscellaneous toiling fabrics \$12, specialist machine threads \$8.	\$60.00	BP121	Bachelor of Arts (Textile Design)	GRAP2873, GRAP2869	TextileDesign Partnered Project, TD Project Launch
M1467	Dyes, pigments and print pastes \$50, range of substrates for printing \$23, photographic screen coating \$23, digital textile printing and specialty materials \$34 OR core and specialist yarns for knitting and weaving (it depends on the students chosen specialisation area as to whether they are provided mainly with yarn or with materials for printing).	\$130.00	BP121	Bachelor of Arts (Textile Design)	GRAP2874	Textile Design Persona Project
M1469	Pattern making paper \$10, calico to produce prototype garments \$15, Interlinings and threads for garments \$5, External cutting, wool fabric, trims & linings for jacket designs \$110.	\$140.00	AD014	Associate Degree Fashion Design & Technology	GRAP2467	Design and Development 3



Fee code	Description of fee	2021 fee including GST \$	Program / plan code	Program name	Course code	Course name
M1471	Pattern making paper \$15, calico or fabrics to produce prototype garments \$20, threads and machine trims for sewing individual garments \$5.	\$40.00	AD014	Associate Degree Fashion Design & Technology	GRAP2472	Design and Development 4
M1472	Pattern making paper \$20, fabric to produce toiles of patterns \$10.	\$30.00	AD014	Associate Degree Fashion Design & Technology	GRAP2486	Pattern Technology 4
M1477	Shoemakers tape \$5, thread clippers \$2, shoelaces \$3, jewellers rouge \$6, rap stick \$30, masking tape \$3, leather lining \$20, leather upper \$50, leather heels & top piece \$70, shoe box \$6, soling material \$40, misc small items \$10 (e.g. eyelets, shanks, thread etc).	\$245.00	C4389	Certificate IV in Custom Made Footwear	MANU7386C	Assemble Shoe by Hand
M1495	Manual of Aviation Meteorology.	\$79.00	AD023, BP070PL	Associate Degree Aviation (Prof Pilots), Bachelor of Applied Science (Aviation)	All courses - 1st & 2nd Year	All courses - 1st & 2nd Year
M1496	Avionics Manual - Cessna 172S POH Glass (172SIMBUS).	\$111.00	AD023, BP070PL	Associate Degree Aviation (Prof Pilots), Bachelor of Applied Science (Aviation)	AERO2467, AERO2619	Flying to Recreational Pilots License
M1497	Avionics Manual - Cessna 172S POH Analogue (172SIM).	\$111.00	AD023, BP070PL	Associate Degree Aviation (Prof Pilots), Bachelor of Applied Science (Aviation)	AERO2467	Flying to General Flying Progress Test



Fee code	Description of fee	2021 fee including GST \$	Program / plan code	Program name	Course code	Course name
M1498	ASA Circular Flight Computer - \$70, Protractor - \$13, Scale Ruler 180 NM - \$16.	\$99.00	AD023, BP070PL	Associate Degree Aviation (Prof Pilots), Bachelor of Applied Science (Aviation)	AERO2467, AERO2619	Flying to Recreational Pilots License
M1499	David Clark Headset (H10 13.4).	\$630.00	AD023, BP070PL	Associate Degree Aviation (Prof Pilots), Bachelor of Applied Science (Aviation)	AERO2467, AERO2619	Flying to Recreational Pilots License
M1502	Ladies long sleeve epaulette shirt.	\$30.00	AD023, BP070PL	Associate Degree Aviation (Prof Pilots), Bachelor of Applied Science (Aviation)	All courses - 1st & 2nd Year	All courses - 1st & 2nd Year
M1514	The Human Being Pilot - Book.	\$87.00	AD023, BP070PL	Associate Degree Aviation (Prof Pilots), Bachelor of Applied Science (Aviation)	AERO2469, AERO2618, AERO2587, AERO2616	Theory to Private Pilot Licence, Flying to Private Pilot Licence, Commercial Pilot Licence Theory
M1515	Victorian Country Airstrip Guide (PPL & CPL)	\$65.00	AD023, BP070PL	Associate Degree Aviation (Prof Pilots), Bachelor of Applied Science (Aviation)	AERO2470, AERO2618, AERO2586, AERO2616	Flying to Private Pilot Licence, Commercial Pilot Licence Flying
M1516	Avionics Manual - Cessna 182T POH Analogue (182TIM) (PPL & CPL).	\$97.00	AD023, BP070PL	Associate Degree Aviation (Prof Pilots), Bachelor of Applied Science (Aviation)	AERO2470, AERO2618, AERO2586, AERO2616	Flying to Private Pilot Licence, Commercial Pilot Licence Flying
M1517	Avionics Manual - Cessna 182T POH Glass (182TIMAUS) (PPL & CPL).	\$97.00	AD023, BP070PL	Associate Degree Aviation (Prof Pilots), Bachelor of Applied Science (Aviation)	AERO2470, AERO2618, AERO2586, AERO2616	Flying to Private Pilot Licence, Commercial Pilot Licence Flying
M1518	Knee-board (RPL, PPL, CPL).	\$79.00	AD023, BP070PL	Associate Degree Aviation (Prof Pilots), Bachelor of Applied Science (Aviation)	AERO2467, AERO2470, AERO2618, AERO2586, AERO2616	Flying to General Flying Progress Test, Flying to Private Pilot Licence, Commercial Pilot Licence Flying
M1519	Instrument Rating Study Guide (Bob Tait).	\$110.00	AD023	Associate Degree Aviation (Prof Pilots)	AERO2477, AERO2623	Theory to Instrument rating



Fee code	Description of fee	2021 fee including GST \$	Program / plan code	Program name	Course code	Course name
M1520	Flight Simulator hourly dual hire rate per hour: this fee relates to flight simulator training fees for students enrolled in AD023 & BP070 and is for one additional hour of simulator time, and will only be charged if additional hours above the standard number of simulator hours are required.	\$270.00	AD023, BP070PL	Associate Degree Aviation (Prof Pilots), Bachelor of Applied Science (Aviation)	AERO2467, AERO2586, AERO2616	Flying to General Flying Progress Test, Commercial Pilot Licence Flying
M1521	C172S dual hire flying cost per 1 hour for students who withdraw prior to census date.	\$468.00	AD023, BP070PL	Associate Degree Aviation (Prof Pilots), Bachelor of Applied Science (Aviation)	AERO2467, AERO2470, AERO2618, AERO2586, AERO2616	Flying to General Flying Progress Test, Flying to Private Pilot Licence, Commercial Pilot Licence Flying
M1523	Fee for bus travel: to Johnston Collection (\$15), NGV workshop (\$15) & one other similar (\$15).	\$45.00	AD020	Associate Degree Interior Decoration & Design	ARCH1377	History & Design of Theory for Interiors
M1537	Field trip to one or more local sites suitable to conduct a bushfire attack level assessment.	\$30.00	C6161	Advanced Diploma of Building Design (Arch)	ARCH5223	Conduct and Apply BAL
M1564	Pattern making paper \$20, calico/fabric and trims to produce prototype garments \$10.	\$30.00	AD014	Associate Degree Fashion Design & Technology	GRAP2619	Pattern Technology 3



Fee code	Description of fee	2021 fee including GST \$	Program / plan code	Program name	Course code	Course name
M1572	This fee is for flight training fees for International students enrolled in BP070PL (the plan that includes flight training towards Commercial Pilot Licence) to cover the standard number of flying hours (39 hours).	\$18,120.00	BP070PL	Bachelor of Applied Science (Aviation)	AERO2467	Flying to Recreational Pilots Licence
M1576	Speciality paper stock \$10, media and calligraphic items \$10, letterpress ink \$10.	\$30.00	AD022	Associate Degree in Graphic Design	GRAP2524	Typographic language
M1577	Drawing paper (cartridge, watercolour paper and newsprint) \$10, drawing materials \$10.	\$20.00	AD022	Associate Degree in Graphic Design	GRAP2526	Drawing and digital illustration
M1582	Bus transport to and from the Winda-Mara Aboriginal Co-operative	\$140.00	Various	Various (elective)	AERS1003, AERS1004	Environment and Culture: Ecological and Aboriginal Understandings of Country
M1583	4 nights accommodation at the Winda-Mara Aboriginal Co-operative (Heywood).	\$100.00	C5367	Diploma of Conservation & Land Management	AERS1003, AERS1004	Environment and Culture: Ecological and Aboriginal Understandings of Country
M1589	Bus trip \$15 to manufacturer. Example of previous site visits are BQ Design and Blumm.	\$15.00	AD020	Associate Degree in Interior Decoration & Design	ARCH1383, ARCH1382	Decoration Practice 2
M1597	Event materials: polystyrene \$10, paint \$5, adhesives \$5, cardboard \$10.	\$30.00	C5381	Diploma of Visual Merchandising	GRAP6360C	Research and apply techniques in spatial design
M1598	General props \$50, signage vinyl \$25, pins \$5, nylon \$5, paint \$5.	\$90.00	C5381	Diploma of Visual Merchandising	MKT8022C	Implement Visual Merchandising Concepts



Fee code	Description of fee	2021 fee including GST \$	Program / plan code	Program name	Course code	Course name
M1602	Entry to sustainable house tour \$15.	\$15.00	AD020	Associate Degree in Interior Decoration & Design	ARCH1386	Interior Construction
M1605	Advanced specialist materials: prototyping fabrics (i.e. calico and/or other miscellaneous fabrics) \$30, specialty fusings (i.e. vliesofix, soluweb, mid-heavy weight, fuse tape) \$15, overlocking / specialty machine threads \$8, miscellaneous haberdashery supplies (i.e assorted elastics, shoulder pads, eyelets, studs, woven/stretch bias bind, and/or other misc trims and accessories) \$12.	\$65.00	BP328	Bachelor of Fashion (Design)	GRAP2832, GRAP2821, GRAP2816, GRAP2819, GRAP2820, GRAP2817, GRAP2837, GRAP2833, GRAP2834, GRAP2877, GRAP2835, GRAP2822	Introduction to Fashion Design Practice, Fashion Expressions, Fashion and Textiles Materials, Fashion Design Industry Techniques, Fashion Design Reuse, Fashion Communication Design, Transforming Fashion Design Materials, Fashion Design Partnered Project, Fashion Design Persona Project, Fashion Design Strategies and Environments, Fashion Design Project Launch, Fashion Presentation Design



Fee code	Description of fee	2021 fee including GST \$	Program / plan code	Program name	Course code	Course name
M1607	Intermediary specialist materials: prototyping fabrics (i.e. calico and/or other miscellaneous fabrics) \$20, specialty fusings (i.e. vliesofix, soluweb, mid-heavy weight, fuse tape) \$15, overlocking / specialty machine threads \$8, miscellaneous haberdashery supplies (i.e. assorted elastics, shoulder pads, eyelets, studs, woven/stretch bias bind, and/or other misc trims and accessories) \$12.	\$55.00	BH103	Bachelor of Fashion (Design) (Honours)	GRAP2243, GRAP2457, GRAP2459	Fashion Design Studio 3, Fashion Design Studio 5, Fashion Design Studio 7
M1612	Replacement RMIT branded epaulette.	\$40.00	AD023, BP070PL	Associate Degree Aviation (Prof Pilots), Bachelor of Applied Science (Aviation)	All courses - 1st & 2nd Year	All courses-1st & 2nd Year
M1616	Replacement RMIT branded tie.	\$40.00	AD023, BP070PL	Associate Degree Aviation (Prof Pilots), Bachelor of Applied Science (Aviation)	All courses - 1st & 2nd Year	All courses-1st & 2nd Year
M1623	Range of yarn types. Total expenditure across number of yarns \$60	\$60.00	C4390	Certificate IV in Textile Design and Development	VART6452C	Produce Woven Textile Samples
M1628	Two RMIT logo polo shirts, required by students for identification purposes while on clinical placement.	\$40.00	C5365	Diploma of Nursing	All courses	All courses



Fee code	Description of fee	2021 fee including GST \$	Program / plan code	Program name	Course code	Course name
M1632	This fee is for the WorkSafe Victoria Construction Induction 'White Card', which allows students access to access construction sites.	\$45.00	C4371, C5349	Certificate IV in Live Production and Technical Services, Diploma of Live Production and Technical Services	OHTH5849C	Work safely in the construction industry
M1638	Bus trip for site visit. Example of previous site visits are BQ Design and Schiavello/Blumm.	\$25.00	C5396	Diploma of Interior Design	GRAP6357C	Establish, negotiate and refine a design brief
M1644	2 night Barmah field trip accommodation.	\$125.00	C5367	Diploma of Conservation & Land Management	ENVI5101C	Develop a Management Plan for a designated area
M1645	River Tour (Kingfisher Cruises).	\$21.00	C5367	Diploma of Conservation & Land Management	ENVI5101C	Develop a Management Plan for a designated area
M1646	Barmah Field Trip - bus transport and tour of Aboriginal sites by Aboriginal elder.	\$80.00	C5367	Diploma of Conservation & Land Management	ENVI5101C	Develop a Management Plan for a designated area
M1647	Miscellaneous fabric inks, paint, dyes, specialty printing materials etc \$30, specialty non-woven fusings etc (i.e. vliesofix) \$10, miscellaneous prototyping fabrics \$15, patternmaking paper \$10, miscellaneous haberdashery \$12.	\$77.00	BP328	Bachelor of Fashion (Design)	GRAP2837	Transforming Fashion Design Materials



Fee code	Description of fee	2021 fee including GST \$	Program / plan code	Program name	Course code	Course name
M1648	Essentials machine kit: quick unpick \$4.50, bobbin case \$10.50, thread clipper \$2.80, 3 alloy bobbins \$3, presser foot with safety guard \$11.50, box of pins \$3.80, x2 1000mt thread reels (black and white) \$4.80, assorted handsewing needles (30pk) \$4.50, x3 18cm c/end zips (b&w) \$2.60, x2 18cm invisible zips \$2.	\$50.00	BP328	Bachelor of Fashion (Design)	GRAP2692	Sewing For Creative Practice
M1649	Calico 4m \$10, sewing guides \$5, t-shirt fabrics & trims \$8, precut sampling exercises \$10, miscellaneous haberdashery trims and accessories (i.e assorted elastics/shoulder pads etc) \$7.	\$40.00	BP328	Bachelor of Fashion (Design)	GRAP2692	Sewing For Creative Practice
M1651	C182T dual hire flying cost per 1 hour for students who withdraw prior to census date.	\$655.00	AD023, BP070PL	Associate Degree Aviation (Prof Pilots), Bachelor of Applied Science (Aviation)	All courses - 1st & 2nd Year	All courses - 1st & 2nd Year
M1652	PA-44 dual hire flying cost per 1 hour for students who withdraw prior to census date.	\$723.00	AD023, BP070PL	Associate Degree Aviation (Prof Pilots), Bachelor of Applied Science (Aviation)	All courses - 1st & 2nd Year	All courses - 1st & 2nd Year
M1653	Aero 8KCAB dual hire flying cost per 1 hour for students who withdraw prior to census date	\$520.00	AD023, BP070PL	Associate Degree Aviation (Prof Pilots), Bachelor of Applied Science (Aviation)	All courses - 1st & 2nd Year	All courses - 1st & 2nd Year



Fee code	Description of fee	2021 fee including GST \$	Program / plan code	Program name	Course code	Course name
M1657	HP Prime calculator plus Quickclose operating software.	\$270.00	C4388, C5368	Certificate IV in Surveying, Diploma of Surveying	All courses	All courses
M1659	Industrial Knitting sampling - jacquard knit (Shima) - optional production & sampling fee for technician and materials \$70	\$70.00	BP121	Bachelor of Arts (Textile Design)	GRAP2867	Knitted Textile Form
M1667	Tour cost for CERES & 1 other similar site visit.	\$15.00	C4402, C5396	Certificate IV in Interior Decoration, Diploma of Interior Design	ENVI5110C	Establish and maintain envrionmental sustainable creative practice
M1678	Accommodation for Queenscliff excursion - 3 nights.	\$238.70	BP229, BH101, BH096, BP161, BP192, BP193, BP235, BP305, MC191	Bachelor of Applied Sciences, BSc (Dean's Scholar)(Honours), BEnvSci / BEng(EnvEng)(Hons), B EnvSci / B Bus (Man), B Environmental Science, B EnvSc/BEnvSoc, B Envi Sci / B Eng (Envi Eng), B Sc (AppSc) / B Bus(Management), M Environmental Science & Tech	BIOL2255, BIOL2315	Marine Biology, Marine Biology



Fee code	Description of fee	2021 fee including GST \$	Program / plan code	Program name	Course code	Course name
M1678A	Meals for Queenscliff excursion - 4 days.	\$52.80	BP229, BH101, BH096, BP161, BP192, BP193, BP235, BP305, MC191	Bachelor of Applied Sciences, BSc (Dean's Scholar)(Honours), BEnvSci / BEng(EnvEng)(Hons), B EnvSci / B Bus (Man), B Environmental Science, B EnvSc/BEnvSoc, B Envi Sci/B Eng (Envi Eng), B Sc (AppSc) / B Bus(Management), M Environmental Science & Tech	BIOL2255, BIOL2315	Marine Biology, Marine Biology
M1685	Lake Mungo field trip bus transport, including transport to and from the City campus to Lake Mungo and transport around Lake Mungo during the excursion	\$115.00	Various	Various (elective)	AERS1003, AERS1004	Environment and Culture: Ecological and Aboriginal understandings of Country, Environment and Culture: Ecological and Aboriginal understandings of Country, (Postgraduate)
M1686	Lake Mungo field trip - 4 nights accommodation.	\$155.00	Various	Various (elective)	AERS1003, AERS1004	Environment and Culture: Ecological and Aboriginal understandings of Country
M1711	4 x A2 Epson colour outputs on specialist stock \$20.	\$20.00	AD022	Associate Degree in Graphic Design	GRAP2534	2D & 3D Design Production 1



Fee code	Description of fee	2021 fee including GST \$	Program / plan code	Program name	Course code	Course name
M1713	\$18 Bus fee - field trip and site visits (Botanical Gardens Cranbourne / Linen House / Maxwell & Williams / other suburban and country Victoria venues - farm, woollen mills, factories, showrooms)	\$18.00	BP121	Bachelor of Arts (Textile Design)	GRAP2858, GRAP2859, GRAP2816, SOCU2301, GRAP2872, GRAP2860, GRAP2876, GRAP2871, GRAP2873, GRAP2870, GRAP2869, GRAP2861, GRAP2862, GRAP2863, GRAP2864, GRAP2865, GRAP2866, GRAP2867, GRAP2868	Introduction to Textile Design Practice, Digital Textile Design, Fashion and Textiles Materials, Fashion, Textiles, Place and Story, Textile Design Expressions, Contemporary and Ethical Textiles, Textile Design Surface Form, Textile Design Communication, Textile Design Partnered Project, Textile Design Strategies and Environments, Textile Design Persona Project, Textile Design Presentation, Textile Design Project Launch, Knitted Textile Design, Woven Textile Design, Screen Printed Textile Design, Digital Printed Textile Design, Textile Surface Transformations, Textile Design Illustration, Knitted Textile Form, Textile Design, Colour and Surface,
M1722	Fee is for: prototyping materials \$15, assorted fusible materials \$15, overlocking/specialty machine threads \$8, patternmaking paper \$25, miscellaneous haberdashery trims and accessories (i.e. assorted elastics/shoulder pads, snaps, buttons) \$12.	\$75.00	BH124, BH127, BP328	Bachelor of Textiles (Design) (Honours), Bachelor of Fashion (Design) (Honours), Bachelor of Fashion (Design)	All courses	All courses
M1744	Tour cost for Federation Square & 1 other similar site visit.	\$15.00	C5396, C4402	Diploma of Interior Design, Certificate IV Interior Decoration	GRAP6356C	Explore and apply the creative design process to 3D forms



Fee code	Description of fee	2021 fee including GST \$	Program / plan code	Program name	Course code	Course name
M1745	4 x Colour outputs on specialist devices Roland and Epson printers.	\$20.00	AD022	Associate Degree in Graphic Design	GRAP2539	2D and 3D Design Production 2
M1748	Fee for camp meals, 2 nights, 3 days. Breakfast for days 2 & 3. Lunch for days 2 & 3. Dinner for days 1 & 2.	\$72.00	BP319	Bachelor of Health, Physical Education and Sport	TCHE2652	Beyond a Classroom
M1749	Fee for camp accommodation, 2 nights, 3 days. 2 night bunk room accomodation.	\$80.00	BP319	Bachelor of Health, Physical Education and Sport	TCHE2652	Beyond a Classroom
M1749A	Camp activities: 6 specialist adventure activities.	\$87.00	BP319	Bachelor of Health, Physical Education and Sport	TCHE2652	Beyond a Classroom
M1750	This fee is for Flight Training Fees for International students enrolled in BP070PL (the plan that includes flight training towards Commercial Pilot Licence) to cover the standard number of flying hours (21 hours).	\$4,920.00	BP070PL	Bachelor of Applied Science (Aviation)	AERO2576	Intro to Commercial Pilot Licence



Fee code	Description of fee	2021 fee including GST \$	Program / plan code	Program name	Course code	Course name
M1751	Essential fashion fabrication: assorted toiling fabrics \$15, misc haberdashery and trims \$15, miscellaneous millinery, corsetry, casting and moulding, experimental textiles materials (i.e. fabrics dyes, studs, eyelets, etc) \$15.	\$45.00	BP328	Bachelor of Fashion (Design)	GRAP2815, GRAP2814, GRAP2828, GRAP2829, GRAP2818, GRAP2683, GRAP2684, GRAP2827, GRAP2830, GRAP2825, GRAP2811, GRAP2826, GRAP2831	Fashion and Dress, Custom Fashion Design Industry Techniques, Fashion Design Object and Space, Fashion Design Performance and Function, Fashion Design Diversity, Fashion and Textile Industry Placement, Fashion Global Experience, Fashion Design Languages and Writing, Fashion Design, Wear, Use and Consumption, Fashion Design Body Artefacts and Accessories, Bio Fashion Design and Materials, Fashion Design Compositions and Styling, Garment Design Industry Techniques
M1752	Printing of exhibition materials for individual folios \$15, supporting mounting materials \$5, Photography \$20	\$40.00	C6158	Advanced Diploma of Textile Design and Development	VART6464C	Exhibit Textiles
M1759	Poster paper \$30, nylon \$10, fasteners & adhesives \$10, acrylic risers \$10, tape \$10.	\$70.00	C5381	Diploma of Visual Merchandising	MKTG8024C	Design and install visual merchandising displays
M1770	Entry fee to two guided fashion exhibitions.	\$30.00	C5336	Diploma of Fashion Styling	GRAP5228C	Identify contemporary fashion influences and construction techniques
M1781	Avionics Manual - Seminol PA44 POH Glass.	\$115.00	AD023	Associate Degree Aviation (Prof Pilots)	AERO2477, AERO2623, AERO2478, AERO2622	Theory to Instrument Rating, Flying to Instrument Rating



Fee code	Description of fee	2021 fee including GST \$	Program / plan code	Program name	Course code	Course name
M1782	Industrial Knitting sampling - jacquard knit (Shima) \$70 OR Industrial weave sampling \$70 - OR digital print sampling (bureau) \$70 - optional production & sampling fee for technician and materials.	\$70.00	BH124	Bachelor of Textiles (Design) (Honours)	GRAP2731	Advanced Textile Design Studio 1
M1783	Dyes, pigments and print pastes \$40, range of substrates for printing \$13, photographic screen coating \$23, digital textile printing and specialty materials \$44 OR core and specialist yarns for knitting and weaving (it depends on the students chosen specialisation area as to whether they are provided mainly with yarn or with materials for printing).	\$120.00	BH124	Bachelor of Textiles (Design) (Honours)	GRAP2731	Advanced Textile Design Studio 1
M1784	Industrial Knitting sampling - jacquard knit (Shima) \$70, OR Industrial weave sampling \$70, OR digital print sampling (bureau) \$70 - optional production & sampling fee for technician and materials.	\$70.00	BH124	Bachelor of Textiles (Design) (Honours)	GRAP2732	Advanced Textile Design Studio 2



Fee code	Description of fee	2021 fee including GST \$	Program / plan code	Program name	Course code	Course name
M1785	Dyes, pigments and print pastes \$40, range of substrates for printing \$13, photographic screen coating \$23, digital textile printing and specialty materials \$44 OR core and specialist yarns for knitting and weaving (it depends on the students chosen specialisation area as to whether they are provided mainly with yarn or with materials for printing).	\$120.00	BH124	Bachelor of Textiles (Design) (Honours)	GRAP2732	Advanced Textile Design Studio 2
M1788	Recovery Camp (estimated to be run during Jan, Jul & Nov), NSW attendance fee. 4 nights, 5 days. Total fee is \$1390. \$750 is funded by the school. \$640 student materials fee includes meals and twin-share accommodation. Students who wish to withdraw must do so more than 90 days prior to placement commencing otherwise they will remain liable for the full materials fee amount.	\$640.00	BP032	Bachelor of Nursing	NURS1151, NURS1152, NURS1153	Professional Experience Practice 3, Professional Experience Practice 4, Professional Experience Practice 5
M1796	Aviation Theory Centre - Basic Aeronautical Knowledge & Flight Radio for Pilots (2 books).	\$126.00	AD023, BP070PL	Associate Degree Aviation (Prof Pilots), Bachelor of Applied Science (Aviation)	AERO2466, AERO2625 AERO2467	Theory to Recreational Pilot Licence, Flying to Recreational Pilot Licence



Fee code	Description of fee	2021 fee including GST \$	Program / plan code	Program name	Course code	Course name
M1797	4 day field trip to Wonthaggi Heathlands - camping accommodation.	\$60.00	C5367	Diploma of Conservation & Land Management	MATH7076C	Conduct Biological Surveys
M1799	Plaster Knife w/Flask Opener \$23.80, Small D/E Cement Spatula \$17, Veritas Indelible Pencil \$5.10, Scalpel Handle No.3 \$9.35, Carving Zahle Round Handle \$11.90, Beebee Scissors \$11.90 Waxing Knife Fahenstock \$11.90, Le Cron \$11.90, Knife Type Paste Spatula \$11.90, T/C Bur Black Ring \$23.80, T/C Bur Green Ring \$27.20, T/C Bur Red Ring \$23.80, Moore's Mandrel \$5.95, Blazer Micro Torch ES- 1000 \$89.25, Plaster Mixing Bowl Lrg \$17, Safety Glasses B507 \$5.10, Labo Mate 100 Articulator \$93.50, Spiral Mandrel \$5.10, Mandrels for Wheels \$5.10, Sil.Points Mntd Blue Sm pk/10 \$17, S/S Spatula Plastic Handle \$23.80, Iwanson Calipers Wax \$25 TOTAL \$476.35	\$476.35	C5387	Diploma of Dental Technology	All courses	All courses
M1800	One Dental jacket in navy embroided with RMIT logo required by students for indentification purposes in the teaching clinic \$80.	\$80.00	C6157	Advanced Diploma of Dental Prosthetics	All courses	All courses



Fee code	Description of fee	2021 fee including GST \$	Program / plan code	Program name	Course code	Course name
M1801	Overlocking/specialty machine threads \$8, patternmaking paper \$25.	\$33.00	BP328	Bachelor of Fashion (Design)	All courses	All courses
M1802	Quick unpick \$3, bobbin case \$10.50, thread clipper \$3.50, tweezers \$5.00, 3 alloy bobbins \$4.00, presser Foot with safety guard \$10.25, invisible zipper foot \$9.25, left zipper foot \$7.25, right zipper foot \$7.25, screw driver set \$2, box of Pins \$4, x2 1000mt thread reels (black and white) \$4.	\$70.00	BH127	Bachelor of Fashion (Design) (Honours)	GRAP2849, GRAP2845, GRAP2844, GRAP2841, GRAP2840	Advanced Fashion Materials, Techniques and Expressions, Fashion Design Honours Project, Fashion Design Honours Collection, Fashion Design Honours Placement, Fashion Design Honours Research Project
M1803	Toiling materials \$15, assorted fusable materials \$13, overlocking/specialty machine threads \$8, patternmaking paper \$25, miscellaneous haberdashery trims and accessories (i.e, assorted elastics/shoulder pads, snaps, buttons) \$12.	\$73.00	BH127	Bachelor of Fashion (Design) (Honours)	GRAP2849, GRAP2845, GRAP2844, GRAP2841, GRAP2840	Advanced Fashion Materials, Techniques and Expressions, Fashion Design Honours Project, Fashion Design Honours Collection, Fashion Design Honours Placement, Fashion Design Honours Research Project



Fee code	Description of fee	2021 fee including GST \$	Program / plan code	Program name	Course code	Course name
M1804	Toiling calico & specialty fabrics \$80, 5mt fusing \$15, overlocking/specialty machine threads \$15, patternmaking paper & card \$50, miscellaneous haberdashery, trims and accessories (i.e assorted elastics/shoulder pads/standard zippers, etc) \$20, fabric cards \$20.	\$200.00	BP211	Bachelor of Fashion (Design Technology)	GRAP2759, GRAP2758, GRAP2762, GRAP2761, GRAP2763	Studio Projects, Digital Technology Projects, Studio Collection Development, Graduate Exhibition
M1807	Toiling calico & specialty fabrics \$60; Specialty fusing \$15; Overlocking/specialty threads \$15.00; Patternmaking paper & card \$40: miscellaneous haberdashgery, trims & accessories (i.e assorted elastics/shoulder pads/standard zippers, etc) \$10; Fabric cards \$10.	\$150.00	BP211	Bachelor of Fashion (Design Technology)	GRAP2758, GRAP2759	Fashion Project - Collection, Fashion Project - Concept
M1808	High impact polystrene sheet \$10; Anti slip foam matting sheet \$10.	\$20.00	BP211	Bachelor of Fashion (Design Technology)	GRAP2762	Digital Design 1
M1809	Digital Textile Printing and Specialty Materials \$70.	\$70.00	BP121	Bachelor of Textile Design	All courses	All courses
M1810	Embroidery threads \$25, digital textile printing \$25 and specialty materials \$20.	\$70.00	BP121	Bachelor of Textile Design	All courses	All courses



Fee code	Description of fee	2021 fee including GST \$	Program / plan code	Program name	Course code	Course name
M1811	Dyes \$20, range of substrates for printing \$11, photographic screen coating \$23, and specialty materials \$16.	\$70.00	BP121	Bachelor of Textile Design	GRAP2868	Textile Design, Colour Surface
M1812	Purchase of specialty materials \$50 (filament for 3D printing, etc.).	\$50.00	BP121, BH124	Bachelor of Textile Design, Bachelor of Textiles (Design) (Honours)	All courses	All courses
M1817	Koori Heritage Trust entry \$16.50, Budj Bim Rangers Lake Condah 1 day tour \$45.	\$61.50	Various (elective)	Various (elective)	HUSO2215	Indigenous Fieldwork
M1818	Bus transport for field trip.	\$138.00	Various (elective)	Various (elective)	HUSO2215	Indigenous Fieldwork
M1819	Transport cost bus hire.	\$50.00	BH113, MC212	Bachelor of Applied Science (Property and Valuation) and Master of Property	OMGT1145, OMGT2070	Rural Valuations, Valuation of Rural Property
M1820	1 x Arquemedes Protrusal Articulator \$654.50, 1 x Arcon Facebow \$233.75 Total \$888.25.	\$888.25	C6157	Advanced Diploma of Dental Prosthetics	All courses	All courses
M1821	Media and calligraphic items \$10, letterpress ink \$10.	\$20.00	C5359	Diploma of Graphic Design	OMGT5049C	Produce Creative Work
M1822	Assorted yarns \$10 or printed fabrics, photographic emulsion \$5, calico \$5, substrates for binder tests \$5, dyes/pigments \$5, printing binders \$5, paper \$5, drafting film \$5, binders - gold, silver, puff, opaque \$5.	\$50.00	C6165	Advanced Diploma of Textile Design and Development	MSTGN4007	Contribute to the Development of Products or processes



Fee code	Description of fee	2021 fee including GST \$	Program / plan code	Program name	Course code	Course name
M1823	Assorted yarns for Scott weave machine, Sample fabric knitted \$25 and final knitted length of fabric \$40.	\$65.00	C6165	Advanced Diploma of Textile Design and Development	ISYS7575C	Apply Electronic Systems to Textile designs & production
M1824	Recovery Camp (estimated to be run during Jan, Jul & Nov), NSW attendance fee. 4 nights, 5 days. Total fee is \$1390. \$750 is funded by the school. \$640 student materials fee includes meals and twin-share accommodation. Students who wish to withdraw must do so more than 90 days prior to placement commencing otherwise they will remain liable for the full materials fee amount.	\$640.00	C5365	Diploma of Nursing	NURS5387C, NURS5388C	Implement and monitor care for a person with mental health conditions (HLTENN009)



Appendix 8 – Administrative fees

Fee code	College / Portfolio	Fee type	2021 fee description	2021 fee incl GST
ADM5	Academic Registrar's Group	Service	Replacement certificates, parchments or testamurs	\$170.00
ADM12	Global Marketing and Student Recruitment	Fine	Tullamarine Airport Pick up. Penalty fee only utilised if student books service and does not utilise it.	\$100.00
ADM14	Global Marketing and Student Recruitment	Service	Application fee for prospective International students.	\$100.00
ADM16	Library	Fine	\$0.50 per item for each day the item is overdue and \$5.00 per hour for overdue Reserve material	\$0.50 per item for each day the item is overdue and \$5.00 per hour for overdue Reserve material
ADM42	Academic Registrar's Group	Fine	Non Return of Academic Gown Melbourne	\$200.00
ADM43	Academic Registrar's Group	Fine	Late Enrolment Fee - STEM. More information at rmit.edu.au/students/student-essentials/enrolment/late-enrolment	\$220.00
ADM44	Academic Registrar's Group	Fine	Late Enrolment Fee - DSC. More information at rmit.edu.au/students/student-essentials/enrolment/late-enrolment	\$220.00
ADM46	Academic Registrar's Group	Fine	Late Enrolment Fee - Business. More information at rmit.edu.au/students/student-essentials/enrolment/late-enrolment	\$220.00
ADM55	Academic Registrar's Group	Service	Hire of Academic Dress: Students may wish to hire academic dress other than for the graduation ceremony. All enquiries for the hire of academic dress should be made with the Office of the Academic Registrar, Completions, Awards & Graduations unit	\$100.00
ADM81	Academic Registrar's Group	Service	OUA - Degree Registration - Business	\$120.00
ADM82	Academic Registrar's Group	Service	OUA - Degree Registration - STEM	\$120.00
ADM83	Academic Registrar's Group	Service	OUA - Degree Registration - DSC	\$120.00
ADM84	Academic Registrar's Group	Service	OUA - Credit Transfer Fee - Business	\$60.00
ADM85	Academic Registrar's Group	Service	OUA - Credit Transfer Fee - STEM	\$60.00
ADM86	Academic Registrar's Group	Service	OUA - Credit Transfer Fee - DSC	\$60.00



Fee code	College / Portfolio	Fee type	2021 fee description	2021 fee incl GST
ADM135	Academic Registrar's Group	Fine	This fee may be applied at the discretion of the Student Conduct Board or Senior Officer of the University as a penalty for an act of general misconduct by students. The fee is for cost recovery and the amount charged will be based on the cost of goods and services required to repair damaged property or to repair or replace physical items.	Variable
ADM137	Academic Registrar's Group	Service	Fee for letter requested by student. Acts as a financial disincentive to ensure only genuine requests are made.	\$30.00
ADM140	Academic Registrar's Group	Service	This fee will apply to students who seek permission to have their program reinstated after it has been lapsed/discontinued & where the late enrolment process does not apply. More information at rmit.edu.au/students/student-essentials/enrolment	\$275.00
ADM141	DSC	Travel	Late withdrawal from an international study tour. This fee will be charged to students who withdraw from a Global, Urban and Social Studies (GUSS) international study tour after receiving formal acceptance, more than 30 days from the departure date. The fee applies to any 2021 GUSS study tour.	\$400.00
ADM142	Academic Registrar's Group	Service	OUA Degree Registration - DSC. Combined fee for assessment of credit and registration to complete the RMIT degree through OUA.	\$180.00
ADM143	Academic Registrar's Group	Service	OUA Degree Registration - STEM. Combined fee for assessment of credit and registration to complete the RMIT degree through OUA.	\$180.00
ADM144	Academic Registrar's Group	Service	OUA Degree Registration - BUS. Combined fee for assessment of credit and registration to complete the RMIT degree through OUA.	\$180.00
ADM145	Academic Registrar's Group	Service	Letter - Academic Performance requests. Fee for letters requested by students and job networks for academic performance information. Acts as a financial disincentive to ensure only genuine requests are made.	\$80.00
ADM167	Global Marketing and Student Recruitment	Fine	Avalon Airport Pickup service. Penalty fee only utilised if student books service and does not utilise it.	\$100.00



Fee code	College / Portfolio	Fee type	2021 fee description	2021 fee incl GST
ADM168	DSC	Travel	Withdrawal from an international study tour. This fee will be charged to students who withdraw from a Global, Urban and Social Studies (GUSS) international study tour after receiving formal acceptance, more than 60 days prior of the departure date. Fee applies to any 2021 GUSS study tour	\$150.00
ADM179	DSC	Travel	Late withdrawal from an international study tour. This fee will be charged to students who withdraw from a Global, Urban and Social Studies (GUSS) international study tour after receiving formal acceptance, within 30 days of the departure date. The fee applies to any 2021 GUSS study tour.	\$750.00
ADM184	STEM	Fine	Penalty for late or non-return of a School issued Optically Stimulated Luminescence (OSL) radiation monitoring badge (School of Health & Biomedical Sciences).	\$100.00
ADM188	College of VE	Fine	Diploma of Nursing: this fee is to cover the cost of providing an additional placement if for any reason you are unsuccessful with a placement such as unsafe practice, failure to follow directions, failure to attend or RMIT being asked to remove you from a placement. The fee will be incurred for every block of placement that needs to be repeated. Every Diploma of Nursing student is provided with one opportunity to successfully complete each of their five clinical placements to attain the required minimum or 420 hours placement at no additional cost. You will not be allocated a placement until you have demonstrated all of the required skills in the Nursing Simulation Centre and passed any essential written assessments and the teachers believe you are ready to succeed	\$600.00



Fee code	College / Portfolio	Fee type	2021 fee description	2021 fee incl GST
ADM190	STEM	Service	Bachelor of Nursing administration fee: will be charged to students to cover the cost of placement fees that have been secured for students but where the following has occurred: - A student fails to attend an allocated placement without advanced prior notification of their non-attendance to the School's WIL Team - A student fails to meet the pre-clinical compliance deadline and fails to withdraw themselves from the associated WIL Placement Course by the pre-clinical compliance deadline - A student attempts a placement course (Unit of Study) however is removed from the placement by the placement provider and/or failed the placement and then the student subsequently withdraws themselves from that course prior to Census date.	\$750.00
			All Bachelor of Nursing students are provided with one opportunity to successfully complete each of their five clinical placements to attain the required minimum 800 hours placement at no extra cost. Students will not be allocated a placement if they have not met all of the required preclinical compliance requirements by the relevant deadlines, or if they have not met any theoretical pre-requisite courses for the relevant placement course.	
AF1	Library	Fine	Fine - replacement charge for lost materials	Variable
QP2	Education	Service	Replacement of current student ID card (RMIT Connect).	\$15.00
QP25	Academic Registrar's Group	Service	Graduation Ceremony/Hire of Academic Dress - Melbourne	\$250.00
QP27	Academic Registrar's Group	Service	Graduation Ceremony/Hire of Academic Dress - Melbourne Doctoral Degrees Graduation Ceremony	\$250.00
QP28	Academic Registrar's Group	Service	Graduation ceremony - Singapore	\$250.00
QP29	Academic Registrar's Group	Service	Graduation ceremony - Hong Kong	\$250.00
QP33	Academic Registrar's Group	Service	Academic Statement (Transcript, SAC, AHEGS, VE Qual/SOA) - obtain on campus in person	\$70.00
QP34	Academic Registrar's Group	Service	Academic Statement (Transcript, SAC, AHEGS, VE Qual/SOA) - regular postage within Australia	\$5.00
QP35	Academic Registrar's Group	Service	Academic Statement (Transcript, SAC, AHEGS, VE Qual/SOA) - express post within Australia	\$15.00



Fee code	College / Portfolio	Fee type	2021 fee description	2021 fee incl GST
QP36	Academic Registrar's Group	Service	Academic Statement (Transcript, SAC, AHEGS, VE Qual/SOA) - international post outside Australia	\$40.00
QP40	Academic Registrar's Group	Service	Academic Statements - complete set of digital statements	\$25.00
QP41	Academic Registrar's Group	Service	Academic Statement - transcript - hard copy	\$50.00
QP42	Academic Registrar's Group	Service	Academic Statement - AHEGS - hard copy	\$50.00
QP43	Academic Registrar's Group	Service	Academic Statement - VE Qual - hard copy	\$50.00
QP44	Academic Registrar's Group	Service	Academic Statement - SOA - hard copy	\$50.00
QP45	Academic Registrar's Group	Service	Academic Statement - SAC - hard copy	\$50.00
QP46	Global Marketing and Student Recruitment	Fine	Admin fee on withdrawal – international students. Financial disincentive to withdraw late. Fee charged is determined by transfer or withdrawal date as per refund policy. See refund rules section 11.8.	Deposit less 10%, deposit less 50% or entire deposit amount, depending on date of submission of application for refund. Note: See QP60-QP63 for Foundation Studies withdrawal charges.
QP50	Academic Registrar's Group	Service	Graduation ceremony - Kaplan	\$250.00
QP51	Academic Registrar's Group	Service	Melbourne Graduation - Late Attendance Fee	\$100.00
QP52	Academic Registrar's Group	Service	In Absentia Conferrals - Admin and postage charge - addresses within Australia	\$55.00
QP53	Academic Registrar's Group	Service	In Absentia Conferrals - Admin and postage charge - addresses outside of Australia	\$55.00
QP54	Academic Registrar's Group	Service	Testamur postage fee for students who graduate in absentia.	\$55.00
QP60	RMIT Training	Fine	Fee charged to commencing Foundation Studies (Business) students who withdraw. Fee charged is determined by transfer or withdrawal date as per refund policy. See refund rules section 11.8.	Deposit less 10%, deposit less 50% or entire deposit amount, depending on date of submission of application for refund.
QP61	RMIT Training	Fine	Fee charged to commencing Foundation Studies (Art, Design and Architecture) students who withdraw. Fee charged is determined by transfer or withdrawal date as per refund policy. See refund rules section 11.8.	Deposit less 10%, deposit less 50% or entire deposit amount, depending on date of submission of application for refund.



Fee code	College / Portfolio	Fee type	2021 fee description	2021 fee incl GST
QP62	RMIT Training	Fine	Fee charged to commencing Foundation Studies (SEH, STEM) students who withdraw. Fee charged is determined by transfer or withdrawal date as per refund policy. See refund rules section 11.8.	Deposit less 10%, deposit less 50% or entire deposit amount, depending on date of submission of application for refund.
QP63	RMIT Training	Fine	Fee charged to commencing Foundation Studies (General) students who withdraw. Fee charged is determined by transfer or withdrawal date as per refund policy. See refund rules section 11.8.	Deposit less 10%, deposit less 50% or entire deposit amount, depending on date of submission of application for refund.



